DOCUMENT RESUME

ED 052 959 SE 011 311
TITLE 4 Self-Pacing Program in Algebra, Volume 1.
INSTITUTION Baltimore County Public Schoois, Towson, Md.;

Maryland State Dept. of Education, Baltimore.
PUB DATE 70

NOTE 322p.
EDRS PRICE EDRS Price MF-30.65 HC-$513.16
DESCRIPTORS *Algebra, Curriculum Developmeat, *Curriculum

Guides, *Individualized Instruction, Individualized
Programs, *Mathematics Curriculum, Mathematics
Education, Mathematics Materials, *Secondary School
Mathematics, Teaching Guides

ABSTRACT

This self-pacing program is the result of a
cooperative curriculum development project between The Maryland
Department of Education and The Baltimore County Schools. Included is
a teachers guide for the use of the materials. The philosophy of this
approach is that of individualization of instruction wherein the
student moves at a pace commensurate with his ability and background.
He studies a topic, either individually or with a small group, then
he takes a test measuring mastery of the material. The test is marked
"complete" or "incomplete." If he "completes" the topic unit, he
proceeds to the next; if not, he does some remedial work until he
“completes™ the topic unit. It is suggested that written progress
reports be kept for each student continuously and that grades for the
course be based on number of units completed. The centent of this
course includes sets, number properties, open sentences, operations
with variable expressions, functions, and dgraphing. Also included is
an extensive itemized list of behavioral objectives for each topic,
student assignment sheets for each topic, tests and keys for each
tepic unit. (Author/CT)




A SELF-PACING PROGRAM IN ALGEBRA, VOLUME I

- A Tentative Guide - 4.S. DEPARTMENT OF HEALTH,
EDUCATION & WELFARE
OFFICE OF EDUCAFION

THIS DOCUMENT HAS BEEN REPRO-

DUCED EXACTLY AS RECEIVED FROM

THE PERSON OR ORGANIZATION ORIG-

ED052959

INATING IT. POINTS OF VIEW OR OPIN.
. IONS STATED DO NOT NECESSARILY
A Cooperative Project REPRESENT OFFICIAL OFFICE OF EDU-
of CATION POSITION OR POLICY.
The Maryland State Department of Education
and

The Baltimore County Pubhc Schools

Prepared under the direction of
Thomas JX. Rowan, State Supervisor of Mathematics

Williamn L. Gray, Acting State Supervisor of Mathematics

Vincent Brant, Mathematics Coordinater
Baltimore County Public Schools

Committee Members

Hans E. Mitchell, General Chairman

Joseph M. McShea

Eva.L. High
Robert N. Kreunen Elizabeth J. Wilson
Dorothy M. Shindle Judith Max

Beth Pearsall Ronald Medvetz

"PERMISSION T0 REPRODUCE THIS
COPYRIGHTED MATERIAL HAS BEEN GRATED

sy Benjamin P. Ebersole

_ nst, Sexrvices
-TO ERIC AND ORGANIZATIONS SPCRATING
UNDER AGREEMENTS WITH THE U.S. OFFICE OF
EDUCATION. FURTHER REPRODUCTION GUTSIDE

THE ERIC SYSTEM REGUIRES PERMISSIOK OF
Copyright 1970 THE COPYRIGHT OWNER.”

James A. Sensenbaugh -

William S. Sartorius
-Z  State Superintendent of Schools

Superintendent
Baltimore County Public Schools

f ™ Ma.ryland State Department of Education




FadAL S w - UENSELIEAIY SN USRI
Dg R
WtA e R NTENG I‘.—w "(q\.\!%‘;’&'

MARYLAND STATE DEPARTMENT OF EDUCATION

800 WYNDHURST AVENUE., BALTIMORE 21210

The Self-Pacing Program in Algebra which this letter accompanies
iz the pesult of a cooperative curriculum development project Latween
the State Department of Lducation and a local school system. We in the
State Department of Education are most anxious to encourage and support
such ventures. Cooperation in curriculum development hetween our staff
and that of a local school system, as well as cooperation bhetween local
\( schocl systems, should have the effect of multiplying our available

e resounrces.

One of the serious problems facing educators todavy is that of
rapidly increasing costs to the taxpayer. Shared efforts in curriculum
construction which hopefully minimize duplication and maximize quality,
may help to hold down these costs. At the same time, when these co-
cperative projects attain a product which encourages diversity and
creativeness rather than conformity, then resources can be made more
immediatelv available to various curriculum areas. It iz hoped that
the curriculum materials contained herein will measure up to these
poals and will serve as one more step toward full and effective pro-
¢ress in mathematics education for Maryland.

ayfate Superintendent of Schdbls

::: E MC . ’ . |

Aruitoxt provided by Eic:

TS




FOREWORD

In recent years, there has been increasing interest in the
development of mathematics programs which emphasize individualization
of instruction. This interest has been generated by a desire to provide
each student with the opportunity to use the instructional materials
best suited to his needs. Among the programs considered have been
a nurnber of efforts involving computer-assisted instruction, programed
ingtruction and self-pacing programs.

Each of the preceding programs, of necessity, requires
increased expenditures in time, personnel, materials, and money.

Of the programs considered, the self-pacing format offers increased
individualization of instruction with minimum expenditures for
specialized materials and equipment.

The Office of Mathematics of the Board of Education of

Baltimore County, in cooperation with the M.aryland State Department

of Education has developed A Self-Pacing Frogram in Algebra. It
is hoped that this program will serve as a model for future efforts
which use self-pacing techniques and offer suggestions for their
implementation. ‘

Any suggestions for improvement of this program would be
greatly appreciated. The evaluation sheet is enclosed for this
purpose.

Special thanks are offered to Mrs. Carolyn Bruder and
Mrs. Linda Tieman for their untiring efforts in typing and

reproducing this guide. |
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PHILOSOPHY

Educators agree that students learn at different rates.
Although curriculum specialists and teachers have attempted to
devise programs to meet individual needs in past years, much
work remains to achieve the goal of individualized instructicn.

There is a definite need for developing a system which
provides for individualization of instruction and greater
flexibility. Lack of differentiation in the teaching process
regults in boredom for students for whom the pace is too slow
and frustration for those students for whom the pace is too fast.
Often this leads to problems of classroom control and high
failure rates.

One approach which is attracting attention in cducational
circles is that of seli-pacing programs, wherein the sfudent
moves at a pace commensurate with his ability and background.
An example of efforts along this line is the Individually Prescribed.
Instruction program of the Oakleaf Schools in Pittsburgh. In
addition, an increasing number of textbook publishers have been
influenced by this trend. .

Preliminary returns of experimentation and pilot programs
indicate that emphasis upon student success results in a more
positive attitude by the student toward the subject, teacher, and

school environment.

iy




Suggestions for Implementation

The successful implementation of any self-pacing program in
mathematics depends upon the cooperation and teamwork of the
administration and the teaching staff.

The first administrative concern for the implementation of
a self~-pacing program of instruction is the construction of the
school master schedule. To provide the necessary flexibility for such
a program classes should be scheduled in a parallel manner whenever
possible. For example, if a school has eight algebra classes, they
might be scheduled during the same period of the day or in two blocks
of four classes.

Secondly, these classes should be located in adjacent rooms
or as near as possible to each other for greater flexibility. Ideally,
an additional room should be assigned to the teaching staff during
each period to provide extra space for small group instruction,

'independent study, student-teacher conferences, and testing.

Another feature of scheduling should be the provision of at
least one common planning period during the school day for all
teachers in the program. This provides the team with opportunities
to discuss common problems, evaluate materials, plan daily lessons,
regroup students, and develop new materials.

Because of the varied activities occurring simultaneously in
any self-pacing program, the teacher should be provided with
sufficient paraprofessional help. The possibility of assigning student
teachers from nearby colleges to each department member should
also be considered. If this is not possible, one or two student
teachers might be assigned to the entire department. These college
students could then be assigned to the teachers indicating the greatest
need on a day-by-day basis. Besides providing a service to the
teachers and students, this experience can be immensely valuable to
the professional growth of the student teacher. He will have the
opportunity to work with and observe more than one experienced
teacher, work with small groups before encountering the traditional
large class, and develop teaching skills necessary in an informal
situation. ' :




A further source of paraprofessional help consists of student
volunteers who are advanced in mathematics. Student volunteers can
be extremely useful in tutoring individuals within the classroom,
correcting tests, and performing other clerical functions.

Also, every community contains a nucleus of parents who are
eager to serve their community and schools. These people should not
be overlooked when searching for additional classroom help.

Part of the role of the teacher in the self-pacing program is
to coordinate the activities of the paraprofessional team which might
consist of a student teacher, a volunteer student, and a community
volunteer.

Class size is an important factor in the effectiveness of a
self-pacing program. Thus, the administration should make every
effort to reduce class sizes to provide for greater individualization
of instruction. Initially, a teacher might be assigned about 20 to 25
students. However, after regrouping has occurred several times,
it is possible that one teacher could have a class of 35 students, while
a second teacher has only 10.

In the ideal self-pacing program a building might be designed
to include large rooms with portable separators. Modular scheduling
with several consecutive modules of time devoted to independent study
may be a feature of the new curricula. It is hoped that the role of the
paraprofessional will be minimized in the ideal situation by assigning
several qualified teachers to zach class.

It is evident that the role of the teacher will become more
complex in the self-pacing program. Each teacher will direct the
activities of individual students in two or more groups. This means
that more than one activity in the traditional sense must be prepared.
The teacher may choose toc spend the entire period instructing one
group and providing meaningful activities for the other groups. These
latter groups can be assigned to paraprofessional aides. ‘A typical
situation might find the teacher instructing a group of 12 to 15 students
in one part of the room, a student teacher teaching a smaller group
of 5 to 7 students in another part of the room or in a different room,

vi
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and a student volunteer helping individuals in a third place. A suggested
arrangement of the room is shown below.

The physical arrangement may change from day to day depending upon the
activities planned.

'The teacher may wish to spend part of his time working with 2ach
group or with individuals. These suggestions in no way exhaust the possi-
bilities for grouping. It may be useful for special purposes to teach the
entire section as a whole. No one method should be used exclusively
taroughout the year. All of the suggested techniques should be considered
and others explored.

One of the teacher's main responsibilities is to coordinate the
activities o all groups in his class. Daily co-ferences hetween the
teacher and his team are esseatial if each group is to have the berefit
of planned ixstruction. Instead of preparing one lesson for the entire
class, the teacher is responsible for plauning material for each group
in his room. Ideally, teachers in a self-pacing program will be
provided planning periods for coordination of the team activities in
additior {o consultation with other members of the professional staff.

Continuous evaluation of student progress should be made.
Regrouping within and between classes should be done as frequently
as necessary on the basis of the evaluation. In general, no student
should be a permanent member of any single group. Individuals should
not be placed in groups on the basis of intelligence alone.

The first activity of a self-pacing program should be a diagnostic
test. The students can then be assigned to the various sections on the
basis of their backgrou'xd. Thus, all students in the program begin at
different points.
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In order to provide for maximum flexinility, at least two types
of grouping should be utilized:

a) intra-class grouping, in which students are grouped
within the same section under the same teacher.

b) inter-class grouping, in which students are re-
assigned to different sections and teachers.

An important feature of intra-class grouping is the flexihility that

it provides. In intra-class grouping, students are regrouped daily on
the basis of their immediate needs. Intra-class grouping can be
accomplished in a variety of ways.

One method provides the opportunity for some students to work
independently using student assignment sheets for direction. The
remainder of the class can be grouped on the basis of their performance
on a drili given at the beginning of the period. The drill should contain
material from the past several days' work. Students doing well on the
drill can proceed to new rnaterial while those who need additional work
can be directed to a review group. It is not necessary to record
n"grades' for these drille, since the drille should be diagnostic in
nature.

A second method of daily grouping is to divide the class into
two or more groups, depending upon their progress within a given unit.

A third method requires the student to indicate verbally the
area in which he needs help. Students having similar difficuilties can
be grouped accordingly. These possibilities are not intended to be
exhaustive.

Inter-class grouping is done less frequently. The basis of
this type of grouping is the students performance on periodic evalua-
tions by the professional staff. This evaluation is based on the
judgement of the teacher and achievement on unit tests.

The exact technique of regrouping may take several forms.
If only a few students in a given class complete the unit successfully,
they can move on to the next higher section. Conversely, if only a
few do not ccmplete the unit successfully, they may either be
re-assigned to a slower group within the class or to a slower section
conducted by a different teacher.
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The purpose of the achievement test is not to determine a
student's grade on the unit. The function of this test is to determine
whether the students' backg~ound is sufficient to insure success in
subsequent units. The levelr of acceptable performance will vary
from unit to unit depending upon the difficulty of the material and its
relevance to future concepts. Acceptablie scores should be determined
for each test by the teaching staff before it is administered. Experience
may revise the acceptance !evels either upward or downward. A
student receives either a '""complete" or "incomplete'! for the unit and
never a numerical or letter grade.

If the student receives a grade of ""complete', he moves on to
the next unit. If a student's score is 'incomplete', the teacher must
diagnose the areas of difficulty and prescribe appropriate remedial
action. The student may be instructed to restudy the entire urit or
merely one or more topics in the unit. When he shows evidence of
having completed this prescribed remedial program, he is retested.
This retesting may take several forms. The student may take a
retest on the entire unit. Therefore, several alternate forms of
2ach unit test should be available. However, a student need riot retake
the entire test. The students may be tested only on those areas in
which a lack of competence was indicated. This test may be written
or oral. If the material still is not mastered adequately, the student
is again recycled in the remedial process. A student is permitted to
progress only when he has earned the grade of '"complete'. Since it
very often happens that & student must restudy a unit several times,

a variety of materials other than the text should be available. These
should include additional texts, programmed materials, filmstrips,
listening posts and recorders, overhead projectors, and remedial
materials such as the SRA ALGEBRA KIT and MAST TEACHING.

The mobility of the students in a self-pacing program necessi-
tates a different device for recording student progress than the traditional
grade book. A more useful device is a student profile sheet where an
entire page is devoted to each student. (See Appendix I'.) When student
transfers are made, the teachers exchange student profile sheets.

The most valuable characteristic of these sheets is that they cortain
a complete record of the student's academic progress, attendance
information, term grades, anecdotal records. They provide a more
realistic basis for future placement than the traditional grade.

A sensible method of grading ina self-pacing program is to
ass1gn the h1gher gradea to those students who have ‘completed the’
greatest number of units, while lower grades would be assigned to
students completing lesser numbers of units at the end of the term.

190




The above ideas for implementation of a self-pacing program
are merely suggestive and are not intended to be mandatory or
exhaustive. Continuous evaluation and refinement of this program
can be best accomplished by the participating teachers. Your reactions
and comments will prove invaluable for subsequent revision of this
effort.

11
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... 7 BEHAVIORAL OBJECTIVES

.+ ASELF-PACING PROGRAM IN ALGEBRA




"UNIT I.  Sets, Sentences, and the Number Line

. The student should be able to:
1. identify members of a set.
2. hst the members of a set described by a rule.

3. . wrrte a rule descnbmg a set whose members -are given.

4, state. whether or not a one-to-one correspondence exists
- between two sets.

5. v»id'en‘tif'}'r' ﬂnite‘ sets, infinite sets; the null sjet.

6. 1dent1fy subsets of a gwen set.

1. list all the subsets of a given set of three or fewer members.

o 8. state that the null set is a eubset of every set and every set is
R »a subset of 1tse1£. R ~

9 1 dentlfY the symbola whlch represent the nu.ll set among
R '_‘_the followmg hst. '

o a ” '0“ ¥
- b { 0}
' c { ¢}




(€)

ERIC

Aruitoxt provided by Eic:

15.

16.

-'order of operat; 08 rules.

state that if one number is greater than a second, the former's
graph is found further to the right than the latter's on a
number. line.

compute correctly 'he value of a number phrase by using the




UNIT L.~ Variables

r.The student should be able to:

Q

ERIC

Aruitoxt provided by Eic:

'1_._

4. factor.,

L. ;.'i,‘-;‘;fwr1te 3 tn'nes a as 3a. (3)(a).. 3 a. : o

o _;_3g1ven a phrase such as 2-4?- wnte its eqtnvaient. za‘

identify (and he need not be required to wnte dehmtmns for

‘the tollowmg terms):

a. - vanable. N

Tbe replacemrent set.

. Ce constant.

. term.

e
£ 'ceeffitiient

g expon«=nt.‘ o

: h - _ base-~ o

1 .‘.v.f,power’- S o
dlstineu sn between factors and terms. '

- state the nnmber of terms m an algebram expresswn.

3

;_;}";'dmtmgu:.sh’ between (Zb) and Zb by stating to whzch q.:antlty
- the exponent refers m each case- L .

evaluate formulas by substitutxng numbers forvvanables.,'
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UNIT III.

3. ‘_ | given a statement such as 3 =

Non-negative Numbers of Arithmetic and Elementary Structure

The student should be able to: .

l. 1dent1fy the . reflexwe property of equahty. given a statement
.. suchas 5= 5,

' 2. | identify the symmetric property of equality, gwen a statement .

such as 5= 3+ 2 1mphes 3+ 2= 5,

5.2and5-2= 2+ 1 implies
3= 24+ iy 1dent1fy it as'an apphca’uon of the transitive
v'property of equahty

4. -given the f:rst two parts of the trans1t1ve property of equahty.

:.supply the’ th1rd statement.

5.. | _Ef'state whether or not a gwen set of numbers .s closed thh
R respect to. a gwen operat1on. - -

o o "gwen a number sentence 111ustratmg one ‘of the followmg

'*;propertles. 1dent1fy the. property S
;a.-, comm1 atxve property xor addxtlon or multrphcatron.
b assocxatwe propetty for add1tlon or multrphcatxon.

- c ' d1str1butive_ property for multxplicatlon over. addxtxon.

| .1dent1fy d1st: net. terms mvolving one varrable as s1m1lar

' ’vor ,not s1m11ar.

-co’mome s1m1lar terms by add1t1on a.nd subtractxon. -

_1dent1fy::the multxphcatwe property of l. 1 e. a . .1 -a for

= aforall




15. given a series of equalities of no more than four members
and a list of the names of basic properties of equality and
the non-negative numbers of arithmetic, be able to wr1te
the reason supportmg each step. :

Example. Prove 3(a +-_b) + ¢ = 3a + (c + 3b)
- Statement o R - Reason
L 3at+bitecs (32 + 3b) te L
2. (3a+3b)+c=3a+ (Bbte) 2.
3, }_”'3a + (3b+ ¢) 3a+.(¢"+,-3b)f-, o3,
4. Thus, 3@+ b)+ c= 3a+ (c+3B) 4.

17 : gwen a non-negatwe number of arxt‘:metxc, wnte its
o ’*recxprocal : ‘ -

B

B

18, state the property of multxphcatwe mverses. i.e. a and b
o .are multlphcatwe mverses 1£ and only if (a)(b)

1907 gwen a non-negatwe nvmber of ar:thmetxc, wr1te its
T multlphcatwe mver.«, -

e

state that 0 haa no multxphcatwe mverse. _

Aruitoxt provided by Eic:




. U‘:NIT 1V. Negative Numbers of Arithmetic

The student should be able to:
1. construct a number line showing the integers.

2. using the number line tell which of two rational numbers-is
. ',greater in value.

3. .arrange a set of not more than f1ve d1rected numbers in
' :ascendmg or descend1ng order.

‘,4; "translate verbal statements such as "a loss of three dollars"
L mto an algebra:c phrase using d1re-ted numbers.

. name the add1t1ve inverse of any g1ven d1rected number.
o wr1te the absolute value of any d1rected number.

5
6
7 ~add, subtract. mult:.ply. and d1v1de d1rected numbers.
3 .‘istate that a m1nus b means a plus the oppos1te of b. :
9

i'."'»_._state that d1V1$10n is. mult1p11cat1on by the reC1proca,1 of
_the. d1v1sor._ FE . _ ‘ _

lO :.'fstate the three ways in whlch the minus sign is mo st
PR commonly uSed 1n algebra. hat 1s, as:

7 a },'part of the name of some 1ntegers

?s the symbol wh1ch represents the operatmn of
‘.‘subtractmn.;. S o :

,}-‘:as a"_shorthand symbol for .the phrase "the a.dd1t1ve

Aruitoxt provided by Eic:




c

Aruitoxt provided by Eic:

'I‘JNI'I_‘ V.  Open Sentences - Equations & Inequalities

-

'Tlle student should be able to:
1.

1dent1fy

‘a.” open sentenceo '
| b 'equation. ,

c. left member.
d. :.r.light rner'nber. -
e-'_’..ﬁ. solut1on set. :

f. root.
- ge v1nequa11ty. . :
.NOTE Replacement sets should be g1ven for each

problem now and throu@out the course.

l 1ntu1t1ve1y solve S1mp1e open sentenf‘es by guessing.

. :"'test by subst1tut1on whether or not a g1ven number is the
, ““root of a gwen open sentenCe. . :

"us1ng penc11 and paper. ‘solve 11near equatmns in one unknown
S us1ng the add1t1on property of equahty '

E ‘us1ng penc11 and paper. solve 11near equat1ons in one unknown :
'_;us1ng the mu1t1p11cat10n property of equahty " :




T~
g‘{
p

“16.

using pencil, paper, and the properties of inequalities, solve
the following types of linear inequalities:

a. 5a>10 - e. T(3e+ 1) - 2e>3(2e - 1)
b. - -6]:f_ 13 f. '2" <6
c.. d+4>9 g Becar

d.. .'5(2a'.'1)"<“7-4

graph the solutxon sets of these above types of 1nequaht1es

ona number lme. :




UNIT VI. . Polynomials

The student should be able to:

) P 1dent1fy a polynom1a1 in one or two variables.
2 - name a polynom1a1 according to the aumber of terms -
~ monomial, binomial, and trinomial.
3. . name the degree of a polynomial. h
4, 'vaf-'r'anae a pdlyhorniél in oné‘vaz.'iable in order of ascending

- or descendmg powers of the variable.

- " add and subtract polynormals in both horizontal and vertlcal
o notatmn, (Rev1ew additwe inverse. of a polynomlaL)

\\

6 o ‘state the basm laws of exponentzat;on m both symbols and
words. . ‘

.__""i where m. and n are p051t1ve ’
L mtegers and m>-n.

Aruitoxt provided by Eic:




12, find the product of any two binornials without pencil
and paper.

13. . divide a polynomial of more than one term by a monomial.

14, divide a polynomial of‘mo,i'e than one term by a biromial.

‘ERIC:

PAruntext provided oy enic [l




'UNIT VIl. Special Products and factoring

3

'The student should be able to:

1.

. 2.v

.3.

distinguish between prirrie and composite numbers.

write an integer as the product of prime factors.

name the GCF of two or more integers.
express a rﬂonomial as the product of prime factors.
"name the G\,F of two or more monomxals.
i name the followmg special products.
a.  difference of two squares.
. b. pert'ect square trinomial.

' '.factor into prime factors a polynomzal involving one-step
factormg of the followmg types: . :

C A common monomzal 1actor. .
b. _ chfference of two squares. |
c. trmomzals. general case wzth mtegral coeffzczents.
'~'d. " ‘ polynormals of four terms by groupmg to reveal a

R - common bmomzal factor.

'_."i"jstate a procedure for factormg a. polynomzal into prime
"_polynomzal factors. B T :

- .:::'7""using penczl and paper. fa.ctor mto prime polynomial factors.
: ’1:_' polynonuals usmg two or more types of £actormg. '

:,-'i.state that the product o£ two or. more quantitles is zero.
i '.1f and only 1f at least one of the factors is zero. .




'UNIT VIII.

I"'ractions

The student should be able to¢

L

‘define a fraction as the indicated quotient of two integers

or polynomials.

“identify the numerator and denominator of a given fraction.

'dvetermine which value or values of the variable make the

denominator of a given fraction zero and, hence, are not
permissible replacements.

" reduce to lowest terms a fraction whose numerator and

denommator are polynormals.

compute the product of two or more fractions 1nclud1ng such

Ca ses aS.

(3x) ("“"‘:"')
a9
e 2% 4 3 . x=2

‘:'_v"‘cornpute the quotlent of two ra.*ional expressmns. :

"add and subtract two or more ratmnal express:.ons whmh
’ "-f.}“-.:-have equal denormnafors, : SR -

"fcalculate the uCM of two or more polynorma.ls.

,add and subtract two or more ratmnal expressxons whxch
?'have 'ne‘qual deno 3, . o




UNIT IX. Graphs and Sentences in Two Variables

The etudent should be able to:
1. identify:

“a. coordinate axes.
" b. origin.
‘c.  quadrant.
d.  abscissa, .or.dina.te.
‘ e.'_' ordefed pair. '
2. i :fgra.ph an ordered pa.1r in the Ca.rtesmn ole.ne.

3.0 ,;na.me the qua.dra.nt in wh1ch a pomt 11e~ glven its coordma.tes .
4. deterrnme 1f a point lies on a given a.x1s g1ven its coordma.tes.
| 5 "' ‘d'sta.te tha.t the point with coordmates (x, y) can 11e in any

o qua.dra.nt or on e1ther a.x1s. ,

‘ d1st1ngu1sh between subscr1pts a.nd exponents.

‘j "7*.._.;‘ -solve equa.t1ons of the form Ax + By + C= 0for.yin terms
C of % : : . S

8. f"determme severa.l solut1ons (ordered pa.ns) to an open
S "sentence m two va.r1ab1es. ) :

9 ::"'graph: usmg the chart method 11nea.r equa.t1ons 1n two |
S ‘va.r1a.b1es.. - _‘ e . ‘
10 v‘;jdeterrnme the x a.nd y 1ntercepts of 2 a l1nea.r edua.tmn in
o _':'f-two va.r1a.b1es by (a) graphmg. a.nd (b) subst1tutlon. ‘

:graph the "solut1oni’s>et of the spec1a.1 ca.ses (a.) x =.a a.nd




17,

18.

19,

L2l

Co22.

'_‘a‘-‘.‘,;"’:.l x>a, x> a, x<a, and x< a

state that the slope of a line is constant regardless of
the pair of points used to determine the slope.

state that a horizontal line has 0 slope and that the
vertlcal line has no slope defined.

, d1st1ngu1sh between positive and negative slopes and be

able to state their geometric.interpretations.

- plot a line given:

a. ' two points .

b. | point- slope .
'v,ck_‘,' slope-intercept.
d. | intercepts.

~plot a line given its eqtiation in:

a'.-_’ pomt slope form. ’

b - Ax + By +. 0 or general form

_ .wr1te the equatmn of a. l1ne g1ven.

‘a.  its slope and y- 1ntercept
' b . 1ts slope and the coordmates of one po1nt on the line.
'c"-,' the coordmates of two pomts on the l1ne. o

.‘graph 1nequal1t1es of the form.

b y>a.y2a, y<a, andy<a

; "'.A.x_.+. BY+ C>0, Ax+ BY+ C>O, Ax+ BY+ C<0,‘ E
v“and\"vAx + By+ C< 0 . P

'usmg the :"hart method. graph parabolas of the form -




. The Real Numbers

‘ (,'(’ - ' The student should be able to:

i, define a rational number as the quotient of two integers.

A given an integer or a decimal with one, two or threse places
of decimals, write it as a rational number.

3. writea common fraction as a decimal.
4. d_i-stinguish between a terminating and periodic decimal.
.5, _ given one of the two standard notations for periodic decimals,
. write the equwalent . '
E:cample. . .83 = .8333...
- 63631, =..53

- ’NOTE A c.lass dzscussmn on the prznc1ple that a rational
- j'number m the form‘?l ’ where P and q are re1at1ve1y prime,

) ,'v‘iezther termlnates in decimal expansion or repeats in a block
- of fewer than g dzg;ts is appropriate at th1s time. '

e, .-_determme by computatzon which of two gzven rational numbers
' is the greater in value. ' o .
7 o state the tr1chotomy pr'ncmle for rational numbers
o 8. ) 'by averagmg, determme a rat1ona1 nur-;ber between any two

L gwen ratzonal numbers

- -'.'-:’f: 'NOTE A class dzscusszon on the densxty p"operty is
- appropr1ate at th1s t1me.'_~

9. .;_"'gwen a repeatmg deczmal (nontermznatmg) of permd 1 or 2,

R

o ~_determ1ne the equwalent rat1ona1 number 1n the form

state the pr1nc1ple that a11 termmatzng dec1ma1a and 1nf1n1te
periodic: deczmals_name atzonal numbers ' S

state the def1n1tron of the:square_. cube, and fourth roots of

radicand of the rad1ca1 Rra




state the rules:

. a. ‘(\l?)z = 2,a>0

———aam e oy,

b; ( / a2 )

a, a>o0

‘use the rules developed in item 15 to simplify expressions
involving their one step application.

state the product and quotient'properties of square roots:

_"'a. -~ Na Jb = +ab , a>0and b>0

‘b;--'.i_\/a = f\/% , a>0andb>0 |
N b | .
give the square roots of monomials of the form:
o a. lOOz2 o o e, ‘922- :
. b. 49x YZ - W

'NOTE: - Restr1ct1ons on the va.r1able should not be
 emphasized at this point. The main objective is' that

. the student can apply the laws o£ square roots to simplify

.a monormal =

calculate square roots of such numbers as 57.', . 023r.and-
- .0023 by us1ng a table of roots S :

. 5d1st1ngulsn between the two meamngs of an expres sion

’containmg a radrcal s1gn. 1 e -as; ‘an: operatzon and as

S --;naming a number. S

B calculate the product of two radicals us1ng the proquct
o property for such problems as"' e ,




¢3. simplify such radicals as: s

2
a. (N3)(NBa) | .g.é-
b WEE o
l. | —— —— ¥ J-..g_a'.._
e (-2 Na ). (6 N ab ) . \/ 352
. d.- \/732 ’ . ' ) 12-—-2—
e. \/ 1-5'a2b_ , L. ’N/3x’
£ (NTaB)® m. \/“
o '1 e e ‘ Ny
g. -é-\.'_ 8a N 12a S
B | o, N 8x
b Jﬁa N

‘ H'NOTE _ The pomt is that at this level all indices should
be two, the . quantities involved should be rnonormals, and
~.only the f1rst and second degree should be employed

24. '-'>'='1dent1fy s1m1lar *erms or sxm11ar radu.t.ls in a group such as:
43 .J3 ,7\/2 N .

25 add and subtract rad1cals. | o . :

L 26, :,_"-calculate the product of bmormals wh1ch contam rad1ca1s

. 27 “.zdetermme the. conJugate of real numbers of the form
""_fg._ﬂa+«/b v a-nNb, and cx’b Sl B

3. ;f’""_ratmnal1 ie denormhators of real numbers of the form

RO o ar\/b + C\/d

;v'_-a__'vd \’ f + g '\/ h

N 1_'ad1ca1 whose radlcand can
must check 2T extraneous

and




1.

UNIT XI. Relations, Functions and Variation
The studeant should be able to:

~ distinguish between a set of elements which are not ordered

“ordered pairs.

, g1ven a finite relat1on in roster form, write its domain and
: range ' ‘

o given the graph of a relation, determine its domain and

i e.» a subset of the reals. _
' g1ven a table of values, find the graph of a relation.

: :‘~g1ven a table of values, wr1te a relat1on in ordered P ir
:_notat1on : ' - :

s ‘state tha,u a relatlon may be def1ned by a set of ordered
' _'._,_palrs, graph, formula (rule), or table of values. ' :

g1ven a tame oI values defmmg a l1near relat1on of the '
7 form’y.z mx o1 y = x+ a, find the correct formula and
nthen determme m1ss1ng values.r R :

o _v-._.:"d1st1nct fxrst rnernbers- T

”7"~"vfg1ven aj set of ord 'r_ed pa1rs,"-‘-

pa1rs and a set whose elements are ordered pairs.

list the first coordinates and second coordinates of a set of

define a relation as a set of ordered pairs.

graph a relation, given the set of ordered pairs.

range.

g1ven a rule (fo mula) graph the relat1on on a llm.ted domain,

'funct1on as a relat1on whose elements contam o

tell whether it defines a




8.

19.

206,

21,

22.
23,

24,

25,

given a direct variation defined by a table of values, write
a rule relating the domain and range, i.e., a statement of the
form y = mx.

given either a table of values or a rule defining a direct
variation, write the constant of proportionality.

identify the means and extremes of a proportion given in

- a ¢ :
the form 5° 1 or a:b= c:d.

. state the product property of proporticns.

determine whether two ratios are equal.

solve (for a variable term in) a proportion using the product |

»prOperty of proportions.

: 'given an English sentence describing a direct variation,

write a formula eorrectly describing this result.

'given a set of ordered pairs or table of values, determme
- whether this describes an inverse variation.

translate English sta.tements concerning an 1nverse variation

" into va.lid formulas. .

270
. ”variation. mverse variation, or neither.

given a set of formulas, 1dent1£y those which define a direct

L NOTE ‘ J'omt variation and combinea v'aliation'will not
i be considered ' e




STUDENT ASSIGNMENT SHEETS

- FOR

A SELF PACIN" DRO(}R.AM IN ALGEB.L\A

o VOLUME I

The previous sections on Topical Sequence and Behavioral
Objectives may be used with any modern algebra text. In
order fo> teachers-to see how this may be done, the
‘followmg section uses a typ:cal algebra text, Modern Algebra,

' _-Book I. by Dolcxam. Berman and Fre:hch as an 111ur3tratlon ‘
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. .- DIAGNOSTIC TESTS P

| A SELF-PACING PROGRAM IN ALGEBRA -




A ruiToxt provided by ERl

DIAGNCSTIC 'TEST

; DIRECTIL NS: Do not write on th1s te st booklet. Place all answers on the

answer sheet prov:.ded to you. _Do not spend too much time on any one
problem. ~

1
{2.'
3

4.

5.

TRUE or FALSE: 6§ {even numbers greater than 10}.

List all members of the set of even numbers between 1 and 11.

 Write a rule describing all members ln the set {a,e,i,0,u}.

'TRUE or FALSE: There is @ one- -to-one correspondence between the

set {l 9,11} and the set. {even numbers between 3 and 9}.

Wh1ch one of the following sets is mf:.mte? Place the letter before

- the correct answer. on your. sheet.._q_.._;, e
A {people on earth} _
. A'B'; {sand grams ona beach}

e {states in the Umon}

D {whole numbers greater tnan 101.

,-'":’:"’-Wh1ch one oi the followmg symbols repre sents the null or empty
’ _-j_".set? Place the letter of the correct a.nswer on your sheet. _ '




10, The graphs of the numbers 1, 2, =, %, and -i—are given on the number

V-

line below. | |
A. Which point is the graph of the number %?
" B. What is the coordinate of D? '
C What would be the. cobrdinate of a point halfway between. Cand E?

&8

\

'le r"p;' :
w L-u,j
N.

o
o [
[

) _.;_'“:For problems 11 through 14, 1nd1ca.te whether the questlon mark should
.. be replaced oy la) the = symbol, (b) the < symbol, or {(c) the > symbol to. .

- 'make each statement true. Place the letter of the correct answer on the = \\

'lanswer sheet,, L : : : o :

AL 716+9 7 5x5
L 21-4 : v?‘ ‘3x'§,
;154 21 ? o

‘»19 32 %4 7
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17 {All numbers betwoen O and l, including 0 and l}

A, \'.- :____,
! =T

0 -1}_"2».._3, 4
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C alculate I"”he va.lue of"each; number phra.se., P\ace
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UNIT I Sets, Sentences and the Number Line PART I .

DIRECTIONS: Do NCOT write on this test booklet. Place all answers
on the answer sheet provided to you. Do not spend too much time on any
one problem.

1.
2.
3.

S.

TRUE or FALSE: 5«{even numbers greater than 10}
List all of the members of the set of odd numbers between 5 and 13.
Write a rule describiag all the members in the set {a, e, i, ¢, u}.

TRUE or FALSE: There is a one-tc-one correspondence between
the set {1, 9, 10} and the set {odd numbers betv:sen 4 and 10}.

Which one of the following sets is infinite? Place the letter of the
correct answer on your answer sheet.

A. {atoms in the head of a pin}

B. {brilliant algebra teachers}

C. {whole numbers greater than 15}
D. {nations in the world}

Which one of the following symbols represents the null or empty set?
Place the letter of the correct answer on your answer sheet.

A. ¢
B. {9}
c. {¢}
D. 0

How many members are there in the set {all people who have eleven
heads} ?

Find all the sets in the list which are subsets of {1, 2,b,c}. Place
the letter or letters of the correct answer on your answer sheet.

A. {a, 1} | D. {v}
B. {a,c} ‘ E. ¢
c. {a.b,2} 4 F. {b1,2,¢}

Write all the subsets of the set {0, 1}.
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NAME

Sets, Sentences and the Number Line PART I
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SCORE

DATE
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1.




UNIT I

DIRECTICNS: Do NOT write on this test booklet.
on the paper provided to you.
blank of your answer sheet.

problem.

Sets, Sen‘ences and the Nuraber lLine PART II

TEST A
Do all scratch work

Place correct answer in the appropriate
Do not spend too much time on any one

Identify each of the following as an (A) equation, (B) inequality, or

(C) neither. Write the letter of the correct answer in the space provided.

1 7+5=12'

2, 8-3= 14

3, 271+ 5% 17
4, 63 + 11> 4
5. 8-6>9
6. 9+3x2
1 6+ 5<7

Write TRUE or FALSE in the appropriate space.

1. 13+ 3= 1343
2. 3+4x5 = 60
3. T412>4x245
4., 6x0<3+3

5. .5x12<15-9

.Go (,N TO 'I‘HE NEXT PAGE
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V1. Calcuiate the value of each number phrase. Place your answer on the

{A1l numbers between 0 and 4, including 0 and 4}

B0 >
0 1 2 3 4

R === >
0 1 2 3 4

Do . - .
o ——————— . >

e ——————————
0 1 2 3 4

S S— m
] ¥ A -
0 1 2 3 4

C Pom— >
0 1 2 3 4

D. . . i L
===t f—— >
0 1 2 3 4

sheet provided.

1
&%

’ 2.

3.
4.
5.

(16-10)-5

 13(1158)-3(lf-8l

16-4 + 2x4
[3-(3+2) x4
6+8 - 3x2 + 10+5




&

11I. The graphs of the numbers 0, 1, 2, 3, 3-;-, 4 are on the given number

Iv.

line below.

A D B E F C
A 4 i ) 2 L Ny
” T \ ¥ T T Vd
0 1 2 3 3l 4

2

1. Which point is the graph of the number 27

2. What is the coordinate of I'?

3. What would be the coordinate of the point halfway between A and B?
Indicate whether the ? should be replaced by (A).the symbol =, (B) the
< symbol or (C) the > symbol to make each statement true.

1. 16+4 ? 3x7

2, 21-6 ? 3x5

3. 5+13 2?20

4. 19-5? 243

. Tell which of the following graphs represents the given set.

1. {1,3,5}

‘A l 4"1'\' ¢ N i ﬂ‘ N
v ~r * % ¥ N L
0 1 2 3 4 5

P
0 1 2 3 4 5

C. . | | o
0 1 2 3 4 5
0 1 2 3 4 5

i SO S S >
s R

R T S— >
o 1 2 3

== >
o 1. 2 3




I.

II.

111

PART 1I
TEST B

Place all answers on

UNIT L Sets, Sentences and the Number Line

DIRECTICNS: Do NOT write on the test booklet.
the paper provided.

Identify each of the following as an (A) equation, (B) inequality, or
(C) neither. ‘ '

1. 746 = 13
2. 3-4=4

3. 27+6= 176
4 76496567
5. 6-4<7

6. 8+5-6

7. 9-5<5-3

Write TRUE or FALSE in the appropriate space.

1. 3+14= ]
2. - 4+5x8 = 44
3. 5+9>7+9
4, 9-6<8+4

5, . .4%x8>240

The graphs of the numbers 0, 1,23, 3%, 4 are on the given number line
below.

K L

A ~de
¥ —

D A E H

K ] i
Bl Ly A

1
O. 1 2 3 32 4

Which point is the graph of 37

N

What is the coordinate of H?

»

What is the coordinate of the point halfway between A and H?




{All numbers greater than 4}

A' & g M %
0 1 2 3 4 5

1. . - e s >
0 1 3 4 5

C' S —— s | A i m e 7
0 1 2 3 4 5

Do R W :\ S
0 1 2 5

VI, Calculate the value of each number phrasz. Place your answer on the
sheet provided.

‘1. 26-(10+4)

2. 12(11-8)-6(11-8)
3. 20-5x2+6

4, 16-4+ 2x4

5. 16+5-4x5+20%5




e e

¢

S

{ -

IV. Indicate whether the 7 should be replaced by (A) the symbol =, (B) the
< symbol, or (C) the > symbol.

1. 1744 ? 3x5
2. 29-0 ? 5+7,
3. 6+6 ? 3x4
4. 16-5 ? 2+3
V4. Tell which of the following graphs represent the given set.
1. {2, 4}
A,

2. {All numbers between 3 and 5}

A > S -
‘ 3 4 5

L=
-
[\3]
w
[N
(4]

0 1 2 3 4 5

3. {All numbers between 4 and 6 including 4 and 6}

,__4; v e -, - b=

4
N
w
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UNIT I Sete, Sentences and the Number Line
NAME SECTION
TEACHER DATE
SCORE PERIOD
Io - 10 VII- 1.

2, 2.

3. 3.

4. 4.

5' 5'

6.

» 7'

II. . .‘ 1.

z'

PARTII A B C D J

h
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Unit II : VARIABLES Test A

DIRECTICNS: Do not write on this test booklet. Do all scratch work on
the paper provided to you. Place the correct answer in the appropriate
blank of your answer sheet. Do not spend too much time on any one problem.

Choose a word from the following list that correctly completes each numbered
blank in the paragraph. Write the letter of the correct answer on the answer
sheet.

A. CONSTANT B. BASE C. PCWER D. REPLACEMENT SET
E. TERM . F. VARIABLE G. EXPONENT H. COEFFICIENT
I. FACTOCR

Let A = {l, 2, 3, 4} and consider the expression xz. If x can be replaced
only with numerals of set A, A is called the (1) - of x.
Since x is a symbol which is to be replaced with the names of numbers, .x

" is called a (n) (2) . In the expression x , x is called the

(3) N and 2 is called the (4) . In the
expression 32y, 32 is called the (5) of y°. 32isalso
called a (n) (6) of the entire expression. In the expression
10x + y, 10x and y are called (7) of the expression.

8. The ekpression 15x2y + "3xy2 + 7x - 2y aas how many terms?
‘9.~ The expression (a-b)(a+b)(b-a) has how many factors?

l(_)- Which expression in the following list is equivalent to %a ?

A, 2— C. Neither Aor B
4a ,
B. % : D. Both A and B

11. Which expression in the following list is equivalent to 3 times a ?

A, 3a
B. 3-a
C. (3)@a)

D. None of the above
E. A, BandC

B-11




12.
13.

14.
15.
16.

If b= 3, the value of 2b2 is what?
If b= 3, the value of (lea)2 is what?

If a= 1, b=2, and c=3, evaluate each of the expressions from
number 14 to number 16. C

3a + b2
2
(32 + b)
(c + 2)(c + 2b2)

Write YES or NO to indicate whether or not the expression on the left is
a correct translation of the English phrase on the right in problems 17

to 23.
17. n+ 4 a number increased by 4
18, 2 -8 : a number diminished by 8
- 19. 5b | 5 more than a number
20. % C one -thirci of a number
21, 2t -1 one less. than twice a number
22. 5(w. + 2) ' 2 more than five times a nﬁmber
23, 2-b ’ 2 less than some number

Write an algebraic expression for each English expression in problems
24 through 32. Use the variable suggested.

24.

25.

26.
27.

28,

29.
30.

3],
32,

the sum of x and 5

7 less than a

5 diminished by n

7 times c

the sum of 6 and two times d
2 iess than three times f |
5 times the éum of m and 2
‘2 times w is greater than 3

A number x increased by 7 is 15,




{‘ Write as a power
- 33, bbb
34, 2: 2022
35, (6aj)(6a)
36. COMPLETION: The value of 0 to any positive power is .
37. COMPLETICN: The value of 1 to any positive power is .
Pérform the indicated operations in problems 38 - 42.

38. 42 =
39. 2° =
40. (4a)(2a) =

| 4. (32)° =

42. (9x)° =

e

{

|

i

fy




Unit II VARIABLES Test B

DIRECTIONS: Do not write on this test booklet. Do all scratch work on
the paper provided to you. Place the correct answer in the appropriate
blank on your answer sheet. Do not spend too much time on any one problem.

Chuose a word from the following list that correctly completes each numbered
blank in the paragraph. Write the letter of the correct answer on the answer

sheet. '
A. CONSTANT B. BASE C. POWER D. REPLACEMENT SET
E. TERM F. VARIABLE G. EXPONENT H. COEFFICIENT

I. FACTOR

Let A = {3,5,6,7,} and consider the expression x3. If x can be replaced

- with only numerals of the set A, A is called the {1) of x.
Since x is a symbol which is to be replaced with the names of numbers, x
is called a (n) o (2) . . In the expression x~, » is called the
(3) and J is called the (4) . In the expression
" 1by4, 16 is called (5) of yé. 16 is also called 2 (n)
”?’ ' (6) of the entire expression. In the expression 10y+x, 10y
M and x are called - (7) " of the expression.

8. The expréssion 7x2y+ 5xy2-+ 3x+y has how many terms?
9 The expression (x-y)(x+y)(y-x) has how many factors?

10. ° Which expression‘ in the following list is equivaleht to 2a‘?

5
A. El C. Neither Aor B
5a
" B. -3—53 D. Both A and B

11, Which expression in the following list is equivalent to 4 times a ?

A, 4a
B. (4)(a)
C. 4a

"D. Al of the ahove

12. If b=2, the value of 4b° is what?
13. If b=2, the value of (4b)2_'is what?

‘If a=2, b=1 and c=3, evaluate each of the expressions in problems 14- 16.

99
B-14




14.  2a+b°
15. (2a+b)2
16.  (b+2)(b+c?)

'~ Write YES or NO to indicate whether or not the expression on the left is a
correct translation of the English phrase on the right in problems 17-23.

17. n+t+2 a number increased by 2

18. a+8 ' a number diminished by 8

19. b 7 more than a number

20. E | . one-fourth of a number

2. 2y-1 ' one less than twice a number

22. 3{w+2) two more than three times 5 number
23. 7-b ’ 7 less than some number

Write an algebraic expression for each English' expression in problems 24-
32. Use the variable suggested.

24. the sum of x and 9

25. 12 less than a

26. 11 diminished by n

27. 8 times c

28. the sum of 5 and thre'e times d

29. 1 moré than three times {

30. 4 times the sum of hand 3 -

31. 3 times w is less than 2

- 32. a namber y decreased by 10 is 26.
| Write as a‘»Power ’
33, bbb L - E : | ?
34, 22022

35, (6a)(6a) . :
36. 'C OMPLETICON: The value of 0 to any positive power is

37. COMPLETION: The value of 1 to any positive power is _ )

'B-15
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Perform the indicated operations in problems 38-42.

38.

39.
40.
41.
42.

(4a)(2a) =
(3a)° =

(9x)2 = o




UNIT II VARIABLES TEST C

DIRECTICNS: Do not write on this test booklet. Do all scratch work on the
paper provided to you. Place the correct answer in the appropriate blank of
your answer sheet. Do not spend too much time on any one problem.

Cn your answer sheet write the letter of the word which correctly completes
each sentence of the paragraph.

A. COCNSTANT B. BASE C. POWER D. REPLACEMENT GET
E. TERMN F. VARIABLE G. EXPONENT H. CCEFFICIENT
L FACTCR

Let A = {2,4,5,3} and consider the expression yz. If y can be replaced

only with the numerals of set A, A is called the (1) of y.
Since y is a symbol which is to be replaced with the names of numbers, y is
called a (n) (2) . In the expression yz, y is called the
' (3) and 2 is called the (4) . In the expression
20y2, 20 is called the (5) of yz. 20 is also called a (n)
(6) of the entire expression. In the expression 3x+y, 3x
and y are called (7) of the expression.

8. The expreséion 10x2y + nyz - 6x has how many terms?
9. The expression (b-a)(a+b) (a-b)c has how many factors?
10. Which expression in the following is equivaient to 'éZ'R ?

2

3_1’:— -C. Neither Aor B

A.
2R
3
11, - Which expression in the following list is equivalent to five times w.

B. D. Both A and B

A. 5w
B. 5w
C. (5)(w)

D. None of the above
E. A, BandC

BT




12,

13.

14.
15,
16.

If b= 2, the value of 5b° is what?
If b= 2, the value of (5b)2 is what?
If a= 1, b=2, and ¢=3, evaluate each of the expressions from number
14-16. |

4a + b2

(3a+ Zb)2

(c+ 3)(2b2+ c)

Write YES or NO to indicate whether or not the expressicn on the left is a
correct translation of the phrase on the vight in problems 17-23.

17.

- 18.

19.
20.
21,
22.
23.

y+ 6 a number increased by 6

% one -half of a number

ix-1 one less than twice a number
B-4 a numbebr diminished by 4
5(x+3) 3 more than five times a number
Z2-R : 2 less than some number

ICN 10 more than a number

Write an algebraic express for each English expression in problems 24
through 32. Use the variable suggested.

the sum of x and 2

5 less than N

2 diminished by x

17 times b

the sum of 4 and three times v
1 less than two times S

3 times the sum of a and 5

2 times N is greater than 5

ﬁa' number c increased by 5 is 15




i &

— Write as a power.

33, xxx

34, 3:3-3:3.3

35. (5b)(5b)

36, COMPLETICN: The value of 0 to any positive power is
37. COMPLETION: The value of 1 to any positive power is

Perform the indicated operations in problems 38-42.

3g. 3%=

39, 2° =

40.  (3b)(db) =
41.  (2b)%=
42. (5y)3 =

{yey
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Unit II VARIABLES Test D

DIRECTIONS: Do not write on this test booklet. Do all scratch work on the
paper provided to you. Place the correct answer in the appropriate blank
on your answer sheet. Do not spend too much time on any one problem.

Choose a word from the following list that correctly completes each numbered
blank in the paragraph. Write the letter of the correct answer on the

answer sheet.

A. CONSTANT B. PCWER C. TERM D. FACTOR

E. EXPONENT F. COEFFICIENT G. VARIABLE H. BASE

I. REPLACEMENT SET

Let A = {1,2, 4,5} and consider the expression yz. if y can be replaced

with only numerals of the set A, A is called the (1) of y. Since
y is a symbol which is to be replaced with the names of numbers, y is called
a (n) (2) . In the expressiony , y is called the (3)
and 2 is called the (4) . In the expression 14y, 14 is called
the (5) of y4 14 is also called a (n) (6) of the
entire expression. In the expression l4y+2x, l4y and 2x are calied

(7) of the expression. ’

8. The expression 4x2y+ 2xy2+ 3x+y has how many terms?
9. The expression (x-4)(4-x)(4+x) has how many factors?

10. Which expression in the following list is equivalent to -g-a?

A, -2-31 C. Neither Aor B
B. 2

Py D. Both A and B
3a . :

11. - Which expression in the following list is equivalent to 6 times b?

A, 6db
B. 6'b
C. (6)(b)

D. None of the above

E. A, Band C

B-20
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12, 1f b=2, the value of 3b2 is what?
13, If b= 2, the value of (Z‘!b)2 is what?

If a=1, b=2, and c=3, evaluate each of the expressions in problems
14-16.
2
14, 2a+b
15, (2a+3b)°
16.  (cZ+b)(2+a)

Write YES or NO to indicate whether or not the expression on the left is a
correct translation of the English phrase on the right in problems 17-23.

17, y+ 3 , a number increased by 3
18. 6b 6 more than a number
-19. ';_’5 one -fifth of a number
20 y+5 , a number diminished by 5
21, 3y-1 one more than three times a number
( 22, 6(wt5) : | six more than a number increased by 5
| 23. 6-y y less than 6

Write an algebraic expression for each English expression in problems
24-32. . .

24. the sum of y and 6

25. 8 less thanm

‘26. 12 decreased by y

? ~27. 7timesd

23. the sum of 4 and seven times x
29. 1 less than three times y

30. 7 times the sum of h and 4

31. 4 times v is greater than 6

-32. a number m increased by 21 is 43




Write as a power.

33.
34.
35.
36.
37.

b bbb

4 4- 4

(72)(7a)
COMPLETICN:
COMPLETION:

The value of 1 to any positive power is

The value of 0 to any positive power is

Perform the indicated cperations in problems 38-42.

38.
39.
40.
41.

42.

(4a)(3a) =
(Za)3 =

(1x)° =




20'
21'

A BCD

UNIT 1I Variables
NAME SECTION
TEACHER DATE
SCORE PERIOD
1. 28.
2. 29.
. ~ 30.
4. 31.
. 32.
6. 33.
T 34,
8. 35.
9. 36.
10. 37.
1. 38.
12. 39,
13. 40.
14. 41,
15. 42,
16.
17.
18.
19.




Unit 1II . Non-Negative Numbers of Arithmetic Test A
DIRECTICNS: Do not write on this test booklet. Place all answers on the
answer sheet. Do all scratch work on the paper provided to you. Do not
spend too much time on any one problem.

COMPLETION:

1. The additive identity element is .

2. The multiplicative identity element is .

3. By the transitive property of equality, if b=a+2 and a+2=R, then

4, has no reciprocal.

5. I x is the multiplicative inverse of y, then (x)(y) = .

In prcblems 6-11, write the answers for each problem. If the group
of symbols has no meaning, write "no meaning" on the sheet.

6.  (16)(1)
7. 15-0
6

3. 3

0
-
7

10. o
0
1. g

Simplify the following expressions.

12.  2(3y)

.
13.  ~(12RS)
14.  (4x)(3y)

In problems 15-17, tell whether the statement is TRUE or FALSE.
15. {0,1} is closed under the operation of addition.
16. {0, 1} is closed under the operation of multiplication.

17. The set of odd numbers is closed under the operation of multiplicatica.

B-24
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In problems 18-22, write the letter of the property which is illustrated by
the example below.

18.
19.
20.
21.
22.

A. Reflexive Property of Equality

B. Symmetric Property of Equality
C. Transitive Property of Equality
D. None of these

If 3= 9-1, then 9-1 = 8.

4(3-2) = (4 3)2

5=5

If 4-1 = 3 and 3 = 2+ 1, then 4-1= 2+1
If 442 = 6, then 6 = 4+2

In problems 23-27, write the lettexr af the property which is illustrated by
the example below.

23.
24.
25.

26.
27.

A. Commutative Property of Addition

B. Associative Property of Addition

C. Commutative Property of Multiplication

D. Associative Property of Multiplication .

E. Distributive Property of Multiplication over Addition
5(3+2) = 5.3 + 52 |

749 = 947

3(2n) = (3: 2)n, for all numbers n

54+(4+1) = (5+4)+1 |

34 (247) = (2+7)+3

In problems 28-32, write the letter of the property which is illustrated by
the example below

23,

29.
30.
31,
32.

A, Addiﬁive Property of Zero

B. Multiplicative Property of Zero -
C. Multiplicative Pi;ope rtsr of One

D. None of these |

5:0= 0

(9-3)40= 9:3

1241 = 13

16-1= 16 < ' .
| 101
0-14 = 14




- v

- 33,

34.
35.
36.

Write the reciprocal of:

3
3
2
1

Which term is similar to 6a? Write the letter of the correct answer
on the answer sheet.

A, 6ab
B. 4a
C. 6b
D. 6

E. None of these

In problems 37-40 combine by adding or subtracting similar terms.

37.
33.
- 39.

(- 40.

5a+7a
12q-4q9+11
22v+ 9w-10v
2(R+S)+4R-1

B-26

102




% i
&0
~—

Unit 111 Non-Negative Numbers of Arithmetic Test B

DIRECTICNS: Do not write on this test booklet. Place all answers on the
answer sheet. Do all scratch work on the paper provided to you. Do nov
spend too much time on any one problem.

COMPLETION:

1. The multiplicative identity element is

2. has no reciprocal.

3. The additive identity element is .

4. If x is the multiplicative inverse of a, then (x)(a) = .

5. By the transitive pioperty of equality, if B=a+2 and a+2 = D, then

.

In problems 6-11, write the answers for each problem. If the group of
symbols has no meaning, write "no meaning" on the sheet.

6.

1.

8.
9.

10.

11.

6)(1)

o=~ Wjo =i~

e~
o

ol

Simplify the following expressions.

12.

i3.

14.

9(4a,)>
Las
3,( xy)

(7x)(9y)

In problems 15-17, tell whether the statement is TRUE or FALSE.

15.

16.
17.

Ho, l} is closed under the operation of multiplication.
{0, 1} is closed under the operation of addition. |

The set of odd numbers is closed under the operation of addition.

' B-27
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, In problems 18-22, write the letter of the property which is illustrated by

18.
19.
20.
21.
22.

the example below.

A. Reflexive Property of Equality

B. Symmetric Property of Equality

C. Transitive Property of Equality

D. None of these

If 4-1= 3 and 3 = 241, then 4-1 = 2+1.
f7=5+2, then 5+2= 7

6(3-5) = (6-3)5

If 6+2 =93, then 8 = 6+2

7=1

In problems 23-27, write the letter of the property which is illustrated by
the example below.

n

23.

25.

A. Commutative Property of Addition

B. Associative Property of Addition

C. Commutative Property of Multiplication

D. Associative Property of Multiplication

E. Distributive Property of Multiplication over Addition
742 = 247 '

6+ (3+5) = (6+3)+5

9+12:3) = (223)+9

3(6+1) = 36 + 3°1

4(3-n) = (4-3)n

In problems 28-32, write the letter of the property which is 1llustrated by
the example below.

A, Additive Property of Zero

'B. Multiplicative Property of Zero

C. Multiplicative Property of Cne

D. None of these

B-28
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-y

-k

28.
29.
30.
31.
32.

17
16

17-1
0+ 16
15+1 = 16

(8. 2)+0 = 8:2
40=0

Write the reciprocal oft

33.

34,
35.

36.

1

9
1

Which term is similar to 5b? Write the letter of the correct answer
on the answer sheet.

A. b5ab
B. b5a
C. 5
D. 4b

E. None of these

In problems 37-40, combine by adding or subtracting similar terms.

37.
38.
39.
40.

9b+ 6b
4q+7q+ 12
36a+7b-20a
6(a+b)+3b-4




Unit III Non-Negative Numbers of Arithmetic Test C

o—-“-.:«é
o

- DIRECTIONS: Do not write on this test booklet. FPlace all answers on the
answer sheet provided to you. Do all scrap work on the paper provided to
you for this purpose. Do not spend too much time on 2ny one problem.

COMPLETION:
1. The additive identity element is

2. The multiplicative identity element is .

3. By the transitive property of equality, if a=b+3 and b+3=Q, then
4. has no reciprocal.
5. If a is the multiplicative inverse of b, then ab = .

Write the answers for each problem in arithmetic. If the group of symbols
has no meaning, write "no meaning” on the sheet.

6. (1)(20) =
7. 49-0=
N
- 9. % =
0. -
11. ‘% =

Simplify the following expressions.
12. 3(4w)
13. 2 (24ms)
14.  (7x)(%y) |
15. TRUE or FALSE: The sét {0, 1} is closed under the operation of

multiplication.
16. TRUE or FALSE The set {0, 1} is closed under the operatlon of
addition.
17. TRUE or FALSE: The set of even numbers is closed under the
T operation of multiplication. .




R

{M\;

In problems 18-22, write the letter of the property which is illustrated by
the example below.

18.
19.
20.
21,
22.

A. Reflexive Property of Equality

B. Symmetric Property of Equality
C. Transitive Property of Equality
D. None of the se '

If7= 8- 1 then 8-1=17

15= 15 |

If 6-2 = 4and 4 = 3+1, then 6-2= 3+1
5(3-2) = {5+ 3)2

If 3+ 2= 5 then 5 = 3+2

In problems 23-27, write the letter of the property which is illustrated by
the cxample below.

23,
24.
25,
26.

-
o o

A. Commutative Property of Addition

B. Comrnutafive Property of Multiplication

C. Associative Property of Addition

D. Associative Property of Multiplication

E. Distributive Property of Multiplication over Addition
749 = 9+7 o

3(2n) = (3- 2)n for all numbers n.

5(3+42) = 5-3 + 5.2

34(2+7) = (2+7)+3

5+(441) = (5+4)+1

In problems 28- 32. write the letter of the property which is 111ustrated by
the example below.

23
29.
30
31.
32.

A. Aadditive Property of Zero .
B. Multiplicative Property of Zero
C. Multiplicative Property of One

‘D. None of these

0-14 = 14

1241 = 13

5-0= 0

(9-3)+0 = 9-3 107
16:1 = 16




Write the reciprocal of:

33, =

34. 6

36. Which is similar to 7b:
A. 7
B. 4c
C. 6bc
D. 4b
E. None of these
Combine by adding or similar terms.
37. 3a + 7a
33. 10w-6w+12
39. 23q+S8r-5r
40. 3(r+s)+4r-1

B-32
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Unit III Non-Negative Numbers of Arithmetic Test D

DIRECTIONS: Do not write on this test booklet. Place all answers on the
answer sheet. Do all scratch work on the paper provided to you. Do not
spend too much time on any one problem.

COMPLETION:

1. By the transitive property of equality, if N=a-3 and a-3=B, then

2. The additive identity element is .
3. The multiplicative identity element is .
4. If x is the multiplicative inverse of y, then (x)(y) =

5. has no reciprocal.

In problems 6-11, write the answers for each problem.' If the group of
symbols has no meaning, write "no meaning" on the sheet.

6. 15.1

7.

11.

b
wjo olo o oo m=|tn
’ =)

Simplify the following expressions.

12. 5(3a)

1
13. -g (20xy)
14. (3x)(5y)

In problems 15-17, tell whether the statement is TRUE or FALSE.
15. The set of odd numbers is closed under the operation of multiplication.
16. {0, 1} is closed under the operation of addition.

17. {01} is closed under the operation of multiplication.

B-33
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In problems 18-22, write the letter of the property which is illustrated by
the example below.

18,
19.
20.
21.
22.

In problems 23-27, write the letter of the property which is illustrated by
the example below.

23.
24,
25.
26.
27.

In’problefns 28-32, write the letter of the property which is illustrated by
the example below. '

28.
29.

31

A. Reflexive Property of Equality
B. Symmetric Property of Equality
C. Transitive Property of Equality
D. None of these

5(3.4) = (5 3)4:
7=17
If7+3 =10, then 10 = 7+3

If5+42=-7and 7 = 6+1, then 5+2 = 6+1
9+3 = 9+3

A. Commutative Property of Addition

B. Associative Property of Addition’ -
C. Commutative Property of Multiplication

D. Associative FProperty of Multiplication

E. Distributive Froperty of Multiplication over Addition
5+(3+2) = (5+3)+2 "

3+3 = 3+93

6:(3.5) = (6-3)5

4(6+2) = 46 + 42

3.5 = 53

A. Additive Proberty of Zero

B. DMultiplicative Property of Zero
C. Multipliéative Pro}perty of One
D. None of these .

7-0=0

30 =38
17-1 = 17

13-3 = 15 |
(5- 6)+0 = 5-6 110




&

Write the reciprocal of:

33. 1
34, 6

7
35. 3

36. Which term is similar to 4c? Write the letter of the correct answer
on the answer sheet.

A, 4b
B. 4
C. 6c

D. 4ac
E. | None of these
In problems 37-40, combine by adding or subtracting similar terms.
37. 8a + 9a
38. 6a + 4a-5
39. 12a - 6b + 4a -
40. 6(x+y) - 3y +4




Non-Negative Numbers of Arithmetic
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Unit IV The Negative Numbers Part I
Test A

DIRECTICNS: Do not write on this test booklet. Work carefully, but do
not spend too much time on any one problem. Place the answer in the
appropriate space of the answer sheet provided to you.

‘State which number in each pair is the greater for numbers 1 to 5.

1. 5] "9

2. "4. -3
3. '-220) 0
3 7
4. 4’ 8
1 1
> 3 g

6. TRUE or FALSE: All numbers are positive or negative.

Refer to the following number line for problems 7 to 9.

G F E D 0 I A B C

-~ — . b b - > S - .
\ v v g - = /

4 -3 -2 -1 0 1 2 3 4

7.  Which point would be associated with a loss of three dollars?

3. Which point would be associated with a gain of two yards?

9. Which point would be associated with a temperature of one degrce
below zero?

10. COMPLETION: To subtractb from a, we the
additive inverse of b to a. :

11. TRUE or FALSE: Subtraction is a commutative operation.

12, COMPLETIQN: To divide a by b, we multiply a by the of b.
13. COMPLETION: To say that n<0 for some number n is the same as saying
that nis a (positive, negative) number.

Write the additive inverse of each number in problems 14 through 17.
- 14. 9
15, -4




l.-;.

19.
20.
21.
22.

‘In problems 23 to 39, perform the indicated operation and write the answer

to
23.
24.

31.
32.

33.

34. -

35.
36.
31.
38.
39.

COMPLETION: When two numbers that are additive inverses are

added, the sum is always

COMPLETION: The absolute value of +20 is

TRUE or FALSE: |-3| =] 3|

each on the answer sheet.

(+15) + (+17) =

(+8) + (-4) =

(+16) + (-23)

(-17) + (+9)

(-54) + (-19) =

(-20) + (+29) =

(+9) (+4) =

(-4) (-7) =

(-17) (+3) =

{(+16)= (+4) = _

(-32)= (-16) =

(-100)= (+25) =

(+25)+ (-5) =

(+23) + (-17) + (=30) + (+6)
(+18) - (+10)
(-10) - (+10)
(+31) - (-41)

B-38
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Unit IV The Negative Numbers Part I
Test B

DIRECTION: Do not write on the test booklet. Work carefully, but do not
spend too much time on any one problem. Place the answer in the
appropriate space on the sheet provided to you.

State which number in each pair is the greater for numbers 1 to 5.

1. 4, -1
2.. =1, -6
3. -167, O
5 2
4 %3
1 1
5. 3+ "3

6. TRUE or FALSE: All numbers are positive or negative.

Refer to the following number line for problems 7-9. \

H G F E D o I A B C

7. Which point would be associated with a gain of three dollars?
3. Which point would be associated with a loss of two yards?

9. Which point would be associated with a temperature of 4 degrees
above zero?:

10. TRUE or FALSE: To subtractb from a, we subtract the additive
inverse of b from a.

11. TRUE or FALSE: Subtraction is a commutative operation.

12. COMPLETION: To divide b by a, we muitiply b by the
of a.

‘13, COMPLETION: To say that n>0 for some aumber n is the same as
saying that n is a (positive, negative) number.

Write the additive inverse of each number in problems 14 through 19.

14. 7
15, -3




16,

17.
18.

19.
20.
21,
Ze.

In problems 23 to 39, perform the indicated operation and write the answer

2
3

0

TRUE or FALSE: When two numbers that are additive inverses are

added the sum is always zero.

COMPLETICN: The absolute value of + 16 is

) -
[o]=
TRUE or FALSE: |5 | =

on the answer sheet.

23.
24.
25,
26.
21.
28.
29.
30.
31.
3e.
33.
34,
35.
36.
317.
38.
39.

(+14) + (+19)
(+7) + (-3)
(-16) + (+10)
(+12) + (-13)
(-63) + (-17)
(-4) + (+17)
(+8) (+3)

(-5) (+6)
(-17)(+ 4)
(+13)= (+2)
(-20)+ (-5)
(-250)= (+125)
(+36)F (-6)
(+6) + (-7) + (-9 + (+4)
(+21) - (+4)
(-6) - (+6) -

(17) - (-15)

|-51

B-40




1'
2.
3'

4.

5.

:;ﬂ.n,‘\
\

10.

11.
12.

13.

15.

Unit 1V The Negative Numbers Part I

DIRECTION: Do not write on the test booklet. Work carefully, but do not
pomae spend too much time on any one problem. Place the answer in the appropriate
space on the sheet provided to you.

State which number in each pair is the greater for numbers 1 to 5.

' Write the additive inverse of each number in problems 14 through 17.

14..

Test C

3, -7

-6, -2

-100, 0
3

'3

1 1

3’ 3
TRUE or FALSE: All numbers are positive or negative.

-

Refer to the fouowing. number line for problems 7 to 9.

H G F E O J A B C D

4

¥

el i > Py e &, A, —_— o .
< -

& » L —~— \ 4

-5 -4 -3 -2 -1 0 1 2 3 4 5

Which point would be associated with a loss of five dollars ?
Which point would be associated with a'gain of one yard?

Which point would be associated with a temperature of two degrees
below zero?

COMPLETION: To subtract a from b, we the additive
inverse of a to b.

TRUE or FALSE: Subtraction is a commutative operation.

COMPLETION: To divide a by b, we multiply a by the

of b.
COMPLETION: To say that x<0 for some number x is the same as saying
that x is (positive, negative) number.

3
-7

1
3




185, COMPLETICNN: When two numbers that are additive inverses are

added, the sum is always .
19. COMPLETION: The absolute value of +31 is .
20. | -9l =
21. , 0=

22. TRUEor FALSE: |-11| = |11

In problems 23 to 35, perforin the indicated operation and write the answer
to each on the answer sheet.

23, (+12) 4+ (+19) =

24, (+10) + {-3) =

S | 25. (+18) + (-21)
26, (-18) + (+9)
27,  (-72) + (-17) =

23.  (~30) + (+39) =
29. (+15) (+3) =
30. (-3) (-7) =
s 31, (-17) (+2) =

32, (+15)% (+3)=

33,. (-30)% (-15) =

34, (-125) % (+25) =

35, i+35)% (-7) =

36, (+23) + (-17) + (-20) + (+5) =
37. (+18) - (+6) =
33, (-10) - (+9) =
39. (+50) - (-40) =




i" Unit [V The Negative Nnmbers Part I
Test D

DIRECTION: Do not write on the test booklet. Work carefully, but do not
spend too much time on any one problem. Place the answer in the appropriate
space on the sheet provided to you.

State which number in each pair is the greater for numbers 1 to 5.

1. 6, -3
2. -2, -4
3. -160, 0
4 2
4. 5'3
1 1
50 5 » -5

6. TRUE or FALSE: All numbers are positive or negative.

Refer to the following number line for problems 7 to 9.

)

¢ f* 1 B E J D C H
0

7. Which point would be associated with a loss of four dollars?
3. Which point would be associated with a gain of two yards?

9. Which point would be associated with a temperature of 2 degrees
below zero?

10, TRUE or FALSE: ZSubtraction is comrautative.

11. COMPLETICN. To say N<0 for some number N is the same as saying

that Nis a (positive, negative) numbex.
12. COMPLETICON: To divide b by a, we inultiply by the of a.
13, TRUE or FALSE: To subtract b from a, we add the additive inverse of
of b .to a. : :

‘Write the acditive inverse of each number in prchlems 14 through 17.

14, 6




18.

19.
20.
21.
22.

In problems 23 to 36, perform the indicated operation and write the answer

TRUE or FALSE: When two numbers that are additive inverses are

added, the sum is always zero.

COMPLETICN: The absolute value of +17 is

| -4-
[ ol

TRUE or FALSE: | 4| = [-4|

on the answer sheet.

23.
24.
25.
26.
27.
28.
29.
.30.
31
3a.
33.
34.
35.
36.
37.

(+7) + (+16)
(+4) + (-2)
(-14) + (+7)
(+11) + (~13)
(-42) + (-16)
(-3) + (+14)
(+9) (+4)
(-6) (+4)
(-15) (+3)
(+20)+ (+4)
{(-15)< (-5)
(-75)+ (+25)
(+42)+ (-6)
(+4) + (-3) + (+5) + (-9)
(+6) ~ (+3)
(-15) - (+7)
(+21) - (-6)

B-44
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UNIT LV The Negative Numbers PARTI A B C D
NAME SECTION
TEACHER DATE
SCORE PERICD
1. 26.

2. 21.

3. 28.

4. 29.

5. 30.

6. 31

7. 32.

8. 33.

9. 34.

10. 35.

11. 36,

12. 37.

13. 38.

14. 39.

"15.

16.

17.

13.

19.

20.

21.

22.

23.

24.




14, 3x - (-2x) =

UNIT 1V The Negative Numbers PART II
TEST A

DIRECTICNS: Do not write on the test booklet. Place the correct answer
on the sheet provided.

Write the reciprocal of each number in problems 1-4.

1. 1
2. -4
12
3. 5
5
4. p

5. COMPLETION: Ifb is the multiplicative inverse of a, then
(a)b) = .

6. COMPLETION: has no multiplicative inverse.

Place "positive” or "regative"” in the appropriate space. (7-8)
The value of any even power of a negative number is a (7)
number, while the value of any odd power of a (8)

number is a negative number.

Perform the indicated operations in problems 9-11.
9. (~5x) (3y) = |
10. (-2a)° =
11, (-22'.)2 =

12. TRUE or FALSE: The set of negative integers {... -3, -2, -1} is closed
under multiplication.

13. TRUE or FALSE: The set of negative integers {... -3, -2, -1} is closed
under addition. :

15. by + 8y - 24y =

16. ADD: 6x - 2y - 3z
cx+ 2y + 4z

17, 3x - (2x-y) =
13. (5a+2b) + (7Ta-3b) =
19, (bx-y) -3 (2x+y) =
20, EVALUATE: Ifa= -2, b= -3, and c = -1, then 2a-3b+c =

s
7

B-46
D




10. (-3a,)2 =

14, 4x - (-3x) =

UNIT IV The Negative Numbers PART II
TIEST B

'DIRECTIONS: Do not write on this test booklet. Place the correct answer
on the sheet provided.

Write the reciprocal of each number in probleras 1-4,

1

1. 7
20 "8

4

»3- 3

4. 1

5. COMPLETION: Ifb is the multiplicative inverse of a, then
(@)(b) = .

6. COMPLETION: has no multiplicative inverse.

Place "even" or "odd" in the appropriate space on your answer sheet. (7-8)

Any 2; power of a negative number is a negative,
while any (8) power of a negative number is a positive
number.

Perform: the indicated operation in problems 9-11.

9. (-35)(7y) =

i2. TRUE or FALSE: The set of negative integers {... -3, -2, -1} is closed
under multiplication.

13. TRUE or FALSE. The set of negative integers {... -3, -2, -1} is closed
under addition.

15. 7y + 9y - 28y =
16. ADD:  5x-2y-4z

3%t 2y+52
17, 3x - (5x-2y) =
18. (4a+9b) + (2a-7b) =
19. (9x-2y) -3 (x+4y) =

20. EVALUATE: Ifa= -1, b= -2, and ¢ = -3, then 2a-3btc =

-y

3

DOL

B
1




UNIT IV The Negative Numbers PART II
TEST C

DIRECTIONS: Dec not write on the test booklet. Place the correct answer
on the sheet provided.

Write the reciprocal of each number in prokiems 1-4,

1. 3
20 "‘5

5
3' 13
4. £
A 5

5. COMPLETION: If b is the multiplicative inverse of a, then (a)(b)

6. COMPLETION: _has no multiplicative inverse.

Place "positive” or "negative” in the appropriate space. (7-8)

Thz value of any even power of a negative number is a (7)
number, while the value of any odd power of a (8) number
is a8 negative uumber.

Pcrform the indicated operations in problems 9-11.
9. (-3y)(5x)
10, (-2b)3
A 2
11- (-ZC)

12 TRUE or FALSE: The set of negative ‘ntegers {... -3, -2, -1} is closed
under muliiplication. '

13, TRUE or FALSE: The sct of negative integers {...-3, -2, -1} is closed
under addition. o

14. b5y - (-2y) =
15 3x + 8x - 19x =

16. - ADD: 7x - 2y + 3z
2x+ 2y - 4z

17.  3x - (2x+y) =
13. (5¢+3b) + (8c-53) =
19. (6x-y) - 2 (3x-y) =
20. EVALUATE: Ifa=-2, b=-3, c=-1, then 3x-2b+c = :




UNIT IV The Negative Numbers PART II

TEST D

DIRECTICNS: Do not write on this test booklet. Place the correct answer
on the sheet provided.

Write the reciprocal of each number in prcblems 1-4.

1'

2'

hb

o !

2

5

-6

4

7

5

CCMPLETICN: has no reciprocal.

COMPLETICN: If b is the multiplicative inverse of a, then (a)(b) =

Place "positive" or "negative" in the appropriate space. (7-8)

The value of any even power of a negative number is (7)
number, while the value of any odd power of a _(8)
number is a negative number.

Perform the indicated operations in problems 9-11. ’

9.
10.
11.
12.

i3.
14.
15.
16.

17.
18.
19.
- 20.

(-2y)(3x) =
(-4a)°
(-3a)°

TRUE or FALSE: The set of negative integers {...-3, -2, -1} is closed
under multiplication.

14

TRUE or FALSE: The set of aegative integers {... -3, -2, -1} is closed
under addition. .

4x - (-3x%) =

3y * 4y - 9y =

ADD:  9x - 3y + 4z
2x+ 3y -~ 4z

9% - (3x-¢y) =

(4a+2b) + (ba-3b) =

(2x-y) - 2 (3x+y) = ___
EVALUATE: If a=-1, b=-2, and c= -3, then 2a-3b+c =
125
-49

(oe
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UNIT IV
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The Negative Numbers

TEACHER

SCORE

1.

2.

3.

10.

11,

12.

13.

14,

15.

16.

17.

18.

19.
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UNIT V Cpen Sentences, Equations, and Inequalities TEST A

DIRECTICNS: Do not write on this test booklet. Place all answers and
solutions on the answer sheets provided to you. Do all work on the scratch
paper provided to you. Do not spend too much time on any single problem.
Unless otherwise stated, the replacement set of all equations is the set of
numbers of arithmetic.

Complete the following parayraph by filling in the blanks with words from
the following listt Write the letter of the correct answer on the answer cheet.

A. CPEN SENTENCE B. INEQUALITY C. SCLUTICN SET
D. REPLACEMENT SET E. RIGHT MEMBER F: EGQUATICN
G. LEFT MEMBER H. SOLUTICN

Consider the set {1, 2, 3, 4, 5} and the statement 2x + 3 = 4x. Since
2x + 3 = 4x contains a variable and, hence, has no truth or falsity, it

is called a(n) (1) . When x is replaced by the name of

a number, the statement 2x + 3 = 4x becomes then either a true or

false (2) . If the statement 2x + 3 = 4x becomes
true when x is replaced with the name of 2 number, then the repiacement
aumber is called a(n) ~(3) of the statement. If x
can be replaced only with members of the set {1, 2, 3, 4, 5}, then this
set is called the (4) of x.

5. TRUE or FALSE: 3 is a solution of the open sentence
2 .
x -5x+4 6=0

Solve each of the following open sentences. The replacement set is the set
of numbers of arithmetic. Place the solutions in the answer sheet.

6. a+ 2=5
7. d+ 5= -7

80 -10 =
9. y+ 1= -4

. Y 2 -
10- 5 - m = "10
11. 3x= 9
12, 54 = 17
12, 6x = -20

14, -15z = 52

B-51




15, -36 = -Ta
16.

3
4
17. l‘%: -3

18, l.4x= 6

22. 5d -7= 3d
23. 3(5-z)
24, -6 (6+4x)= 19

25. 5(3+2x) -4x=Tx -9

26. IfA={5,423,2,1, 0} is the replacement set of x in the open sentence

(]
-~

x-3=2

then the soliv-.tioanet: of the open sentence is

27. Graph the solution set of

hx> 10

on the number line provided on the answer sheet. The replacement

set for x is the set
{0,1,2,3,4,5,6,7,8,9}

Solve each of the following inequalities. The replacement set in each case
is the set of real numbers.

28. -6b>13

29. d+ 4>9

30. 5{2a-1)< 4

a
. - <
31 > 6
3
. e & -
32 4c__7

33. Graph the solution set of x < 3 on the number line provided on your
answer sheet.

34, John scored twice as many points as Jim. If Jim scored a 45, what was
{‘; John's score? '




UNIT V {pen Sentences, Equations and Inequalities TEST B

Complete the following paragraph by filling in the blanks with words from

the following list: Write the letter of the correct answer on the answer shcet.
' A

A.

open sentence

equation

solution set
inequality

replacement set

mooom o

B
C. left member
D

right member solution

Consider the set {2, 3,5, 6} and the statement 3x+4=4x. Since 3x+4= 4x
contains a variable and hence has no truth or falsity, it is called a (n) (1)

P )

When x is replaced by the name of a number, the statement 3x+4= 4x becomes

either a true or false (2) If the statement 3x+ 4= 4x becomes
true when x is replaced with the name of a nuraber, then the replacement
number is called a (n) (3) of the statement. If x can be replaced
only with members of the set {2, 3,5, 6}, then this set is c)élled the (4)

2
5. TRUE or FALSE: 2is a solution of the open sentence x -5x+6= 0.

Solve each of the following open sentences. The replacement set is the set
of numbers of arithmetic. Place the solutions on the answer sheet.

6. a+4=5

7 d+5= -6

3. -10=x+3
1

9. y+ > = 4

16. . -2?‘: -15

17.

18.




19.

21.
22,
23.
24.
25,
26.

27'

3a-13 = 30

6b+3-3b = 20
15-5a+4a = 17
6d-7 = 4d
2(5-z) = 6
-5(6+4z) = 19

6(3+2x)-4x = 8x-9

IfA={547321, 0} is the replacement set of x in the open sentence
3x-2 = 4x, then the solution set of the open sentences is

Graph the solution set of 4x>8 on the number line provided on the
answer sheet. The replacement set for x is the set {0,1,2,32,4,5,6,7,8, 9}.

Solve each of the following inequalities. The replacement set in each case
is the set of real numbers.

28.

30.

- 31,

33.
34.

29.

32.

-6b> 9
d-4>9
5(2a+ 1)< 4

<6

(R E

3
-_—Cc> -
529

Graph the golution set of x>-4 on the number line provided.

Bob earned $4 less than Mark. If Mark earned {7, how much did Bob earn?

¢

B-54
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UNIT V Cpen Sentences, Equations, and Inequalities TEST C

DIRECTICNS: Do not write on test booklet. Place all answers and solutions
on the answer sheets provided to you. Do not spend too much time on any
single problem. Unless otherwise stated, the replacement set of all equations
is the set of numbers of arithmetic.

Write the letter of correct answers on the answer sheet.

A., open sentence E. right member
B. inequality I'.  equation

C. solution set . G,  left member
D. replacement set H. solution

Consider the set {1. 2. 3. 4. 5} and the statement 3x+2 = 4x. Since 3x+2 = 4x
contains a variable and, hence, has no truth or falsity, it is called a

(n) (1) ?’ . When x is replaced by the name of a number, the
statement 3x+2 = 4x becomes either a true or false - (2)

If the statement 3x+2 = 4x becomes true when x is replaced with the name

a number, then the replacement number is called a (n) (3)

of the statement . If x can he replaced only with members of the
{1,2,3, 4,5}, then this set is called the (4) of x.

5. TRUE or FALSE: 3 is a solution of the open sentence

-~

x‘-4x+5=0

Solve each of the following open sentences. The replacement set is the set
of numbers of arithmetic. Place the solutions on the answer sheet.

6. x+ 3=5
7. y+5= -3
3. -10=x-2
9. y+‘% = -3
10. 5-m= -15
1l, 3x= 12
12. 4x =19
13. 5x= -18

14, -11R = 44
15, -35 = -6a

16, =x= 9

B-55
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17.

18.
19.
20.
21.
22.
23.
24.
25.
26.

21.

Y= .
7-—5

l.4x = 8
2a - 12 = 40

5a + 7 - 2a = 20
12 - 42 + 3a = 15

5y - 6 = 3y
3(2-w) = 17
-4(6+3x) = 13

5(2+ 3x)~5x = 7x-3
If A= {5,4,2,2,1,0} is the replacement set of x in the open sentence

x-5= 4

then the solution set of the open sentence is

Graph the solution set of
3x > 12

on the number line provided on the answer sheet. The replacement set
for x is the set

{0,1,2,3,4,5,6,1,8, 9}

Solve each of the followiﬁg inequalities. The replacement set in each case is
the set of real numbers. '

28.

29.

3OB
31.

-5a>12
b+ 3>9 .
5(2x-1)< 6

X
=<
36

2
-——R < -
SRS -7

Graph the solution set of x <5 on the number line provided on your
answer sheet.

Cne number is 15 more than another number. The sum of the numbezr is
65. Tind the larger number.




UNIT V ('pen Sentences, Equations and Incqualities TEST D

Complete the following paragraph by filling in the blanks with words from
the following list. Write the letter of the correct answer on the answer sheet.

#.  solution set E. left member

B. open sentence F. right member
C. inequality G. replacement set
D. equation H. solution

Consider the set {1, 2, 3,4, 6} and the statement 3x-2 = x. 3ince 3x-2 = x
contains a variable and, hence, has no truth or falsity, it is called a

(n) (1) . When x is replaced by the name of a number, the
statement 3x - 2 = x becomes either a true or false (2) .
If the statement 3x - 2 = x becomes true when x is replaced with the
name of a number, then the replacement number is called a (n) (3)
of the statement. If x can be replaced only with members of the set
{1,2,3, 4,6}, then this set is called the " (4) .

5. TRUE or FALSE: 3 is a solution of the open sentence
(x+3)x-2)= 3

Solve each of the following open sentences. The replacement set is the set
of numbers of arithmetic. Place the solutions on the answer sheet.

6. x+7=9
7. y+4= -3

8, 5=x+9
1

9. y+-3-= 6
o+ 10, 5 -m= 16
11, 4x = 16
12, 7d = 11
13. 8y = 34

14, -15a = 56
15' -61 = Sa

7

16. gy = -21
m

17. . 3 - -2
1

18.
19. 22 - 12.= 27

B-57




20,

217,

4b + 5 -3b= 16
12 - 6a + 5a = 15
8d - 5= 3d

4(z+6) = 33
-4(6+2z) = 17
5(3+2x) -4x = 8x-9

It A= {3,2, 1,0} is the replacement set of x in the open sentence 2x-1= 5x,
then the solution set of the open sentence is

Graph the solution set of 6x>12 on the number line provided on the answer
sheet. The replacement set for x is the set {0,1,2,3,4,5, 6}.

Solve eack of the following inequalities. The replacement set in each case
is the set of real numbers.

28.
29.
30.

31,

32.

33.
34.

-3y>6
d-3>9
4(2a+1)<3
a

—

7 6

3
-=c>-
z¢2 12

Graph the solution set of x< -2 on the number line provided.

Mary scored 7 points better than Judy. If Mary scored a 91, what was
Judy's score?

B-58




UNIT V Cpen 3entences, Equations and Inequalities A B C D

NAME SECTICN

TEACHER DATE

SCORE PERIGD

2‘
30
4‘

8. 27,

|

9. -1 0123456173910

11. 28.

12‘ 29'

13. 30.

14. 31,

15. 32.

16. 33, . —

A} *

17. ‘ -4 -3 -2 -1 0123 4
13,
19.

21, 34.




UNIT VI Polynomials TEST A

DIRECTICNS: Do not write on this test paper. Do all scratch work on
the paper provided to you for this purpose. Place all your answers on
the answer sheet. Do not spend too much time on any single problem.

Which expressions in the following list are not polynomials? Place the

letter preceding the correct answer or answers on the answer sheet.

1. A, x3 - 7x2 + 6x -5 E. (x-2) {x+3)
B. '1—x5-2x2+9 F. 7x2-5x+3-§-
3 X
C. b5x G. x2 -5x + 2
x-3
D. 4 H. 3x2y - nyz + 6y - 3

2. Which expression in the following list is a trinomial? Place the
letter or letters preceding the correct answer or answers on the
answer sheet. '

A, bx C. x3-3x+5

B. 7x% -2 D. 7xF . 3x% 4 bx - 2

3. What is the degree of 5x4 - sz + 6x - 3?
4. Whai is the degree of 3x2y - 6xy2 -5x + 2y - 3?
For problems 5-31, write the letter of the correct answer on the answer sheet.

5. Arrange the following polynomial in descending order.

4x3-3 + 4x2 - 5x

A. -3 -5x + 4x2+ 4x3
B. 4x° + 4x° - 5x - 3

C. 4x3-3+ 4x2-5x

6. .ADD: (5x°-6x+9) + (7x-4)

A. bx
B. 6x + 5
C. 5x -13x - 13

+x+5

NN WoN

D. None of the above

B-60
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7.

1
8.
9.

¢
10.
il.

ADD: 8x3 - sz + bx - 3

3x3+2x2+7x+9

Ao 5x3 - zx - 12
B. 5x3 + 12+ 6
3 2
C. llx™ -4x  + 12x + 6
D. llx3 + 12x + 6

SUBTRACT: (4x2-3x-2) - (2x2-7x+3)

A. sz -1lox +1

B. 2x° + 4x - 5

C. t’:x2 -10x + 1

D. 6x2+ 4x - 5

SUBTRACT: (2x3-4x2.-7) - (2x2-2x+ 3)

A. -4x2' -2x - 10

B. -4x2 + 2x - 4

C. 2x3-2x2-2x-4

3 2

D. 2x -6x + 2x - 10

SUBTRACT: 7x’y - 3xy°
2 2

3x v - 3xy

A, 4x2y

B. 'ixzv - t’bxy2

("

C. 10x2y - 6xy2
D. None of the above

What is the additive inverse of 3x2 -2x+ 4 ?

A, -3x2 + 2x +4

B. -3x2+ Zx - 4

C. 3x2+ 2x - 4
D. 3x2-2x+4




12.

13.

140

15.

16.

17.

Which of the following "laws" are incorrect?

A, a™. at= arn+n , m and n are positive integers
B. (am)n = amn’ m and n are positive integers
C. (a.b)rn = abm. m is a positive integer

D. None of the above

3
SIMPLIFY: % * x°=

A. x6

B. x5 9
C. x

D. None of the above
@) =

& a7

Be alo

C. a25

RO

A, b5

B. b18

C. 12

I

&

A, d6

5. 12

C. d3

(xy)5 =

A, .xys

B. xsy

C. x5y5 '




(s

18.

19.

20.

21.

22.

23.

(5x7y) =
A 25x4y
B. 5x7y
C. 5x4y'
D, ZSx‘}'y2
(3a%)(2a”) =
A, Sall
B. 5a18
C. 6a.ll
D. €>a,18
2.3

(-5g ) =
A, -’125g5
B. L:J:Z\gs

6
C. -l25g
D. --125g‘3

)

(4xCyz)(-2xy>2?)
A, ‘3x2y326
B. 8x3'y425
C. -8x2y3z6
D. --8x3y4z5
(3st%v)? (-35°tv°)2
A, 81861;6\;'6
C. 81581:8v3

D. None of the above
MULTIPLY: . 3x2(5-2x+ 7x2)
4

A, 15x2 -~ bx + 21lx
B. 15x° - 6x° + 21x+
2 3
C. 5x =-6x" + 21x

4




‘/'—\‘

25,

26.

27.

23,

MULTIPLY: 5y2-3y + 2
3y - 4

A, 15y3 - lly2 + 1%y - 8
B. 15y3 + 29y‘2 + 18y - 8
C. 15y?' - 29y‘2 + 18y - 8

MULTIPLY: (4x-3)(5x+1)

A 20x2 ~1lx - 3

B. ?.Ox2 + 1llx - 3

C. 20x2 -19x - 3

D. ?.Ox2 + 19x - 3

MULTIPLY: (x-4)°

A. xz - 16
2 .
B. x + 16
C. x2 + 8x + 16

Do x2'8x+16

MULTIPLY: (2x+1)°

_ 2
A, 4x + 1
B. sz + 1
C. 4x®+ ax + 1

D. 2x2 + 4x + 1

' / 4 3 2 .
DIVIDE: 5x [ 10x +5x  -5x"+25x%

2
A, 2%  +x°-x%x+5
B. _2x4+x3-xz+ 5x
C..2x5+xg+5

D. 2x4 + x3 + 5x

B-64
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PRSP PR

29. DIVIDE: x-7 fixz-9x+ 14

A, x+16+ =98
x-7

Bo x"16+ ..]:-gé
x-7

C. x+2
Do x*z

e e s

30, DIVIDE: 2x-5 .-/6x3;x -18x-33

2 22
1 v a——
A, 3x + 8x +11 + %5
2
B. 3x + 8x + 11
2 -23
C. 3x -1Tx + 9+2x-5

D. None of the above

i ! 3
T 31, DIVIDE: 6x2-3 [12x°-12x"+3x
A, 2x3-3x
: 6x -3
C. 2% -x+ _-1263-’5——
6x -3
Do Zx3-x
32. COMPLETICN: a0 = yad o
| 1

33, CCOMPLETICN: a = )

34. The sum of three times a number and twice the nﬁmbsr is decrcased by
15, the result is 165. Determine the number.

3 | o . B-65

141




UNIT VI Polynomials TEST B

Which expressione in the following list are not polynomials? Place the
letter preceding the correct answer or answers on the answer sheet.

1. A. Sx4 - 7x3_+ 32x2 “5x + 2 E. (x-1) (x+3)

B. %x6~3x2+9-i F. 8x2-12x+3-,5-£
2
C. 5x-3 G, X=-2xt2
. x -3
D. 4 H. 3x2y- ny2+ 6y-'3-

2. Which expression in the following list is a trinomial? Place the letter
preceding the correct answer or answers on your answer sheet.,

2

| A. b5x C. x3-3x+5
B. Tx -2 D. 7y4-3y2+6y-2

3. What is the degree of st' -2x“ 4+ 6x+3 ?
- 4, What is the degree of 3x2y3 - 6xy2 -5+ 2y -3 7

A
14

Fcr problems 5 - 31, write the letter of the correct answer on the answer
sheet. :

5. Arrange the following poiynomial in descending order

4x3-3+4x2+ 5x4-

A, -3 + 4x2 + 4x3 + Sx4
B. 4x> -3 4 4x° + 5%°
C. Sx4 + 4—x3 + 4x2 -3
6. £DD:  (3x° - 5x +11) + (8x-4)
A, 6x3 + 7
B. 3x2-+ Ix +7

C. 3x2-3x-?

D. DNone of the above




¢

ADD:  8x° - 2x% + 15x + 3
3 2 -
dx” +2x + Tx+ 9

A, 12x3 + 4x2 + 22x + 12
B. 12x3 - 4x2 + 22x + 12
C. 12x3 + 22x + 12

SUBTRACT: (Tx°-6x-2) - (2x°-8x+4)
A. 5x2 - l4x + 2

B. 5x2 +2x - 6

C. 5x2 - 14x - 2

D. 5x‘2 +2x + 6

SUBTRACT: (2x3-4xd'-7) - (-2x2+ 2x-3)

A.'2x3-2x2-2x-4

3. 2x3 - 6x2 + 2x - 10
C. 2.x3 - sz + 2x - 10
D. Zx3 - 6x2 + 2x + 10

10. SUBTRACT: 8x°y - 3xy’

| 7x2y - S:Eyz
A, 15x%y - suy®
Bl xzy - 8x‘Yz
C xzy + nyz
D. None of the above

1l. What is the additive inverse of 3x2 + 2x-37

A. -3x2 + 2x-3 C. 3x_2 -2x + 3
‘B. -3x2 -2x+ 3 ' D. -35{2 -2x -~ 3
B-67




12.  Which of the following "laws" are incorrect?

A, a™a" = am+n' m and n are positive integers.
B. (am)n = amn' m and n are positive integers.
C. (aa.b)rn = am’om. m is a positive integer.
D. None of the above.
13, SIMPLIFY: x - x° =
A, x]
B. xl0 ' 9
C. x25
D. None of the above
14, (as)3 =
A. a8
B. a125
c. a15
i5 b25, - b5 =
A, b0
B(‘ bs
C. b30
9
6. & =
' d
A, d3
B. dl5
c. d3/2
17, (xy)* =
A. xy4 '
B. x4y4
C. x4y

D. None of »th'e_ above

r -
[o 2
(¢ <]




-~ 18.

19.

20.

21.
22.

2 .2
(3x"y) =
A. 3x.4y
B. 9x4y2
C. 9x'4y

(3a%) (4a') =

A, 7a9
B. 7a14
C. l?.a'M
D. l?:a9
2.2
(-5g7) =
A. .?.Sgv4

B. (-5)%g"

C. None of the above
D Both A and B

(4x2yz3) (-2xy3z2) =

A. -8x2y3z6

B. -3x3y4z5

c. -8x0y*®
(3st2v)2 (-.'/:s?'i;VB)2 =
A, 3656t6v8

B. ~36s6t6v8

C. 36561:6v6

D. -36!;61:6\76

MULTIPLY: - 3x°(3+3x-5x%)

A, 9x2 + 9x3 + 15x4
2

4

B. 9x2 + 3x3 - 15x
2 3
C. 9x + 9x =~ 15x%




q 24, MULTIPLY: 5yl-3y+2
3y-5

A. 15y3 + 16y2 + 21y - 10
B. 15y3 - 34y2 + 21y - 10
C. 15y3 - 16y2 + 2ly - 10

25. MULTIPLY: (4x-3)(6x+1)
A z4x” - 22x + 4

B. 24x2 -~ 22x -~ 3
C. 24x2 -24x - 3
D, 24x . 1l4x - 3

26. MULTIPLY: (x-3)°
A, x2 4+ 9
B. x2 -9

o~ C. x2+ 6x + 9

. ,

D. x ~6x+ 9

3V

27. MULTIPLY: (2x-3)%

A, 4x2 -6x+ 9
B. 4x2 -12x + 9
C. 4x2 + 9
D. 4x2 -9

28. DIVIDE: 5x /25x*+15%°-15x°+ 25%
3
A, bx + 3x -5
3

B. 5x3-3x+5+—
5x

C. 5x 4 3x%-3x4 5
D. 5x4 + 3x3 - 3x2 + 5x

B-70




29.

30.

32‘

33.
34.

DIVIDE: x-7 " x2-10x+ 21

A, x-3
B. x+3

2
C. :4:-2+X__7

D. Can't be done

DIVIDE: 2x-5/2x°- 11x2

A, x%+3x+ 1

2 75
B. x =~-3x+ 16 + T

C- x2‘3x + 1
D. None of the above

at ot et ———— —o— 1 n

DIVIDE: 6x°-3 /12x°-12x>+3x

+17x-5

A, 2x3-x
3

Bo ZX - 3x

C. Zx3 -x + __-_gg_c__
6x" -3

D. 2x3 - 3x + -€2>x
6x -3

COMPLETION: al =

0

COMPLETION: a’ =

Twenty-one more than six times a number is 177.

B-71
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Determine the number.
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UNIT VI Polynomial TEST C

PIRECTIONS: Do not write on this test paper. Do all scratch work on the
paper provided to you for this purpose. Place all your answers on the
answer sheet. Do not spend too much time on any single probiem.

1. Which expressions in the following list are not polynomiais? Place the
letter preceding the correct answer or answers ou the ansvier sheet.

A, 3x E. (x+4)(x-1)
Bo 8 Fo Sazb - zabz + 6b - 3
1 4 2 P -
C. >x - 2x + 7 G, y +5y+2
y-3
D. y3-7y2+6y-5 H. 7R2+3R+3-_12’:

2. Which expression in the following list is a trinomial? Place the letter

or letters preceding the correct answer or answers on the answer sheet.

Ay oyt o4 c. sB®+cC

L. 3x D. R¥*+3R%?-R+ 2

3. What is the degreevof 5x4 - 3x2 + ¢x - 1?
4. What is the degree of 4a2'b - é:ab2 +22-3b+1°7?
Write the letter of the correct answer on the answer sheet.

5. Arrange the following polynomial in descending order:

6A3 + 14 3a% - A
A. 1-A+3a%46a3
B. A+ 1+3a%4+6a°
c. 6a%+3a%_a+1
D. None of the atove
6. ADD: (4a-3b+5¢c) + (8a +5b-9c)
A. 12a + 2b - 4c , : C. 12a -8b + l4c

B. 12a + 8b - ldc D. 4a+ 2b - 4c

B-72
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o 7.
R

8.

9.

10.

11.

12

ADD: 3x3 - 2::2 + 4% - 3
8x3+ 2x2+ T+ 9

A, 11x3 - 4x2+ lix - 12 C. 11x3 + llx + 6
B. 5x° - 4x° - 3x - 12 D. -5x° - 3x - 12

SUBTRACT: (2a+b-c) - (a-b+c)
A. 3a C. a+ 2b - 2c

Bn 3a+ Zb'zc Dt av"'Zb +ZC

2 2 2 2
SUBTRACT: (7x -3xy ) - (3x -3xy )

A, 11x% - bxy? C. 4x% - bxy®

2 2 2
B. 4x + 6xy D. 4x
SUBTRACT: J.Sx2 -3x+ 9

sz-!- x - 3
z 2

A, 13x -4x + 12 C.o 17" =22+ 6
B. 3x2 -2x+ 6 D. l7x2 -dx + 12

What is the additive inverse of 5x2 -x+57°?
A, -5x2-x-5 C. -5x2+x-5'

B. 5%x°+x-5 | D. 5x°+x+5

Which of the following "laws" are incorreci?
A. bm. bn= bm-!-n

B. )= b » m and n are positive integers.

» m and n are positive integers.

C. '(bx)m = b x, misa positive in’.!:eg’er..

Perform the indicated operations in problems 13 through 31,

13!‘

5 2
X ¢ x
A, x?
B. xlo

C. None of these.




b

14.

15.

16.

17.

18.

.19,

20,

210 '

(™)

A. a5

B. a

pl8 2 7

A, b25

B. b11

R

R3

A. R 12

B. R6

(ab)7

A, a7b

B. a?b'7
2.2

(3xy )

A, 6xzy4

(3x%) (4x)

A, 7x9
B. 12:1:14
(-65%)°
Ao '21655
B. -2168°

(3x%yz>) (-2xy°2?)

A. -6x3y435

B. -6xyzz '

C.

C.

C.

D.

- 365"

6

a

None of these.

b126

None of these,

R3

None of tlese.

al:o'7

None of these.

3xy4

None of these.

Tx
12x

2168°

4 5

w» N
(8]

bx"y =




22.

23,

24.

25.

26.

217.

28.

(Zs’czv) (-3szt:v3)2

33 C. -1233t3v4

A. -66
B. 36s t v D. None of these.

MULTIPLY: 3x%2(4+x-Tx%)

A. 1.?.x2 + 3x3 + le2 C. 7x2 + 3x - 4:':2

B. 12x2 + 3x3 - le4 D. None of these.

MULTIPLY: 7y° -y + 2

2y - 9
A, 14y° - 58y% - 13y - 18 C. 14y° - 61y’ + 13y - 18
B. 14y3 - 54y2 + 13y - 18 D. None of these.

MULTIPLY: (2x-3) (5x+1)

A, 10x% - 17x + 3 c. x%-17x-3

B. 10x° - 17x - 3 D. 10x% - 13x - 3

MULTIPLY: (y-3)

A, y2+9 C. y2-6y+9

) | |
B. y>-9 | D. y2 4+ 6y +9
MULTIPLY: (2x + 3)°

2 2
Ao x4+ 9 C. 4x“+ 12x+ 9
B. 4x°+ 6x+ 9 D. 4x°+ 6
pvipe:  sMm [ 1om? - 15Mm3 + 5Mm?
A, 2 - 3m% 4+ MP c. 2”4+ 3m° + M

3 2

D. None of these.
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29.

30.

31.

32.

33.

34.

—— 01— - b © e

DIVIDE: x-7 %% - 15x+56

A, x -8 C. x-22+-g--!2
x=7
B, x+ 8 D. None of these.
32 T
DIVIDE: 2n-3 ‘2n -5n + 21ln-14
A, n2+4n+14 C.'nz-n+12— 22
, 2n-3
B. n2 -n+ 12 + 2z D. None of these.
2n-3
DIVIDE: x%-1 . x°+4-x-4x°
A, x2+4x+4 C. x+ 4
B. x2+4x-4 D. x-4
COMPLETION: xo = » x=0
COMPLETION: x' =

If the sum of three times a number and twice the number is decreased
by 15, the result is 165. Find the number.

B-76
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UNIT VI Polynomials TEST D

DIRECTIONS: Do not write on this test paper. Do all scratch work on the
paper provided to you for this purpose. Flace all your answers on the
answer sheet. Do not spend too much time on any single problem.

1. Which expression in the following list are not polynomials? Place the
letter preceeding the :orrect answer or answers on the answer sheect.

A. 3x E. 1
B. 4x%-2x+ 5 i— P (x-T)(x+2)
2
2 2 x +7Tx-3
C. 3xy+2xy -6y+ 4 G. e
D. §x2-2x+4 H. x4-3x3+7x-1

2. VWhich expression in the following list is a trinomial? Place the letter or
letters preceeding the correct answer or answers on the answer sheet.

A, 4x3+7x+3

' B. 2x
. 2

C. 7y +6

.D. 9x3 + 7x2 -3+ 9

3. What is the degree of 3x5 - 2x4 + 7x - 3?

4. What is the degree of 4x3y + 6xzy - 35:y +9x ?
In problems 5-31, write the letter of the correct answer on the answer sheet. 3

5. Arrange the fblIOWing' polynomial in descending order:

4xz+4x3+5x-3

Ao 45 -3+ ax® & 5x
C. 4x_3 +4x° ¢ 5x - 3

3

B-77
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i

10.

ADD:  (5x%-6x+9) + (1x-4)

A. 5%x% - 13x - 13
B. 5x2 +x+ 5
C. 6x3 + 5

D. None of the above

ADD: 8x3 - sz + 5% - 3
3x3+ 2x2+7x+ 9

A, llx3 + 12x + 6

B. llx3 - 4x2_ + 12x + 6
Co 5x3 - zx had 12
D. 5x3 + 12x + 6

SUBTRACT: (4x2-3x-2) - (2x°-Tx+3)
A, 6x2 - 10x + 1

.B- 6x2 + 4x," 5

C. 2x% - 10x+ 1

SUBTRACT: (2x°-4x2-7) - (2x%-2x+3)
A, 2x3 - z:'cz - 2x -4
3 2
B, 2% - 6x + 2x - 10
Co ) "4’.-‘2 - zx had 10
D. -4x2 + 2x - 4
SUBTRACT: 7x°y - 3xy°

3xzy - 3xy2

A. 10x2y - 6xy.2
2 2
B. 4x y - bxy

b4
D. None of the above

B-78



11.

12,

13,

14,

15.

- 16.

What is the additive inverse of 3x2' -2x+ 4 °?
A, -3x% 4 2x- 4

B. -3x2 + 2x + 4

C. 3:*:2 4+ 2x -4

D. 3x2 -2x + 4

Which of the following "laws" are incorrect?

A, am.a"= am+n' where m and n are positive integers.
B. (ab)rn = abm , m is a positive integeur.

C. (am)n =a™" , m and n are positive integers.
SIMPLIFY: x°+ x°=

A, x6

B. x9

C. 'x5

52

(a”)

A, alo

B. a,7

C. 325

b1+ 3=

A, b5

B. b18

c. bl

2

d3 |

Bl d6

e '63" . \ )




ATy

%

e

17.

18.

19.

20,

21.

~ B. 8ls°t

(xy)5 =

A. xys

E
B. nyS
C. 'xsy‘
D. None of the above.
.2 2
(5x7y) =

A. 5x4y2
B. 5x4y

C. 25x4y2
D. 25x4y _

(3a%) (22°) =
A. ba 1)

(-5g%)° =

A. -125g6

Bo -125g8
C. -12_5g5
D. 125g5 :

(4xzyz3) (-2xy3z2)
A. 85;2'}'326 '
B -8x3y%z5>
c. -sx’yia®

D. 8_x3y4z5 ;

A. -8 1x6t6v6

88 8
v.
6.6 6

C. 8ls t v

D. None of the above




ﬁ\ 23. MULTIPLY: 3x2(5-2x+7x2)

A, 15x2' - Ax + le4
B. 15x2 - 6x3 + le4
C. 5xZ - 6x.3 + le4

24, MULTIPLY: 5y2 ~3y+ 2
v - 4

A, 15y3 - lly2 + 18y - 8
B. 15y> + 29y% + 18y - 8
c. 15y3 - 29y% + 18y - 8

25. MULTIPLY: (4x-3) (5x+1)

A. 20x% + 19x - 3

B. ZOx2 -19%x - 3

c. 20x° + 1lx - 3

~— ’ :

s
o
b
5
1
2
4

26. MULTIPLY: (x-4)°
h A x2 + 8x + 16

- B. x2-8x+ 16

C- xz - 16

D. x2+ 16

27. MULTIPLY: (2x+1)°
A, 4xz + 4x +. 1

B, 2x%+ 4x+ 1

c. 4P+l

A ‘2x4 + #3 + Sx
- 3 2
B. 2x +x +5
C. 2% +x -x+1
D. 2_:';4 + %0 <%l ¥ 5x

NN



29.

30.

31,

32.

- 33.

34.

/
DIVIDE: x-7/ x% - 9x + 14

A, x + 2

Bl x"z

C. 'x+16+-'--<Zg
o ox=7

Dl J“]-6'*'.l_2”é
x-T7

DIVIDE: 2x-5 /6x3+ x° - 18x - 33

2 22
A. 3x + 8x+ 11 + 2%-5

23

B. 3x2-7x+ 9 + ——

2%-5
C. 3x%+8x+ 11

D. " None of the above

DIVIDE: 6x2-3 /12x°-12x°>+3x
A, 2x°-3x + 'T(”‘
6x -3
Bl 2x3 - X + . -26x
6x -3
Cc Zx - 3x
D. '2x3 -X
COMPLETION: a’ =

COMPLETION: a° = , a=

0

The sum of 3 consecutive integers is 48. Determine the numbers.

B-82
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UNIT VI Polynomials
NAME
TEACHER
SCORE
1. 18.
2. 19.
3. 20.
4. ©21.
5. 22.
6. " 23,
7. 24,
8. | 25.
9. 26.
10. 21,
11 28.
12. 29.
13. 30.
14, 31
15. 32
16 33.
34,
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UNIT VII Special Products and Factoring Test A

DIRECTIONS: Do not write on this test paper. Do all scratch work on the
paper provided to you for this purpose. Flace your answers on the answer
sheet. Do not spend too much time on any one problem.

1. Which of the following numbers is prime? Write the letter preceding
the number of the correct answer or answers on your answer sheet

A. 1 C. 2
B. 3 D. 15

2. Factor 72 complet=ly into powers of primes.
3. Give the second factor: 18x2y4 = 9xy ()
4.  Find the GCF of 12 and 18.
2 2 6
5. Find the GCF of 2x y and 6x yz.
et Factor completely all polynomials from number 6 through number 16.
A | |
- 6. 36x + 12y - 24
7. 25% - 15x° - 5x
>
8. x - 16
9. :—.\,2 + 8a + 16
2
10. b + 4b - 12
13 I 6c2- c-2
12.  x0 -3+ 7x- 21
: 13, 25x% - 81y®
= | .32
- . 14. - 2a” + 20a + 50a
. B-34
e 160




15.
16.
17.

i8.

19.

2x2-8

-xz + be- 1

Name the additive inverse of 4xz - bx - 7

COMPLETION: If a and b are numbers and (a)(b) = 0 but a # 0,
then b = .
MULTIPLY: -1 (x“ - 3%+ 2)=

Solve each of the equations from number 20 through number 29. Write the
solutions to thinm: on your answer sheet.

20.
21.
22.
23.
24.
25,

26.

- 27.

28.

(x-2)(x+1)= 0
yly-2)=0
(2a + 1) (a-3)= 0

yzl -25= 0

yz-6y+ 9= 0
x2+.3x= 10
Ofa - 2)= 0
0fx - 7) = 1

A man traveled 4 hours at x miles per hour, then at (20 + x) miles per
hour for 3 hours. Represent the total disiance traveled.




UNIT VII Special Products and Factoring Test B
DIRECTIONS: Do not write on this test paper. Do all scratch work on the

paper provided for this purpose. Place all answers on the answer sheet. Do
not spend too much time on any one problem.

1. Which of the following numbers is not prime? Write the letter of the
correct answer or answers on your answer sheet.
A. 3 C. 2
B. 15 D. 5

2. Factor 68 completely into powers of primes.

3. Give the second factor: 45x2y5 = 9y ( )

4. Find the GCF of 24 and 18.

5. Find the GCF of 3x3y4 and 6x4y4z.
Factor complétely all polynomials from number 6 thru number 16.

6. 9% -.18y + 27

7. xz - 25
| 3 2
8. 3x7 - 15x - 42x%
2

9. a + 1l2a + 36

10. b2+ b- 12

11. 6d® + 3d - 3

12. - 7%% + 3x - 21

13, 9x® - bay”
14, 3a3 + Zlaz' - 48a o




15.

16.

17.

18.

19.

3x2 - 27

-x2+ x4+ 6

COMPLETION: If a and b are numbers and ab= 0 and b # 0, then
a= . '

MULTIPLY : -1 (sz - 5% - 2)

Name the additive inverse of -6x2 + 5% + 4.

Solve each of the equations from number 20 through 27. Write the solutions
on your answer sheet.

20.
21.
22.
23.
24.
25.
26.
27.

28.

(a-3)(a+ 4)=0
(Za.-l)(a.- 4)= 0

t(t - 3)= O
2

x°-16=0

x2-10x+ 25= 0
a2+ 5a = -6

o(t + 3)

1}

0
O(a -3)=1

The sum of 3 consecutive integers is 39. Determine the three integers.




UNIT v Special Products and Factoring Test C
DIRECTIONS: Do not write on this test paper. Do all scratch work on the

paper provided to you for this purpose. Place your answers on the answer
sheet. Do not spend too much time on any one problem.

1. Which of the following numbers is prime? Write the letter preceding
the number of the correct answer or answers on your answer sheet.
A, 6 c. 1 |
B. 5 D. 9
2. Factor 84 completely into powers of primes.
. 2.4
3. Give the second factor: léa b = 8ab ( )

4. Find the GCF of 12 and 15.

5, F'ind the GCF of .?oazbZ and 6a6bc
Factor completely all polynomials from number 6 through 16.
6. 18x+ 12y - 24

7. 20x3 - 15x2 + 5x

8. xZ - 81

9.  yZ+ lly+ 16

10, 224 7r- 30
sy ly-z

12. '33-3';.?+ 5a - 15
13 3662 - 3162
FUR P E

t o | . p.8s




15.
16.
17.
18,

19.

4c2-16
-a2+ 2a -1

Name the additive inverse of 6az ~ 3a - 1.

COMPLETION: If a and b are numbers and (a){(b) = 0, but b # 0,
' then a = . '

MULTIPLY:  -l(y - 5y + 3)

Solve each of the equations from number 20 through number 29. Write the
solutions to them on your answer sheet.

20.
21.

22.
- 23.
24.

25.

: 27'”

28 .

@+ 1l)y(a-3)=20
x{x -10)= 0

(2a+ 3)(a=~-~1)= 0"
x2-81= 0]

2

vy -'5x-6=0_

r2+ 5r = 6

Ofx + 5) = 0o

0{(a-8)=1

-Two jet transports start at the same time from the same airport. One
flies due east at 620 miles per hour. The other flies directly west at
560 miles per hour. In how many hours will they be 3540 miles apart.




UNIT vVIX Special Products and Factoring Test D

DIRECTIONS: Do not write on this test paper. Do all scratch work on the
paper provided to you. Place your answers on the answer sheet. Do not
spend too much time on any one problem. '

1. Which of the following numbers is prime? Write the letter of the correct
answer or answers on your answer sheet.
A. 7 C. 4
B. 5 D. 6
2. Factor 56 completely into powers of primes.
- 2.5 . :
3. ‘Give the second factor: 28x"y" = Txy ( )

4. Find the GCF of 16 and 24.

5. Find the GCF of 3xzy3 and lesy‘z.

- Factor comgletély all polynomials from number 6 through number 16.

(=

6. 25x + 5y - 10z
7. . 36x3 + Ztlrx2 + 12%
8. x2 - 36
9. y2+ 6y + 9
: 2
10. b“+ 5b- 14
1_'1'-'. ‘ 6c2- + c=~2

12 x> -5x°+ 2x- 10

13. - 49x% - 81y
14. 4a?‘ + 403,2 + 100a

Q . B~ 90
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2

15. 3x~ - 27

l16. x% - 2x -1

17. Name the additive inverse of -9x2 + 3x - 6.
18.  MULTIPLY:  -1(x° + 6x -7)=

19. COMPLETION: If x and y are numbers and (x)(y) = 0 but x # 0, then
y = . :

Solve each of the equations from number 20 through number 27. Write the
solutions to them on your answer sheet.

20. .(x+6)(x-7)=0
21. yly-3)=0
22. (33 + 2)(a-3)=0

23, yz-_81= 0

2. y2+ loy+ 25= 0

- 25. xz - 5x = 36
26. O+ 7)=1"
27.. 0(a-8)=0
28. A number increased by three is equal to twice that, same number
decreased by 1. Determine the number.
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UNIT VI

NAME

Special Products and Factoring

TEACHER

SCORE

1o.

11.

i4.

15.
16.
17.
18.
1>9.
20.
21.
- 22.
23.
24.
25.
26.
27.>

28.
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Unit VIII FRACTICNS Part I
Test A
DIRECTICNS: Do not write on this test paper. Do all work on the scratch
paper provided to you. Place all answers on the answer sheet. Do not
spend too much time on any one problem.

In problems 1 through 5, determine the values of the variable for which the

fraction is not defined. If there are no exclusions, write "none".

2x + 1

x + 2

Tx - 2

4

x2+2

x2-4

COMPLETICN: An algebraic fraction is the indicated

of two real numbers, polynomials, or combinations of these.

CCMPLETICN:. In the fraction 2’-, 3 is called the

(numerator, denominator). 4

Reduce the fractions in problems 8 through 13 to lowest terms. If the
fraction is already in simplest form, write "done" on your answer sheet.

8.

36

42
2

20a b

25ab2

B-93




13.

In problems 14 through 18, give the products reduced to lowest terms.

2
X 6
14. 3 _ xy =
15x
15,  (7xy) ( T4y ) =
16. 7(x - y) 8x -
5 y - x
az-b2 mz-n
17. .
m + n a+b
2
a + 5a+ 4 a+ 5
18. a + 4 2 =
. a + 6a+ 5

ab
a +b

In problems 19 through 24 give the quotient reduced to lowest terms. Assume
that there are no divisions by zero.

5 -3
190 6 ~ 4 --
15x%
20. 16y 5 =
. 2 5x
¢l xy+ —Zy' =
22 15a2 25a3 -
b 14b°
' 2 . o
3x+6 x +5x+ 6 :
23. ; - =
2 2 S x+y
X -y : .
L, o 3a . bat+t 4 at2
“T 3a+ 2 4 T 2 -

25. Jim and Joe earned a total of $36. Joe earned 3 more than one-half
_of what Jim earned. How much did each earn? -

B-94
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Unit VIII FRACTIONS Part I
Test B

DIRECTIONS: Do not write on the test paper. Do all work on scrap paper
and place final answers on the answer sheet. Do NCT spend too much time
on any one problem.

In probiems 1 through 5, determine the values of the variable for which the
fraction is not defined. If there are no exclusions, write "none".

1. x+ 1
3

2. —

3' Zx:+1

’ x

4 x4+4
x2-25
3x -7

5. 3

6. Completion: An algebraic fraction is the indicated
of two real numbers, polynomials or combinations of the same.

- , 3
7. Completion: 'In the fraction 2’ 4 is called the
(numerator, denominator).

Reduce the fractions in problems 8 through 13 to lowest terms. If the
fraction is already in simplest form, write "done" on your answer sheet-
72

8.
15ab”
zoazb
2 2
0. 90xy "z
20xyz

9.

B-95
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x2-25
x2+ 4x + 4
12.
x -x-6
2a
) —————
1% 5T

In problems 14 through 18, give the product or quotient reduced to lowest

terms.

Xy . 3
14. 6 >
X

15, (3xy) (52)

3(d -b) 8x
16. 8 9 (b - a)
17 X -V . a-b

2 2 2 2

a -b X -y

2

¢ + 3c+ 2 c+ 1
18. c+ 1 2

¢ + 5c+ 4

that there are no divisions by zero.

5 , -3
19- 9 - 5
18x
2 5%
1. + =
2 7x Y+ 2y
Zla2 Ta
22. 9b + >
o 3b
23, 42x + 22 - xx.-!~25
x -4y 3 Y
2 1 + 1
x - b4 X
24. 2 " x-1 Y7 s
x

25. A rectangle is 2 yards longer than it is wide.

is 99 square yards. Find its dimensions.

'B-96
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- In problems 19 through 24, give the quotient reduced to lowest terms. Assuine

The area of the rectangle
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Unit VIII FRACTICNS Part [
Test C

DIRECTICNS: Do not write on this test paper. Do all work on the scraich
paper provided to you. Place all answers on the answer sheet. Do not spend
too much time on any one problem.

In problems 1 through 5, determine the value of the variable for which the
fraction is not defined. If there are no exclusions, write "none".

1.

2.

3.

7.

x -2

3x + 1
X+ 4

, Complet:loh: In the fraction 1. 7 is the | (numerator,

9

denominator).

True or False: An algebraic fraction is the indicated quotient of two
real numbers, polynomials or combhinations of these.

Reduce the fractions in problems 8 through 13 to lowest terms. If the
fraction is already in simple form, write "done".

8.

10.

. 11.

38
50
362%°

1€>a,b2

4 2
15 v =z

45x.6yz 3

_tab
.14a + b

B-97




f—!

12.

13.

In problems i4 through 18, give the products reduced to lowes’ terms.

x -~ 7

2

x - 49

c2+&+9

2
¢ -9

that there are no divisions by zero.

14,

18.

In problems 19 through 24 give the quotient reduced to lowest terms. Assume

@ xy) - (£

2 1z
4 ab
9(a - b)
pid b a
a“ + a 6
2
2 a -1
2
x .5x + 6 x+ 3
x - 2 2
x -9

that th2re are no divisions by zero.

19.
20.

21.

22.

3., -12
7" 5
21lx
16y

3 4x

18xy+3‘;

3 2

24a R 8a

7b 3

21b

x2+ 4x +3

_x2+x-6

x+ 2

x + 16x + 25,

x + 10

X+ 2

212

xz + 15x + 50

B-98
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25. An object is thrown from a plane at an altitude of 2o, 00 feet, 1 the
object falls at a rate of 52 feet per second, how long will it take for the
object to reach the ground?

B-99




Unit V1 . FRACTIONS Part 1
: Test D

DIRECTIONS: Do not write on this test paper. Do all work on the scratch
paper provided to you. Place all answers on the answer sheet. Do not
spend tco much time on any one problem.

In problems 1 through 5, determine the values of the variable for which
the fraction is not defined. If there are no exclusions, write "none".

1. 8
x
5
2. y -3
3 + 1
3. x+ 2
5% - 3
4, 5
x2+l
5. —2—-——
x - 4

6. Completion: An algebraic fraction is the indicated

of two real numbers, polynomials, or combinaticn of these.

7. Completion: In the fraction -1%. 12 is called
(numerator, denominator).

Reduce the fractions in problems 8 through 13 to lowest terms.  If the
fraction is already in simplest form, write "done” on your answer sheet.

24

8. 42

2
9. 0xy
15?¢y2

10.

il,

B-100
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i

C

22-42-{-3
12' 2
p +3p-~4

13, —XY_
X-Yy

In problems 14 through 18, give the products reduced to lowest terms.

2
14, L. 8
2 xy
152
15, (6 x z) (lzx)
5(a - b) . _8a
W2 v2 WPy
1. =53 x+ y
18 a2-12a+32 . a2-16
* a+ 4 a-8

In problems 19 through 23, give the quotient reduced to lowest terms. Assume
. that there are no divisions by zero.

5 . =3
19. 8 - 4

12x | .

2 . 5x

2l. 8xy -+ ———4)'

15z2 14w2

25z
23‘ 3a + 5 a + 5a+ 6
' 2 2 a+b

a -b

:~:2+2x+1 2x + 6 x+ 1
24. . . =— =

- bx o 12x

25. A rectangle is 8 feet longer than it is wide. Its area is 105 square feet.
Find its dimensions.

B-101
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}‘ UNIT VIII Fractions PARTI A B C D
NAME SECTION
TEACHER | DATE
SCORE PERICD
1, | 17.

2. 18.
3 19.
4. 20.
5. 21.
6. | 22.
7. 23.

T 8. 24

- 9. | 25,
10,

11.
12.
13,
14.
15.

16.

- B-102

o : :

178




i

UNIT VI Fractions _ PART U1
Test A

DIRECTIONS: Do not write on this test paper. Place all answers on the

"answer sheet. Do not spend too much time on any one problem.

In Problems 1 through 10, give the sum or difference reduced to lowest terms.
Assume that there are no divisions by zero.

ol
n

5..
1. -~
9 +

a 2 -3a _
3. b_- Y =
5 3
4. = + il
2a 3a
> 5 * ¢ ° —
6 a.2 I 2
a-2 a-2
;. lex <2+ 25
x+ 5 x+ 5
7 3
8. - _=.
az-’b al:oZ
. zx + 4 -
x -81 x+ 9
10. .zx-l + x+ 2
x -2x-8 x +x-2
5x
11.  SIMPLIFY: 6
- 10x
12y

B-103
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2 4+
12. SIMPLIFY: b
a
b " 1
13. .  What is the ratio in lowest terms of 6 feet to 4 yards?

In Problems 14 through 21, solve each equation or inequality and write the
solution on the answer sheet. '

15. st-l_?:s--m___.l
16. -E:x-s'z'
17, 2y 1< 22

18- -35-z - i_;_3-z > 5
7

. 5
9. 2+ 3%
9 _ 6
20. T 2 % 3+ 2
21. 260'—-{-1: 3
a - 3% a-6

B-104
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UNIT VIII

DIRECTIONS:

Fractions

Do not write on this test paper.

Place all answers on the

answer sheet. Do not spend too much time on any one problem.

In Problems 1 to 10, give the sum or difference reduced to lowest terms?

Assume that there are no divisions by zero.

10.

11.

4 2
7173
x _ 3
8. 8
b _3:-2b
c c
4 2
5 T 5
3a 5a
e
9
x-3 x-.3
12x + kz+36
x+ 6 x+ 6
5 + :
ab ab
2x + 3
x - 49 - x+ 7
x -2 - x+2
x -3x-4 X -x-2
4x
SIMPLIFY : >
8x
.10y

PART II



3 A
l 12.  SIMPLIFY: f
B + 1
13, What is the ratio in lowest terms of 6 feet to 4 yards?

In Problems 14 through 21, solve each equation or inequality and write the
solution on the answer sheet.

x x 3
‘14. .4 + 5 - 2

15, 5 - 5 =]
X X-3

16 5 © 3
3¢ 3
— < =~

17 z + 1 4c

I oo
ik
\, .

8 5
20. a-3 a-3
21 40 4 ,.2
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UNIT VI Fractions PART 1l
Test D
DIRECTIONS: Do not write on this test paper. Place all answers on the

answer sheet. Do not spend too much time on any one problem.

In Problems 1 thrcugh 10, give the sum or difierence reduced to lowest terms.
Assume that there are no divisions by zero.

' 5 2
1. — —
9% 9
X 5
2 3 °3
a 2 - 3a
3 b b
4 2
¢ gt3
2a 3a
5. 5 + y
. %2 9
' x~3 x-3
7 10x X + 25
a x+ 5 x4+ 5
5
8 7t Z
ab a b
9 zx y —
x - 81 x+ 9
10. 2"';2 y Xt 2
x - 3x-4 X -X-2

11. SIMPLIFY:




12.

13.

SIMPLIFY:

w|>|w|>

What is the ratio in lowest terms of 6 feet to 4 yards?

In Problems 14 fhrough 21, solve each equation or inequality and write the
solution on the answer sheet.

14.

15.

16.

17.

18.

19.

20.

21.

w»|oo win
Q

Miw




UNIT VIII Fractions PART I
Test D
DIRECTIONS: Do not write on this test paper. Place all answers on the

answer sheet. Do not spend too much time on any one proklem.

In Problems 1 to 10 give the sum or difference reduced to lowest terms.
Assume that there are no divisions by zero.

4 2
L. 7+ 3
X 3
2 5 5
3 b 3.-2b
c c
5 3
4 7t 3
3a  5a
> 5 t 3
6 ::12 4
) a-2  a-2
. 12% %% + 36
' x+ 6 x+ 6
7 3
8. - ,
azb abz
9 Zx___ + 3
x - 49 x+ 7
, e
10. 2:{ + 2x+2
 x -2%x-8 x +x-2
| x
11. SIMPLIFY: 5
' - 8x
10y




241
12.  SIMPLIFY:  ———o
m
n
13. What is the ratio in lowest terms of 4 feet to 4 yards?

In Problems 14 through 21, solve each equation or inequality and write the
solution on the answer sheet.

14 4 % = %
16. gf;:x;Z
17. -35—9-+1<-Z-c

18. %1 _ 2oy > 5

19. .@.4.-%-_.2
x 5 X

. 9 _ 6
20- a-2 a-=-2
21.-—5441—+;=‘ 5
a - 16 a-4

B-110




SECTION

PERIOD

i UNIT VIII Fractions
NAME
TEACHER
SCORE
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4. 15.
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9. 20.
10. 21.
11.
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UNIT IX Graphs and Sentences in Two Variables PART I
Test A

DIRECTIONS: Do not write on this test booklet. Do all scratch work on
the paper provided for this purpose. FPlace your answers on the answer sheet.
Do not spend too much time on any one problem.

Fill in each numbered blank with the letter preceding the word from the following
list that makes each sentence correct.

A coordinate axes F. origin
B. quadrant G. abscissa
C. ordered pair H. line
D. | coordinates I. point

- E. ordinate J. variable

The major horizontal and vertical lines in a Cartesian Axis System are

called (1) . The point where they intersect is called the

(2) of the system. Each point in the plane is located
by attaching two numbers to it called the (3) of the
point. These two numbers are usually written so that the order is important.
Hence, the pair is called a{n) (4) . The first number of the
pair is called the (5) of the point, and the second number is
called the (6) of the point. The plane is divided into four

- principal regions by the major lisice. Each of these regions is called
ain) _ (7)

8. Write the letter of the correct answer on the answer sheet. The point
A({-7,3) lies in quadrant:
A. | S ‘ D. v
B. I _ : #. None
C. 111
9. Write the letter of the correct answer on the anewer sheet. The point
K (-7, 0) lies in quadrant: '
A, 1 | " D 1v
'B. mw | E. None
c. . m | |

" B-112




(way

10

11

12

TRUL or FALSE: The point C(5, 0) lies on the x-axis

TRUE or FALSE: The point I(0, 0) lies in the v-axis.

TRUE or FALSE: The point P (Z,a) lies in guadrant IV if a <0 .
COMPLETION: Consider the expression x23. The nuaraber

is the subsc.'ipt

Solve each of the equalions in numbers 14 through 16 for y in terms of x

L4

16

17

19.

20

2y » 3x -~ 1
2x - 2y 41 2 0
Tx+ 3y~ 4 : 0

Consider the equation 5x - 3y + 2 = 0 If x = 4, then vy =

Graph the following points and label them properly. Use the
Cartesian System given on your answer shoet. All must be plotted
properly

A AG-3.2) c. (0. -2)
B. B4, 0) D. D(-2,-3)
Using the Cartesian System given on vour answer sheet, graph the
eguation:
x-2y+1=20
Use the chart methud. Complete the chart that appears on your

answer sheet

Examine Lhe graph given below. What is the y-interi:ept of the line ?

?mf" [ " _{iL,Jw‘
N | = ; 7 B v I i
‘,, ) ; g rm—re —— ) —~-y
: e b A i“'
VLWL_.ﬂ;.,.tﬁ Y O
MamEAY 1w
o T
3 il Loy
Vi <11 I
f ...,i.-._..h.
»1._.. ._.....4;
... ot -
kl ] i -
! : ) Ve
; e +
. o N S N
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21.

26.

27.

28.

What is the y~intercept of the graph of the line whose equation is
3x -4y 4 0= 07

Ciraph the line whose equation is x = -2 in the given Cartesian System.
Graph the line whose equation is y = 2 on the given Cartesian System.

COMIPPLETION: is the equation of the x-axis.

Which one or ones of the {ollowing equations is (are) linear. Write the
letter preceding the correct answer(s) on the answer sheet.

A y = 3x -2 D. 2x ~ Ay b 0= 0
2

B. y = 2x° k. None of these.
)

. ¥ o= 5<% - 4+ 3

What is the slope of the line piven by the graph below?

i R R N .
- 3
AJ y --1
o A I
1 ‘ R .
P EOAN 2
T e | ! )
Rlr - :
i _
5 X
! t
. ety
A e }
L
{ SR DR |
i ] S ;
SN T
} ¢ ! i
i e e
A A 200 TN T S IO R N

What is the slope of the line AB if A has the coordinates (-3, -2) and
B has the coordinates (5,7) 7

4

Wiich of the lines defined by the equatioh.s below have no slope defined

for it? Write the letter of the correct answer on your answer shect.

A x= 4 C. 2v-3y+ 5= 0
B. y -2 - D. All of the above have

slopes defined.

B-1t4
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A. Ordinate F. Variabl_e

B. Coordinate axes _ G. Origin

C. Coordinates H. Point

'D.  Line ‘ 1. Cuadrant

E. Crdered pairs J. Abscissa |

The major horizontal and vertical lines in the Cartesian Axis system are

called (1) . The point vthere they intersect is calied the

) (2) . Each point in the plane is located by attaching two
numbers to it called the (3) of the point. These two numbers
are usually written so that the order is important. Hence, the pair is calied
a(n) (4) _+ The first number of the pair is called the (5) _
of the point, and the second number is called the (6) of the point.

UNIT IX Graphs and Sentences in Two Variables PART I
Test B

DIRECTIONS: Do'not write on this test booklet. Do all scratch work on
the paper provided for this purpose. Place your answers on the answer sheet.
Do not spend too much time on any one problem.

Fill in each numbered blank with the number preceding the word from the
following list that makes each sentence correct.

The plane is divided into four principal regions by the major lines. Each of
these regions is called a(n) (7)

8. Write the letter of the correct answer on the answer sheet. The point
(7,-3) lies in quadrant:
A. M | D. IV
B. I E. None
C. 11

9. Write the letter of the correct answer on the answer sheet. The point
(6, Q) lies in quadrant: '

A, T L. 1v

B. 1 ~ E. None
c. 1m




10,

L1.

le.

13,

Solve

‘19.

20.

TRUE or FALSE: The point (5, 0) lics on the y-axis.

TRUK or FALSE: The point 1{0, 9) lies on the x-axis.
TRUE or FALSE: The point P(&,1) lies in quadrant 11if a < 0.
COMPLETION: In -:(13 the number is the

A subscript.

cach of the equations in numbers 14~16 for y in terms of x.

4y = 3x - |
3x+ 2v =0
8x + Jy = 0

Consider the equation 5x - 3y + 2= 0. I x= 2, theny =

C—i‘aph the following points and label them properly. Use the Cartesian

System on your answer sheet. ALL must be plotted correctly.
A. A(3,-2) C. C(0, ~3)

B. Bi6,0) D. D(-z,-3)

Using the Cartesian Systemn given on your answer sheet, graph the

the equation 2x + y + 3 = 0. Use the chart method. Cumplete the
chart that appears on your answer sheet.

Examine the graph given below. What is the x~intercept of the line?

-

I,
2% R
]
R TSNS SRR S S

-~
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(™)
4

21,

22.
23.

24.

25.

26.

28.

What is the y-intercept of the graph of the line whose equation
is 2x 4 Ty 414 = 00

Graph the line whose equation is x = -3 in the given system.

Graph the line whose equation is y = 4 on the given Cartesian System.

COMPLETION: : is the equation of the
' y-axis.

Which of the following are linear? Write the letter preceding the
correct answer on the answer sheet. -~

AL y = od4x b 2 : D. 3x-4-y+6=0
B. y = 5% E. None of these.

6x2 4+ 4% + 3

O
)
H

What is the slope of the line given by the graph below?

e P . e
I | it
i } I | i

o

RN ; ,
i )

7

/ - !

-~

Jor

<
8

f
P

i
-+

H

N

!

YA T
(@)
e
b
>

HR i
y .

What is’ tl).e'slopé: of line AE: if A has the coordinaztes (3, -2) and
B has the coordinates (5,-7) ?

Which of the lines defined by the equations below have-no slope defined
for it? Write the letter of the correct answer on the answer sheet.
A, x=6 : : C. 3x- % 4+ 5=0

B. y=5 - _ . D. All of the above have
' - slopes defined.
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UNIT IX Graphs and Sentencss in Two Variables PART 1
Test C

DIRECTIONS: Do not write on this test booklet. Do all scratch work on the

paper provided for this purpose. Place your answers on the answer sheet. Do
not spend too much time on any one problem.

Fill in each numbered blank with the letter preéeding the word from the
following list that makes each sentence correct.

A. ordered pair, F. abscissa

B. quadrant G. variable
C. coordinate axes H. point
D. coordinates ordinate
E. origin . J. line
The majnr horizontal and vertical lines in a Cartesian Axis Systen: are
called (1) . The point where they intersect is called the
(2) of the system. Each point in the plane is located by
attarching two numbers to it called the (3) : of the point. These
two numbers are usually written so that the order is important. Hence, the
pair is called a(n) (4) . The first nr_aber of the pair is called
the (5) of the point and the second number is called the
(6) _._of the point. The plane is divided into four principal
regions by the major lines. Each of these regions is called a(n) ___(7j .

8. Wnte the letter of the correct answex on the answsz sheet. The point
A(8,-2) lies in quadrant:

A. 1 D. 1V
B. 11 E. Mone
c. ul

9. Write the letter of the corrzact answer on the answer sheet. The point
B(0, -5) lies 1n quadrant:

A. 1 | : D. IV
B. I o | E. None
C. I |
'10. TRUE or FALSE: The point G(-3, 0) lies on the x-axis.

.—
m

1

L
Yy

B-
1




“1l.. . TRUE or FALSE: The point I(0, O'j lies in the x-axis.

12. TRUE or FALSE: The point P(-3,a)lies in.quadrantIl if a <0. ..
13. COMPLETION: Consider the expression .x3"‘. The
. number , is the sub-sc_ript'.-

Solve each of the equations in numbers 14 through 16 for y in terms of x.
14, 3y = 2x + )
15, 3x-~3v+1=20

16, 10x+4 3y-4=0

17. Consider the equation 5x - 3v + 2= 0. Ifx= 5, theny =

18. Graph the following points and label them properly. Use the Cartesian
System given on your answer sheet. All must be plotted properly. .
A.  A(-5.1) | C. C(0,-3)
B. B(3, 0) D. D(-1,-2)

19.  Using the Cartesian System given on your answer sheet, graph the

equation 2x - y - 1 = 0. Use the chart method. Complete the chart
that appears.on your answer sheet.

20. Examiﬁe the graph given below. What is the y-intercept of the line?
A {
6
N —e
- i )
N ) '
' < 1 1/ .

) .JL // 'ah r ' 2 ]

. L N,.ﬂ.#m...._-.f. o e b ' ’l ..,......“.,.....

ARRRERRC2ANE RN
21.  What is the y-interc'ept of the graph of the line whose equatlion is

2x -3y + 5=07? : '
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25.

26.

27.

28.

CGiraph the line whose cquation is y = -3 in the piven system.
CGiraph the line whose equation is x = 3 on the given Cariesian System.

COMPLETION: is the equation of the

St

y-axis.

Which one or ones of the following equations is (2re) linear? Write
the letter preceding the correct answer(s) on the answer sheet.

i

A y= 2%+ 1 C. 2x - 3y + 4= 0

2 2
5% « 4x 4 3 D. y = bx

it

B. vy

What is the slope of the line given by the graph below?

I - — ' R e & e ’
A
_/L-)
' AN
— b X
- b
N
TN
L 4
i T

What is the slope of the line AB if A has the coordinates (-4, -2) and
B(5.8) ? '

Which of lines defined by the equations belcw has no slope deiined for

. it? Write the letter of the correct answer on your answer sheet.

A. y= 2 C. x= 4
B. 2% - 3y + 5= 0 . D.  All of the above have
' slopes.

1386
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UNIT IX Graphs and Sentences in Two Variables PART I
Test D

DIRECTIONS: = Do not write on this teat booklet. Do all scratch work on
the paper provided for this purpose. Place your answers on the answer sheet.
Do not spend too much time on any one problem.

Fill in each numbered hlank with the letter preceding the word frora the
following list that inakes each sentence correct.

A, origin F. point

B. coordinate axes G. quadrant

C. variable H. ordinate

D. ordered pair ' I. line

E. abscissa J. coordinates

The major horizontal and vertical lines in a Cartesian Axis System are

called (1) . The point where they intersect is called the
(2) of the system. Each point in the plane is located by

attaching two numbers to it called the (3) ~of the point.

These two numhers are usually written so that the order ies important. Hence,

the pair is called a(n) (4) . The first number of the pair is

called the (5) of the point, and the second number is called

the . (6) of the point. The plane is divided into four

principal regions by the major lines. Each of these regions is called
a(n) (7)

8. Write the letter of the correct answer on the answer sheet. The point
- B(3, V) lies in quadrant:
A, 1 D, IV
B. I | - E. None
C. 1

9. Write the letter of the correct answer on the answer sheet. The point
A(=3,-5) lies in quadrant: '

A 1 D v
B II o E None
C I

) B-121




10, TRUE or FALSE: The point C(0, 3) lies on the x-axis.

11. TRUE or FALSE: The point A(U, 0) lies on the y-axis.
12. TRUE or FALSE: The point P(5, a) lics in quadrant IJ if a < 0.
13. COMPLETION Consider the expression x4’. The number

is the subscript.

[n Problems 14-16, solve each of the equations for y in terins of x.

6x - 1

l4. Sy
15, 3w -2y + 5= 0

16, Ox + 4y - 9 = O

17. Consider the equation 7x - 2y + 5= 0. 1f x = 3, then y =

g” 18. Graph the following points and label them properly. Use the Cartesian
S System given on your answer sheet. All must be plotted properly.

A. A(-6,-5) C. C(0,2)

5. B(-3,4) D. D(-5, 0)

19. Using the Cartesian System given on your answer sheet, graph the
equation x + 2y = 3. Use the chart method. Complete the chart that
appears on your answer sheet.

20, Examine the graph given below. What is the y-intercept of the line?

g e i g -...,,._..i 4 (5)7 T_.E
4

-4 REt
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21,

22.

26.

21.

28.

What is the y-intercept of the graph of the line whose equation is
T = By + 4= 72

Graph the line whose equation is y = -3 on the given Cartesian
System.

Graph the line whose equation is x
TRUE or FALSE: x = 0 is the equation of the y-axis.

Which one or ones of the following equations is (are) linear? Write
the letier of the correct answer(s) on the answer sheet.

A. y = 4x + 2 C. 2y + 3x = 1

2

B. y= 3" -1 D.  None of these.

What is the slope of the line given by the graph below?

L2 "'"}
et
L ]! 1
T
- >
RN
%»-«L-—%—- e gy

| <> "
What is the slope of the line AB if A has the coordinates A(4, -2)
and B has the coordinates (6,8) ?

Which of the lines defined by the equations below have no slope defined

for it? Write the letter(s) of the correct answer(s) on your answer
sheet.

A. y=5 . C. x= -2
B. 3x + 2y = 7 o D. All of the above have
' slopes.
B-123
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UNIT IX

NAME

Graphs and Sentences in Two Variables

TEACHER

SCORE

12.

13.

14.
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PART I

Test A B C D

SECTION
DATE
PERIOD
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x
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20.
2l.

22.

23.

24,
25.
26.
27.

28.
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i
z
L
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R
v
)
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s

UNIT 1X

Graphs and Sentences in Two Variables

FPART 11
DIRECTIONS:

Test A

Place all answers on the answer sheet provided to you
not write on this test booklet.
this purpose.

. Do

Do all acratch work on the paper provided for
Do not spend too much time on any one problem

1. COMPLETION:

If a line runs downhili from left to right, its slope
is

(negative, positive).
Plot the line determined by the points C(=3,2) and D(2, 0) on the given
system.

3. What is the slope of the line whose equation is y=3x-12%
4. What is the slope of the line whose equation is 3x + 2y - 6
5.

Plot the line through the pomt A(2, -1) with slope m =
system.

3 on the given
6. Plot the line whose y-intercept is ~2 and whose slope is -1 on the
given system.
7. Plot the line whose equation is y = 3x - 2 on the given system
8. Plot the line whose equation is 2x - 3y + 6 = 0 on the given system.
9. A line has a slﬁpe of -2 and a y-intercept of +1
10.

: Write its equation.
4 line has a slope of +3 and goes through A(2,1).

Write its equation.
11. A line is determined by the two pomts A(-3,2) and B(Z, -3). Write
its equation.
12. Graph the inequality x > 2 on the given system.
13. Graph the inequality y < 1 on the given system.
14.

Graph the inequality % - y<1 on the given system
1 5 L]

Graph y = xz on the given system.
16.

Plot both of the lines whose equations are given below on the same given
set of axes and determine the common solution, if one exists
5k -y=-9=0

x+y=-3=0
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17. Consider the system of equations:
i/ y= -2x+1 and 5x+ 3y=5
Find the common solution to the system, if one exists.
18. Find the commbon solution to the following system C;f equations, if
one exists.
2x - by = 4.
3x + 4y = =17 )

19. EVALUATE: l 4 3 |
2 1
2. EVALUATE: -2 3 ]
-1 5
2l. Consider the system: 5x - 2y + 3 = v
ix - 1ly+ 9= 0
The expression: 5 -3
. 2 _9
. 5 -2
- 2 =1

»

gives the . (x or y) value of the common solution.
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UNIT IX Graphs and Sentences in Two Variables PART I
Toat B

DIRECTIONS: Flace all answers on the answer sheet provided to you. Do
not write on this test booklet. Do all scratchwork on the paper provided for
this purpose. Do not spend too much time on any one problem.

1. COMPLETION: If a line runs uphill from left to right, its slope is
(positive, negative).

2. Plot the line determined by the points C(-3,1) and D(3, 0) on the given
system. ‘

3. What is the slope of the line whose equationis y = 5x -1 ?
4. What is the slope of the line whose equationis 4x + 3y - 0= ( ?

5. 'Plot the line through the point A(3, -1) with slope m = -34 on the
given system.

6. Plot the line whose y-intercept is -3 and whose slope is -1.

7. Dlot the line whose equation is y = 2x - 3.

8. Plot the line wlf;ose equation is 2x - 3y + 6= C,

9. A line has a slope of -2 and a y-intercept of Z. Write its equation.

10. A line has a siope of 3 and goes through‘the point C(3,1)., Write its
equation. .

11. A line is determined by the two points A(-3,2) and B(2,-3). Write |
its equation.

12. Graph the inequality x > 3 on the given system.
13. Graph the inequality y < -1 on the given system.

14. Graph the inequality x - y< i on the given system.

15, Graphy= xz on the given system.

l6. Plot both of the lines whose equations 2re given below on the same given
set of axes i#nd determine the common solution if one exists.

5x-y-9= ¢
2x+y-5=0




17.

18.

20.

2l.

Consider the syatem of equations y = -2x + 7 and 2x + Jy = 13,
Find the common solution if one exists.

Find the common solution to the following system if one exists.
2x - by = 4 |
3x + dy = =1/

EVALUATE: 1 4
c 8
EVALUATE: -3 3
-1 4
Consider the system: Tx+ 2y+ 3= 0
2x+ ly+ 9= ¢
The expreséion: - t? -3
12 -9
7 Zl
e 1
gives the _ __ (x or y) value of the common solution.
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UNIT IX | Graphs and Sentences in Two Variables PART I

Test C

DIRECTIONS: Place all answers on the answer sheet provided to you. Do
nct write on this test booklet. Do all scratch work on the paper provided for
this purpese. Da not spend too much time on any one problem.

1.

10.

11.

12.
13,
14.

15,

16.

COMPLETION: If a line runs downhill from left to right, its slope is
(negative, positive).

Plot the line determined by the points C(-1,3) and D(2, -2) on the given
system.

What is the slope of the line whose equation is y = -2x + 57
What is the slope of the line whose eqﬁation is5x+ 3y + 9= 07

Plot the line through the point B(-2, 3) with a slope of -:1;- on the
given system.

Plot the line whose y-intercept is 2 and whose slope is -2 on the given
system. -

Plot the line whose equation is y = 2x + 4 on the given system.
Plot the line whose equation is 3x - 4y + 8 = 0 on the given system.
A line has a slope of 4 and a y-intercept of -3. Write its equation.

A line has a slope of -2 and goes through C(1,3). Write its equation.
¢

_ a
A line is determined by the two points C(0,-2) and D(3, 4). Write its

equation.

Graph the ineqﬁality y<=-1on the given system.
Graph the inequality x > 3 on the givexi system.
Graph the inequality 2x - y > 2 on the given system.
Graph y= xz on the given system.

Plot both of the lines whose equations are given below on the same given
set of axes and determine the common solution, i€ one exists.

2x+y=~-1=0

X+ y-»3='0

B-130
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17.

18.

19.

20.

21"

i

Consider the system of equationas:

2x - 3ya 1l and
4y = 3x - 7

Find the common solution to the system, if one exists.

Find the common solution to

exists.

3x+ 2y = 5 and

XxX=-y=5
EVALUATE: 4 .2
lo 3
EVALUATE: |-6 -1'
4 3

Consider the system:

the following system of equations, if one

2x+ y-1= 0 and
5x+ 3y - 5= 0

)
3

The expression: 1
5
2
5
gives the

)
3

(x or y) value of the common solution.

'B-131
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UNIT IX Graphs and Sentences in Two Variables PART II
Tast D

DIRECTIONS: Do not write on this test booklet. Do all scratch work on
the paper provided for this purpose. Place your answers on the answer
sheet. D)o not apernd too much time on any one provlem.

1. COMPLETION: If aline runs uphill from left to right, its slope is
(positive, negative).

2. Plot the line determined by the points C(~3,4) and D(4, 0) on the given
system.

3. What is the slope of the line whose equationisy= T™x -1 ?
4. What is the slope of the lin¢ whose equationis 3x + 5y -8= 07

5. Plot the line through the point A(3, -1) with slope m = 4 ou: the given
 system. ' 3

6. Plot the line whose y-inte.rcept is -2 and whose slope is -2.
7. Plot the line whore equation is y = 4x - 2.
8. Plot fhe line whose equation is 4x - 3y + 9= 0.
9. A line has slopem = -3 and y-interceﬁt. -5. Write its equation.
10. | A line has slope m = S'and contains the point A(4,1). Write its equation.

il. A line is determined by the two points A(-5,2) and B(-2, 0).
Write its equation.

12. Graph the inequality x > 1 on the given system.

13. 'Gi-aph the inequality y < 3 on the given system.

14, ’Graph' the inequality x - y <3 on the given system.

15. Graphy= :.:z on the given system.

16. Plot both of the lines whose equations are given bglow on the same set
of axes and de,fermine the common solution if one exists.

' 2x+ y-5=0
ﬂ‘/ . | 5x-y-2=,0

- B-l132
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17. Consider the system of equations y = -2x +9 and2x + 3y = 19,
"_, Find the common solution if one exists.

18. Find the comimon solution to the following system if one exists.

2x - 5y = 6
3 -4y=9
19. EVALUATE: 7 8 l
3 5
20. EVALUATE: -4 4
2 -3
21. Consider the system: x+2y+ 3 =0
2x+ 7y + 9= 0
The expression [~3 2
-9 7
l 7 z,
2 7
gives the (x or y) value of the common solution.
g . |
B-133
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JINIT X The Real Numbers

PART 1
Test A

DIRECTIONS: Do not write on this test booklet. Place all answers on the

answer sheet provided to you.

problem.

1.

| Find a number between L and

Do not spend too much time on any one

Which of the following are not rational numbers? Write the letter(s) of

the correct answer(s) on the answer. sheet.

A. 3 F. .53

B. £ G. N3
C. --?’- H J8
D. J° 9 1. rz7
E. .15,

Arrazige the following nurnbers in ascending order.
3 4 |

5 7

1
8 9

Which of the following numbers are periodic?

B. 1.83333323 _ D. «7515...

Express as a fraction in lowest terms 47 .

by the average method.

TRUE or FALSE: All rational nuinbers are also whole numbers.
COMPLETION: A rational number is the
| ‘two integers.

COMPLETION: .45 written as a rational number in simplest

' _form is .
Write the letter of the correct answer on the answer sheet. If aand b
are real numbers, then exactly one of the following is true: a>Db,
a<b, ora = b. This is a statement of the: -
‘A.  Trichotomy Principle ' C. Reflexive Property
B. - Denaity Property D. Distributive Property

B-136
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10.
11.
12.

13.

TRUE ov FALSE: .Every rational number can be written &s a
finite decimal.

COMPLETION: N 97 names a number which when squared
gives .
COMPLETION: In U5, 71is called the

Which of the following do NOT name a real number? Write the letter(s)
of the correct answer(s) on the answer sheet. '

A. N16 c. N5
B. -1

Simplify Problems 14-33.

l4l

15.»

160

17.

' 18-

19.

20.

- 21,

22.

23.

24,

25,

(N )2

(NTE )2, where d > 0.
(W) (NT)
(53T ) INT)
NGB

NZ

J 100zZ . |

=

W
kg
(V)
-3

d

49x%y°




26,
27,
| 28.
29.
30,
31.

32.

33.
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?v‘*
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UNIT X The Real Numbers PART 1

Test B

DIRECTIONS: Co not write on this test booklet. Place all answers on the
answer sheet provided to you. Lo not spend too much time on any one problem.

. Arrange the following numbers in ascendihg order. 2 ’

Which of the following are rational numbers? Write the letter(s) of the
correct answer(s) on the answer sheet.

A. 3 o ~ F. 13
B, 2 G. +«8
.3 4
H. N27
3 | <

G -7 I. .76
'D. N9
E. 6;

ib

7

~ Find a number between L and % b§ the average method.

7
Which of the following_numberé are periodic? Write the letier(s) of the
correct answer(s) on the answer sheet.
A. CLT7773 ‘ - C. 6..363”
B. .626262... | D. 1.6777

Express as a'fraci_:ion in lowest terms .7 .

COMPLETION: A rational number is the of two
‘ integers.

C'OMPL'ETION.: .67 written as a rational number in simplest form
. i' ) .

TRUE or FALSE: Al whole‘numbe_re“are' rational x.n';'mbers_.



10.

11.

la.

13.

Write the letter of the correct answer on the answer sheet. Ifaand b
are real numbers, then exactly one of the following is true: a > b,

~a<b, ora= b. This is a statement of the:

A. Density Property C. Distributive Property
B. Reflexive Property . D. Trichotomy Principle
TRUE or FALSE: Every rational number can be written as a finite
decimal.
COMPLETION: 57 names a number which when squared
gives .
COMPLETICON: In 7~l 5 , the index is ‘

Which of the following do not name a real number? Write the letter(s)
of the correct answer(s) on n the answer sheet. ,

A, NI e, NT
B. WZF "

Simplify Problems 14-33.

14.

. 15.

16.

17

18.

19.

20.

2l.

22.

(NT)°

('Jﬁ >, where d> 0
(NBY(NT)
(3N21)(@N2)

N 10

N2

«/1443

1

575

J64ax
N18
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23, 4748
| J__?_
24, 25
25. 5
—
26. A 5
27. (N B)(NB8B)
,
28. (3N7Y)
29. "\/_sz
| 5
30. 3
31. N (5xy)2
v Ji/ Z—a-i
32. 3
Ny
A x

33.




UNIT X The Real Numbers " PART I

Test C

DIRECTIONS: Do not write on this test booklet. Place all answers on the
answer sheet provided to you. Do not spend too much time on any one problem.

Which of the following are not rational numbers? Write the letter(a)
of tae correct answer(s) on the answer sheet.

A, 4 F. N7
3
B. -.;' , G. rJZ?
5 :
C. "9 H. 5
D. N49 I. .62
E. .74

®fw

Arrange the following numbers in ascending crder. :,2- ,

N

" Fird a number between = and i— by the average method.

Which of the following numbezs «re nct periodic? Write the letter(s)
of t  correct answer(s) o:i: the answer sheet.

A. .7773 | | C. 6.363

"B.  .626262... D. 1.6777

Express as a fraction in lowest terms .45 .

COMPLETION: .65 written as a rational number in simplest form

v . is _ .
COMPLETION: A rational number is the ____ _oftwo
B ‘ integers. : :
TRUE or'FA_LSE: © AR #atig-ga_l\ n\imbgfl are also whole numbers.
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10.

ll'

12.

13.

Write the letter of the correct answer on the answer shhet. Ifaand b
are real numbeore, then exactly one of the following is true: a >b,
a<bora= b. This is a statement of the:

A, Distributive Property C. Reflexive Property.
B. Trichotomy Principle D. Density Property
TRUE or FALSE: Every rational number can be written as a

finite decimal.

COMFLETION: 73 names a number which when squared gives

COMPLETION: In 5~l 8 , the radicand is .

Which of the following do not name a real number? Write the letter(s)
of the correct answer(s) on the answer sheet.

Ao ‘J 36 ’ C« N] -l
B. N2 | D. All of the above are real
nambsrs.

Simplify Problems 14-33,

- 14,

15.
16.

17.

18,
19.
20.

2l.

22.

TERY
(VT2 ) where x3 0
(NTIWE)
(4NT5) 2N 2)

——/stm———

NT

B-143
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3 24

?c)

2

c)(
y)

(4

(

27
28.

lla2

1

29.

“Ta

>

30.
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UNIT X The Real Numbers PART 1
Test D

DIRECTIONS: Do not write on this test booklet. Place all answers on the
answer sheet provided to you. Do not spend too much time on any one
problem. :

1. . Which of the following are rational aumbers? Write the letter(s) of
the correct answer(s) on the answer sheet.

Ao 4 ’ FO q 7
3

B. 7 G. N27
¥ -

C. 9 H. 5

p. N&§ | I. .62

E. .74

2. Arrange the following numbers in éecendihg order. % ; 'g'

3. Find a number between % aad % by the average method.

4. Which of the following numbers are periodic? Write the letter(s) of
ths correct answer(s) on the answer sheet.

A, 113 | . C. 1.333

B. .727272... D. 1.272

5. Express as a fraction in lowéat terms .5 .

B 6. COMPLETION: .37 written as a rational number in simplest form |

7. COMPLETION: A rational number is the 2 oftwo =
: “integers. :
8. TRUE or FALSE: . All whole nhmbers a?e;'ﬁlao rational numbers. |
'B-145
221




10.

11,

12.

13.

Write the letter of the correct answer on the answer sheet. Ifa andbd
are real numbers, then exactly one of the following is true: a >b, .
a<bora= b, This is a statement of the:

A. Density Property C.  Trichotomy Principle
B. Distributive Property D. Reflexive Property
TRUE or FALSE: Every rational number can be written 2sa

finite decimal.

COMPLETION: In o T9", 19isthe .

‘COMPI.;ETION: N 52 names a number whica when squared gives

Which of the following does not name a real number? Write the letter(s)

of this correct answer{(s) on the answer sheet.

A, -3 : €. NB
B. 4«49 . | D. All of the above are real
numbers.

Simplify Problems 14-33,

14.

15,

16'

17,

18.
19,

20.

21,

ZZ. :

K

(NE)

(N 3;.)2. wher;azo e
(NZ)(NB)

BNTYONT)

J14

4

N
=

4

BIazbz

5
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23.

24.

25,
26.
27.
- 28.
. 29.
30.

. 31.

32.

33.
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UNIT X The Real Numbers PART II
Test A
‘g’ DIRECTIONS: Do not write on the test booklet. Place all answers on the

paper provided. Do not spend too much time on any one problem.

1. Write the letter(s) of the correct answer(s) on the answer sheet.
Which of the following terms are similar?

A. NTF | D. 1742
q B. N2 ' . E. 2T
C. 3(/“3“

Sifnplify Problemns 2-8.

2. 4N + 3NZ

3. N22 + 3411 - 8 NI

4. 543 + 643 - 25

5. 5NZ2 + 348

6. 2~N12 - N 27

7. (NT+ NEI(NT - NB)

8. (1 - N3)(@ - 343

é. Write tke conjugé.te of 3 -~ 13
10. Write the cénjuga.te of N T+ N5

11.  Simplify by rationalizing the denominator. 5
| ' 1 + N2

12. Simplify by ’rationaliz_ing the denqminator. '\/_3_ + rs[T - .

. B-149
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Simplify Problems 13-19.
13. (<2~ a) (6 ab)

14.  152%b

15. %»\lsa . N 1Za

Saz
[T
17. 2a
2
ks
18. 3x
N Bx_
19. A2z
- Solve and check for extraneous roots in Problems 20-22.
o 20. Nx =5
2l1. Nx+5 =3
= 4

22. NX +17:




UNIT X The Real Numbers , PART II
Test B

DIRECTIONS: Do not write on the test booklet. FPlace all answers on the
paper provided. Do not spend too much time on any one problem.

1. On the answer sheet, write the letter(s) of the correct answer(s).
Which of the following terms are similar?

A. B D. 7N5
_ , -
B. N2 _ E. 5A7
C. 2N3

Simplify Problems 2-8.

2. 7J5 - 345

3. N3 - 6T + 2N

4, 4NT + INT 4 10NT

5. 1247 - 24NTE

6. 3:50 + 748 |
1. (N - NT)INT + NT)
8. (2-NZ2)(3-372)

. 9. Write the conjugate of 9 + '\‘, 10 .

_"1»'_'0 .- Write the cbnjugate of N3 - N5 ;
, _ .

11. Simplify by rationalizing the denominator. —
- T S IR i O
_..12..._ Simplify by rationalizing the denominator, ——<—— .

. am

"~
f

o

i\




Simplify Problems 13-19. |

13, (3NC) (=5~ cd)

14. «/'Zlmzn

15, %\IIBx - N 2x

_ 7r2

16. 2

JZ'
4t

17.

18. 4b
N 18g .

19. ~N2h

Solve and check for exiraneous roots in Problems 20-22. "

20. Ny =17
2l. Nm-3 = 4
22. Ny +3=1

- 'B-152
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UNIT X

b

DIRECTIONS:
paper provided.

The Real Numbers

Do not write on the test booklet.
Do not spend too much time on any one problem.

PART II
Test C

Place all answers on the

On the answer sheet, write the lotter(s) of the correct answer(s).

Which of the following terms are similar?

A, 5 D
B. ~N73 | E.
C. 3NF

Simplify Problems 2-8.

10.

11'0

12,

58 - 2WE
NT - 1287 + 9NT
36 - 8N2 + 542
6N3 + 22T

10N20 + 345

(NE = NZ)(NE + NT)

BHNT) @+ 2NE)

‘Write the conjugate of V11 - 4

Write the conjugate of NZ + N3

‘Simplify byi rationalizin3 the denominator.

Simplify by rationalizing the denominator

B-153
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Simplify Problems 13-19,

)~ -
13. (-4Nx) (3N =xy)
14, «/6m2n
15 % 24r - A 2r
/ el
16. 2
5 _
17 3m
_ 16m.i
18. €n
N Z7L
19 N 3x
Solve and check for extraneous roots in Problems 20-22.
20, Nm =3
2. Nr+6 =8
22. Ny +9=2

. B-154
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UNIT X " The Real Numbers PART Ul
Test D
§-
DIRECTIONS: Do not write on the test booklet. Place all answers on the
paper provided. Do not spend too much time on any one problem.

1. On the answer sheet, write the letter(s) of the correct answer(s)
Which of the following tcrms are similar?

A, JIT | D. 273
B. 7 - E. 543
C. 3VzZ

‘3implify Problems 2-8.
z. 8ANTII - 124‘17’
3, 42 4+ 3J2 - N2
4. 3T - INT + 3NTF
T- 5 124F- 74E

6. 10NE + 34125

7. (N2 + VT )(INZ -~NT)
8. (Zsf_':—- 3)('\/-3_—-

9. Write the conjugate of N7 + 5.

i0.  Write the conjugate of \' 2 - 11

11. Simplify by rationalizing the denominator. —=
| ' N3 - 2
12. Simplify by r'atiqnanzing the denominator. [
| | 5 S 1T - W2

B-155
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Simplify Problems 13-19.

13. (-4Vm) (3Vmn)
14, 14xyz

15. % V182 * N 3a
16. 3

/.5_
17. x
18. « 5b°

19. N 2b

20, Na =10
21. Nc-3 =2

22. Ny +5=

. Be15¢




UNIT X The Real Numbers v PART I1

> TestA B C D
) NAME SECTION
TEACHER DATE
SCORE | PERIOD
1. 12.
2 | 13
3 14.
4. 15.
5. . 16.
6. . | : 17.
1. | 18.
zr - 8. 19.
9. | - 20.
10. - | o 21.
11, | = .22,

B-157
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| DIRECTIONS: Do not write on this test booklet. Place all answers on

UNIT XI Relations, Functions and Variations ' Test A

the answer sheet provided to you. Do not spend too much time on any one
problem. ' ' '

1. A ' (relation, function) is a set of ordered pairs
whose first coordinates are all different.

Questions 2-5 refer to the relation whose table of values is given below.

%X 1 2 3 4
y 1 0 [ 2
2. What is the demain of this relation?
3. What is the range of this relation?

4. On the answer sheet, write the letter(s) of the following ordered
pairs which are coordinates of points on the graph of this relation.

A, (0,2) c. (3.2)
B. (3,1) | | D. (2;4)

5.. "Which one of the following is a formula for the relation? On your
' answer sheet write the letter of the correct answer. _ '

-A.v'y

i

l2 - x| C. y'=f(:'c_-;zt)2 .
B. y= 2 - x - D. y=x-2

Questions 6-8 refer to the relation whose graph'is shown below.
. J

b‘ {

4|

2| .

&L

o —L iy \
) 8345 \




:gﬂ.\
i~

6. 'TRUE or_FAI.SE:‘ This relation is a function.

7. The domain of the relation is: (On your answer sheet write the letter
of the correct answer.)

A. {1} C. {real numbers between 1 and 3 inclusive}
B. {1, 4} D. {real numbers between 1 and 4 inciusive}

8. The range of the relation is: (On your answer sheet write the letter
of the correct answer.)

A, {1} C. {real numbers bztween 1 and 3 inclusive}
B. (1,3} D. {real numbers between 1 and 4 inclusive}
9. TRUE or FALSE: {(4,9), (5,8), (4,-5), (3,8)} is a function?

Give the missing information for each of the functions below.

Domain Range ' Formula
10. {1 3.u1 ‘ ? Y= 2x'3
11, ? {1,3,5y 'y= 2x - 1

12. If y varies directly as x in the roster below, state a formula giving
y in terms of x:

x 2 4 8
12 24

o
-

13. Using the same roster as in aumber 12, what is the}cbnstant of
proportionality?

| 14, If y varies directly as x, and y. =6 who':i x = 5, what is y when x = 6?

15, The elongation of a apring varies directiy as the stfotching force. If
1¢ pounds stretches a apring 8 inches, what force will stretch it
9 inches?

CQuestions 16-19 refer to the sentence ; = :i- . For each expression in the

leftr hand column, choose the a.pproprxate answer in the right-ha.nd column. '

B-159
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16.

17.
1.
19.

20.

21,

a (o
== and — A extremes

b d

a .. ¢ ,

5 1 B. means
aandd C. proportion
band ¢ ' D. ratios

The length of the shadow of an object varies directly as his height.
If a 6 foot man casts a 4 foot shadow, how high is a building which

-casts a 120 foot shadow at the same hour?

X+1  2X+4 7
2X -7 X -1

Solve far X

Questions 22-24: For each statement in the left~-hand column, write the

22,
23,

24.

25,

26.

letter of the correct formula in the right-hand column on your answer sheet.

_ 1 v
y varies directly as - A. y = kx
< sl 2 k
y varies inversely as x B. Y=
: . . 2 : k
xy varies directly as x C. y= "3
' 4
Zv
D. y= kx
If y varies inversely as x and y = 6 when x = 7, what is y when
TRUE or FAISE: The drawing below is the graph 6f a direct
: , "~ variation? : :
/|

b

\1 4
!




el If the table of values defines an inverse variation, then a =

e t——— i« 10

2
4

oy LY

N
Ca
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UNIT XI Relations, Functions and Variation Test B

DIRECTIONS: Do not write on this test booklet. Place all answers on
the answer sheet provided to you. Do not spend too much time on any one
problem.

1. A function is a set of ordered pairs whose (first, second)
coordinates are all different.

Questions 2-5 refer to the relation whose table of values is given below.

1 |

x !2 3 4
y |1 0

2. What is the domain of this relation?

3. What is the range of this relation?

4. Which of the fcllowing ordered pairs are coordinates of points on the
graph of this relation? Wr1te the letter(s) of the COrrect answer(s)
on your answer sheet.

L c. (1)
CB.  (3,2) | D. {0,2)

5. Wh1ch of the following is a formula for the relation? 'Write the letter
of the correct answer on your answer sheet. b

ALy 2 - x ' C. y= (2- 2)2

B. vy X -2

]
H

2 -x | , | D. vy

* Questions 6-8 refer to the relation whose graph is shown below.

4

)r\

:
| 1T
+-4-

9.%24 6

'o—wm%m'

B-162
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6. TRUE or FALSE: . - This relationis a-function.

yv 7. ‘The domain of the relation is: (On your answer sheet write.the letter
of the correct answer.)

A, {1} C. {real numbers between 1 and 3 including 1}
B. {1,3} D. {real numbers between 1 and 4 including 4}

8. The range of the relationis: (On ydur answer sheet write the letter of
of the correct answer.)

A. {1} C. {real numbers Letween 1 and 3 inclusive}
{1, 4} D. {real numbers between ! and 4 inclusive}
9. TRUE or FALSE: {(4,9), (5,8), (3,5), (4, 1)} is a function.

_ Give the missing information for each of the functions below.

Domain Kange _ Formula.
10. {1,3,5) ? y=2x-3
( -~ 11, ? _ {1, 3,5} y=2x-1

. 12. If y varies directly as x in the roster below, state a formula giving y
in terms of x.

x 6 3v‘
Yy | 24 | 12| 4

13. Using the same roster as in number 12, what is the constant of
proportionality?

14. ¥y v,arie directly as x, and y = 6 whenx = 7, what is y when x = 67

, _ 15. The elongatmn of a spring varies directly as the stretching force. If
7 - 12 pounds stretches the spring 8 inches, what force will stretch it
D ’ 9 inches?

Questions 16-19 refer to the sentence -.:-, = -§ . .For each expression in the

left-hand column, write the letter of the correct answer from the right-hand
column of your answer sheet ' :

 B-163
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16,

17.

18.
19.

AV

2l.

a c
b and ) A. means

a C .

b and d B. proportion
aandd (o ratios

b and ¢ D. extrerne‘s

The length of the shadow of an object varies directly as his height. If a
8ix foot man casts a 5 foot shadow, how high is a building which casts a
12¢ foot shadow at the same hour.

: a+l 2a + 1
Solve for a: a7 P

Qﬁestions 22-24;: For each statement in the left hand column, write the letter

22.

23.

. 25.

26.

- of the correct formula in the right-hand column on your answer sheet.

y varies directly as xz' 4 A. v = kx
: . . 2 k
xy varies directly as x ' B. Y= 5
. 1 - K
y varies directly as % . C. y= =2
x
D. y= 'kx&

If y varies inversely as x and y = 6 when :z = 1(, what is y when x = 3?

TRUE or FALSE: The drawing below is the graph of a direct
: - variation. R

B-164
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27. If the table defines an inverse variation then a =

-1

RAK
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UNIT XI Relations, Functions and Variation Test C

DIRECTIONS: Do not write on this test booklet. Place all answers on
the answer sheet provided to you. Do not spend too much time on any one
problem. ' '

1. A (relation, function) is a set of ordered pairs
whose first coordinates are all different. '

Questions 2-5 refer to the relation whose table of values is given below.

X 0 1 2 3
vy 2 1

2. What is .the domain of this relation?

3. What is the range of this relation?

4. . Which of the following ordered pairs are coordinates of points-on the
graph of this relation? Write the letter(s) of the correct answer(s)
on your answer sheet. '

A.  (0,2) | C. (3,2)
‘B. (3,1) | . D.  (2,4)

5. Which one of the following is a formula for the relation? Write the
letter of the correct answer on your answer sheet.

2 .
A, y={x-2)" ’ - C. y= 2-x
B. y= x-2 R PR P
Quesfions 6-8 réfer to the relation whose graph is shown below.
'_ i ;ﬁl  voer
2§

N 1




6. TRUE or FALSE: This relation is a function.

?' 7. Write the letter of the correct answer on your answer sheet.
The domain of the relation is: :

A, {1} C. {real numbers between 1 and 4 inclusive}
B. (1,4} D. {real numbers between 1 and 3 inclusive}

8. Write the letter of the correct answer on your answer aheet
- The range of the relation is:

c A {1} C. {real numbers between 1 and 3 inclusive}
B. (1,3} D. {real numbers between 1 and 4 inclusive}
9. TRUE or FALSE: The set {(4,9) (5,8) (4,-6) (5,7)} is a function.

- Give the missing infcrmation for each of the functions below.

Domain v Range Formula
10. {1,3,5} | 7 y=3x-2
{~ . 11 ? . {2,5,8} y= 3x-1

12. If y varies directly as x in the roster below, state a forrnula giving y in
' terms of x: :

.ixZ
'y

—
O |

L

b
’w o~

13. Using the same roster as in Problem 12, what is the constant of
proportionality? :

14, If y varies directly as x, and y = 5, when x = 4, what is y where x = 8 7

15. The elongation of a spring varies directly as a'strefching force. If
5 pounds stretches a spring 4 inches, what force will stretch it 7 inches?

Questioné 16-19 refer to the sentence - :' = -;5 . For each expression in the

left-hand column. write the letter of the correct answe: in the right-hand
column on the answer sheet. . .

4 | ~ B-167




16. % and -3- A, proportion
17. ‘E— = g B. ratios

18. aandd C. means

19, bandc D. extremes

20.  The length of a shadow of an object varies directly as its height.
If 2 5 foot nian casts a 3-1/2 foot shadow, how high is a building
which casts a 120 foot shadow at the same hour?

ey + 7 v+
y-1 = 2y-7

2l.  Solve for v:

In Probiems 22-24,. writc the letter of the correct formula on your
answer sheet.

2
22. vy varies directly as -j; A. y = kx
{~ | 2 k
23. y varies inversely as x B. y= e
: . . 2 k
24. Xy varies diru.ctly as x g C. Y=o
D. y = kx

25. . If v varies inversely as y = 6 where x = 7, what is y when x = 2?2

26. TRUE or FALSE: The drawing bélow is the graph of a direct |
- variation. \ ‘ :
AR
_ 1 _.

57




¥_ L. If the table of values defines an inverse variation, then 4 =
£ _ :

Ix. 2 1 aj
| 'y | 4 8 -8.:[

{‘/ o IR o B-169 o




UNIT XI Relations, Functions and Variation Test D

DIXECTIONS: Do not write on this test booklet. Place all answers on
the paper provided. Do not spend too much time on any one problem.

1. A function is a set of ordered pairs whose (first,
second) coordinates are all different.

Questions 2-5 refer to the relation whose table of values is given below.

X | =2 0 1 5
y 16 4 I 9
2. What is the dornain of this relation?

3. What is the range of this relation?

4.  Which of the following ordere:d pairs are coordinates of points on
the graph of this relation? Write the letter(s) of the correct
answer(s) on your answer sheet. '

e A, (5,9) - c. (1,1
B. (4,0) . D. (0, 16)

. 5.  Which one of the following is a formula for the relation? Write
the letter of the correct answer on your answer sheet.

A. y= 2-x ‘ C. y= X -2
> E
B. y= (x = 2) D. y:Z-x

QQuestions 6-8 refer to the relations.whose graph is shown below.

AT
. 7
.:—- o i
Il <
o 7
IS W P

B-170
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6. TRUE or FALSE: = This relation is & funtion.

7. The domain of the relationship is: (Write the lstter of the correct
answer on yosur answer sheet.)

A. {0,2, 3} : C. {real numbers between 2 and 3 inclusive}
B. {2,1} D. {re#l numbers between 0 and 3 inclusive}
8. The range of the relation is: (Write the letter of the correct answer on

your answer sheet.)

A. {0, 2,3} C. {real numbers between 2 and 3 inclusive}
B. {2,1} "~ D. {real numbers between 0 and 3 inclusive}
9. TRUE or FALSE: {(1,3), (-2,5), (0,4), (3,5)} is a function.

Give the missing information for each of the functions below.

Doraain Range | Forrhula
10. {-1,0,1} ? | | y= 3x-.2
11. | ? : {-1.3.7} y= 2x+ 3
12. 'I£ y varies directly as x in the roster below. state a formula giving y .

in terras of x:

(2

X -2 - 3
v 4 -2 _-6

13, Using the same roster as in Problem 12, what is the conatant of

_proportionality?

14, I y_va.rieé directly as x, and y = 12 when x = 5, what is y when x = 2 ?

15. The compression of a spring varies directly as the force applied.
If 5 pounds of pressure compreues the spring 2 inchol. what force
will compress it 5 inchu? -

[

' Queation- 16- 19 refer to the untenco -g = g- . For each oxp'reuion in the

left-hand column, write the letter of the correct answer in the right-hand
colmn on your answar sheet. 4 : , '
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16.

17

18.

19.

20.

21.

a and 4 A. ratios

a £ oy
b and d B. proportion
b and c _ C. means

a c .

T %3 : D. extremes

The length of the shadow of an object varies directly as its hel;‘;f;g*w
© RE R

If an 18 foot {lag pole casts a shadow 12 feet long, what is the
of a man whose shadow is 4 feet long at the same time?

2k + 7 k+1
Solve for k: X -1 - 2r.-7

e the

Questions 22~24: For each statement in the left-hand column, writ

letter of the correct formula in the right-hand column on your answ

ERY

sheet.

22.
23.

24.

25,

26.

2 .
y varies inversely as x A. vy = kx
. . 2 : k
xy varies directly as x B. Y=z
X
ies directl L C y= =
y varies directly as - Loy =g
2
D. y = kx
. ' Yoo R W
If y varies inversely as x and y = 9 and x = 2, what is x whex R
TRUE or FALSE: The drawing below is the graph of a grees

variation.

. 1Y
4




27,

If the table of values deﬁhéa an lnverﬁe var'iation'\.' ‘then a =

-
1
w
o~
1
N
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UNIT XI

NAME

Relations, Functions and Variaticn

TEACHER
SCORE

1.

10.

11,

12.

13,
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1‘5.

16.
18.

19,

20.
21.

22.

23,

25.

26.

27.

SECTION

DATE

Test A B C D

PERIOD




APPENDIX C
ANSWER KEYS AND CHECK LISTS
FOR

A SELF-PACING FROGRAM IN ALGEBRA

VOLUME I

no
st
. “-’:15




UNIT I

2

w

N M A W N e

Ul A W N =

B W N e

B W N e~

W aOww w> >

True '

False

False .

True
False

TEACHER'S ANSWER KEY

(5)
(5)
(5)

1
Acceptable Score 2L

FIRST YEAR ALGEBRA

(5) .

(5)
(5)
(3)

(3)

- (3)

(3)
(3)
(3)

)
.8
C(e)
()

(4)

C )
)
S (8)
(8
e
- (6)

VI.

N A W N -

15

12
10

28 .

PART II
Teot A

)
(7)
(7)
(7)
(7)




UNIT I

N 0 b N

G B W IV =

wmOW N e

QO w > > P

False

True

False

True -

True

H

>C
>C

>C

Acceptable Score

TEACHER'S ANSWER KEY

(5)
(5)
(5)
(5)
(5)
(5)
(5)

(3)
(3)
(3)
(3)

M)

)
)

@
@
o)
@

FIRST YEAR ALGEBRA

vI.

» U U w

18
16

28

PART II
Test B

()
(6)
(6)
(6)

(7)
(7)
()
(7)
(7)




Acceptable Score %g-

UNIT II TEACHER'S ANSWER KEY Test A

FIRST YEAR ALGEBRA

1. D (8) 22. No (10)
2. F (8) 23. No (10)
3. B 9) 24, x+5 (10)
4. G (9) 25. a-17 (10)
5. H (9) | 26. 5-n (10)
6. 1 ) 27. 1c (10)
1. E (3) <i. 2446 (10)
8. 4 (8) 29. 3f-2 (10)
9. 3 "(.9) 30.  5(m + 2) (10)
10. B (8) | 31.l 2w >3 (11)
11. E 8 32. x+7=15 (11)
12. 18 (&9) , 3. b 9)
13. 36 (&.9)-“-‘_ e 2% 9)
14. T (8. 9) | 35. (6a)° (9)
15. 25 (8, 9) 36, 0 (9)
16. 55 (3.,9_)'_' ) - | 37. 1 | | (9)
17. Yes (_1@)’,;::‘ 3. 16 o 9)
18. Yes (1':0')‘--f S 39. 32 B | (9)
19. No (1ﬁo.)‘;.._""'." | | - ©. 8% (9)
~ 20 Yes o (1"_(5_)'.,""'- o a2’ O
‘ 2l. Yes (16} ."' I 4. 8ix° N 9)

R .




Acceptable Score £9

42
UNIT I TEACHERS ANSWER KEY Test B
FIRST YEAR ALGEBRA

1. D (8) 22. No (19)
2. F (8) 23. No (10)
3. B (9) | 24. x+ 9 (10)
4. 4 (9) 25. a-12 (10)
5. H 9) | 26. 1l -n (16)
6. 1 (9) 27. 8¢ | (10)
7. E (9) 28. 2d+ 5 (10)
8. 4 (8) - 29. 3£+ 1 (10)
9. 3 9) 30. 4(h+ 3) (10)
10. B (8) 31. 3w<2 (11)

11. E - (8) | 32. y-10= 26 ()

12. 16 8,9) 33. b | (9)4
13, 65 (3.9 3a. 2% (9)
14. 5 8,9) | 35, (6a)? 9)
15. 25 (8.9") 36. 0 - (9)
16. 30 (8,9 37. 1 M
17. Yes (1o) - | 38, 16 - (9)
18. No | (10),.:'. | 39, 32 | (9)
19. No (‘16)._'_2“-.- 2. 8a® 9N
.zo,. Yes (10) | :: - a. 218> R )
21.  Yes (16)_"" A 2. slx® (9)

i
i




Acceptable Score 23

=~ UNIT 11 TEACHER'S ANSWER KEY Test C
FIRST YEAR ALGEBRA
l. D (8) 22. No (10)
2. F (8) 23. No (10)
3. B (9) 24. x+ 2 . (10)
4. G (9) 25. n->5 (10j
5. H (9) 26, 2-x . (0)
b I (9) | 27. 17 (10)
7. E (8) | 28. 3y+ 4 (10)
8. 3 (8) | 29. 2s8-1 (10)
f 9. 4 (9) 30. 3(a+ 5) (10)
- 10. B (8) 31. 2a>5 : (11)
li. E (8) 32. c+ 5= 15 (11)
12, 20 (8,9) | 53, x° (9)
13. 100 (8, 9) 34. 3° (9)
14. 8 6,9 3. (5b)° 9)
15. 49 - (8,9) %6, 0 (9)
16. 66 (8._'_9‘). B - 37. ) | (9)
17. Yes . (10) 38, 9 .. (9)
18. Yes '(10)‘,'._.‘ ' 39. 32 (9)
19.  Yes (10)y . : - s, 1z o {9) .
T 26, Yes (10) : - ab? . | (9)
= 21. No oy . 42. 12597 (9)




T
UNIT I
1 b¢
2. G
3. H
4 E
5, F
6. D
7. C
8 4
— 9. 3
10. A
11. E.
12. 12
12 36
1. 6
15. 64
16. K
17. ¥es
18. No
i19. Yes
‘ T 20. No
o 21.. No

Acceptable Score

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

22.
23.
24.
25.
26.
27.
28.
29.
30.
3l.
32.

33.

35.

36.
37.

38.

No

Yes

412

Test D




(™

UNIT I

1. O

2. 1

3. b=R

4. 0

5. 1

6. 16

7. O

8. 6

9. ©
10. No meaning.
11. NAo me.aning.
12. oy
13. 6RS

'.14., 32xy

15. False
16_. ‘True
17. True
18. B
19. D
20. A

Acceptable Score %—g’-

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

(15)
(15)
(12)

(15)

(13)
(15)
(15)
(15)
(15)
(15)

(15)

(13)

(13)

(3)

(12)

(12)

gz

al.
22.
23.
24.
25.
26.
27.
28.
29.

30.

34.

35.
36.
317.
38.
39.

40.

g > B w

L]

U o u » w »

wi®

N

B
12A
8q + 11

12v + 9w

6R+ 25 - 1

Test A

(12)
(12)
(15)
(14)
(14)
(14)
(14)
(15)
(15)
(15)
(15)

(15)

(15)
(15)
(15)
(15)

(15)




(o

UNIT III

1. 1

2. 0
3.0

¢, 1

5. B=D
6. 7

7. O

8. 6

9. No meaning.
10. O
11. No meaning.
12. 36a
13. Sxy
1¢. 63xy
15. True
16. False
17. - False
18. C
19. B
20. D

Acceptable Score

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

(15)
(15)

(15)

(12)
(15)
(15)
(15)

(15)

(15)

(15)

(13)
(13)
(13)

(12)

(12)

g2y

21.
22.
23.
24.
25.
26.
217.
28.
29.
30.

31.

33.

34.

36.
37.
38.
39.

<0.

» U U o v mm » w » » W

Wiy v

0 |-

[ 2%

156

llq + 12

16a + 7b

6a + 9b -14 .

40

Test 3

(12)
(12)
(1<)
(1¢)
(1¢)
(15)
(1)
(15)
(15}
(15)
(15)

(15)

(15)
(15)
(15)
(15)

(15)




UNIT 111
1. 0
2. 1
3. a=¢Q
4. 0
5. 1
6. 20
7. 0
8. No meening.
9. 8
10. No meaning.
. o |
12. 12w
13. 8RS
14. 63xy
15. True
16. False
17. | True
18.
19. A
20.
D

Acceptable Score

TEACHER!S ANSWER KEY

FIRST YEAR ALGEBRA

(15)
(15)
12)

(15)

(15)
(15)
(15)
(15)
(15)

(15)

(13)

(13)

)
- (12)
(1z) .
(12)

a2)

C-11

22.

23.

24,

25.
26.
27.
28.
29.

30.

‘31.

32'

33.

34.

35.

36.

37.
38.
39.

40.

QO » w U U o > B U > o

wnfj=3

O]+

10a

4w + 12

23g + 3r

R+ 38 -1

.alw
oljo

Test C

(12)
(14)
(15)
(15)
(14)
(1¢)
(15)
(15)
(15)
(15)

(15)

(15)
(15)
(15)
(15)

(15)




N

(

/,.a..,*
'_V

UNIT III

1. N=B

2. 0

3. 1

¢ 1

5. 0

6. 15

7. 5

8. No meaning.

9. 0

10. No meaning.
11. O

12. 15a
13. <4xy
1. 15xy
15 True
16. False
17. True
18. D
'19. A
20.

Acceptable Score

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

(12)
(15)

(15)

(15)

(15)

(15)

(15)
(15)
(15)

(15)

-
-
W

-

(13)

(13.)

(12)

(12)

(12).

21.
22.
23.
2¢4.
25.
26.
27.
28.
29.
30.
31.
32.

33.
3¢.
35.

36'
37.
38.

39.

40.

> b 0O U B a B U » W > QO

O . L

11

C

17a

10a - 5
16a - 6b

6x + 3y + ¢

40

Test D

(12)
(12)
(14)
(1<)
(14)
(15)
(1<)
(15)
(15)
(15)
(15)

(15)

(15)
(15)
(15)
{15)

(15)




UNIT IV
1. 5
| 2. -3
\ 3. 0
s 1
5 %
6. TFalse
7. F
{ 8. A
N
9. -1 (D)
10. Add
11. False
12. ﬁeciprocal
" 13. Negative
14. -9
15. 4
16. 3
17. Zero
. 18. Zero |
}37; 15 20

Acceptable Score

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

(17)
(17)

(17)

(17)

(17)

(1%)
(16)
(16)
(16)
(19)
(19)
(25)
(16)
(19)
(19)

(19)

19)

9

(20)

C-13

2

£
)

i
)

20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.

39.

. True

32

X}
-8

-73

35
28

-51

-4
-5

-18

-20

+ 72

39

PART I
Test A




UNIT 1V
1. 4
2. -6
3. 0
4 2
5. %
6. False
7. B
8. E
9. C
10. False
11. False
12. Reciprocal
13. Positive
14. 7
15. 3
16 —§-
17. 0
'18»._ “True
19. 16

Acceptable Score

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA .

(17)
(17)

(17)

(17)

(17)

(17)

- (16)

(16)
(16)

(19)

(19)

(25)

(16)

(19)
(19)

(19)

(19)
(19)

(20)

C-14

20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.

31.

33.
34,
35.
36.
37.
 38.

39.

True

33

-6

-80

13
24
-30

-68

17

-12

32

wIw
oI

PART I
Test B

(20)
(20)
(20)
(18)
(18}
(18)
(18)
(18)
(18)
(23)
(23)
(23)
(25)
(25)
(25)
\25)
(26)

(19)

v(19)

(19)




UNIT IV
1. 3
2. -2
3. 0
. 2
5. 3
6. False
7. 1
8. J
9. F
10. Add
11. False
12. Reciprocal
13. Negative
4. -8.
| 15. 7
16. 3
17, 0
18, 0
1'9,, -

31

Acceptable Score 32

TEACHER!'S ANSWER KEY

FIRST YEAR ALGEBRA

(17)
{17)

(17)

(17)

(a7
(16)
(14)
(16)
(16)
(19)
19)
(25)

(16)

(19)

(19)

(19)

(19)

a9 .

(20)

C-15 -

c4

20.
2l.
22.

23.

25.
26.
217.
28.
29.
30.
31.
32.
33.
34,
35.
36.
- 37.

38.

True

31

-3

'89

120
21

-34

12

-19
90

39

PART I
Test C

(20)
(20)
(20)
(18)
(18)
(18)
(18)
(18)
(18)
(23)

(23)

P
™
(¥
—

(23)
(25)
(25)
125)
(26)
(19)
(19)
(19)




UNIT IV
1. 6
2. -2
3. 0
., 2
- 5
5. 5
6. False
7. G
(- 8 D
- 9. 1
10. False
11. Negative
12. Reciprocal
13. Trge
14. -6
15. 2
1. 32
17. 0
i8. 'I‘rué .
-~ 19. 17

Acceptable Score

TEACHER!'S ANSWER KEY

FIRST YEAR ALGEBRA

(17)
(17)

(17)

(17}

(17)

(16)
(16)
(16)
(16)
(19)
19)

(25)

(16)

(19)
(19)

(19)

(19)

(19)

(203

C-16

o065

20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
- 34,
35.
36.
37.

38.

39.

4

-24

-45




) UNIT 1V
1. 1
1
2. -3
5
> 12
4
4, 3
5. One
6. Zero
7. Positive
("" 8. Negative
9- -15xy
10. -8a°
11, 4a2
12. False
13. True
14, 5x
15. -~1l0y
16. 8x+ z
17. x+ vy
18. l12a - b
o i 19. -4
@ ‘9 y
- 20. +4

Acceptable Score

TEACHER'S ANSWER KEY

IFIRST YEAR ALGEBRA

(25)

(25)
(25)

(25)

(25)
25)
(23)
(23)

(23)
(23)
(23)
(13)
(13)

(19)

- (26)

(18)

(19)

(26)

(19)

8,9)

- C-17

. ts

1
2

lm

(=

PART II
Test A




Acceptable Score

UNIT 1V TEACHER!'!S ANSWER KEY

10.

11.

12.

18.
i9.

2v.

FIRST YEAR ALGEBRA

7 | (25)
- -;-’ (25)
2 (25)
1 (25)
One (25)
Zero (25)
0dd (23)
Even (23)
-245y (£3)
9a°y (23)
27y (23)
False (13)
True (13)
x o)
-lzy (26)
8x + z 8y
-2x+ 2y (19)
6a + 2b - (26)
6x - 14y 19

20

PART 1I
Test B




Acceptable Score L
. 20

UNIT 1V TEACHER!S ANSWER KEY PART I
Test C
FIRST YEAR ALGEBRA

1.3 (25)
2. - 15 (25)
. L& (25)
4. ?5’- (25)
5. 1 (25)
6. 0 (25)
7. Poasitive (23)
{ 8. Negative (23)
- 9. -15xy (23)
10. -8b3 (23)
1. 4 {23)
12. False (13)
13. True (13)
14. Ty (19)
15. =8x (26)
16. 9x -z (18)
17. x-y (19)
1. 13c-2b (26)
{ 19. vy (19) : -
20, 1 (8.9

C-19
015




? Acceptable Score IE%
N UNIT IV TEACHER'S ANSWER KEY PART II
Test D
FIRST YEAR ALGEBRA .
1 % (25)
2. - -(1; (25)
3. % (25)
4. % (25)
5. 0 (25)
6. 1 (25)
7. Positive (23)
( 8. Negative (23)
9. -bxy (23)
10. 16a° (23)
1. -27a° (23)
12. False (13)
13. True (15}
14. Tx (19)
15. 3y (26)
16. 1lx (18)
17. 6x+ 2y (19)
18. 10a-h (26)
{, 19. -4x - 3y a9)
20. 1 (8,9) |

C-20
ERIC 269




¥
" UNIT V
1. A
2. F
3, H
4. D
5 True
6. {3}
7. {-12}
8. {-7}
9
9. { -'5}
10. {15}
11, {3}
12. {l'si}
13, {-22)
52
14. {--1'-5-}
15. {3%}
! 1. (£)
17, {-12}

TEACHER'S ANSWER KEY

Acceptable Score

FIRST YEAR ALGEBRA

(27)

(27)
(27)
(27)
(27)
(28)
(28)

(28)

(28)

(28)

(29)

(29)

(29)

(29)

(29)

{29)

(29)

240
c-21

19.

200

2l.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

3a.

33.

34.

PSS
[} BN
—t

{3}

wjw

55
{- 24

{24}
{5}

e

N

34

Test A

(29)

(30

(30)

(30)

(31)

(30)

(30)

{31)

(27)

——0——o—0—b—0—> (27)

«1 0123456789

b< -

d>5

-2
1C




Acceptable Score 24
? 34
UNIT V TEACHER'S ANSWER KEY Test B
FIRST YEAR ALGEBRA
. 7
1. A (27) 19. { .‘%} (30)
2. B (27)
20. {4} {30)
3. H (27)
2. {-2} (30)
4, G (27)
I 1
5. True (27) 22. {33 G4
6. {1} (28) z23. {2} 130j
7. {-11} (28) 24, {- _g_g_} 130}
8. {-13} (23)
25. ¢ (31)
{ 1
" 9. {3} (28) 26. ¢ 27
10. {14} (28) 27, Lo > 27) ‘
1. {4) 29) 0123456789
11 23, b< -2 {23)
12. {-—5} (29)
29. d>13 {33)
13.  {- 3—2-} (29) 30. a< - -1%- : {23)
14, {- %} 29) 31, a<l8 {33}
32. c<15 (33)
15, {- 3—;’- (29)
33, €9 —> {33}
16, {-20) 29) -4 .3 -2 -1 01
17.  {-16) (29) 34. 93
1 L (3 (29)




IM‘

UNIT V
1. A
2. F
3 H
4. D
5 False
6. {2}
7 {-13}
g. {-8
17
9 {-“5}
10. {20}
11. {4
19
12. { 4}
. 18
13. {-=%}
14. {-4}
35
15. | 6}
27
16. { 2}
17. {-35}
5. (22

Acceptable Score

TEZACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

(27)
(27)
(27)
(27)
(27)
(28)
(28)

(28)

(28)

(28)

(29)

(29)

(29)

(29)

(29)

(29)

(29)

(29)

19.

24.

25.

26.

33.

34'

C-23
9%

34
Test C
{26} (30)
13
—— * O\
{ 3} {30)
{-3} (30)
{3} (315
1
{-} (30)
7 )
{-'?'} (30}
13
{-=3} (31)
¢ (27}
e aaa—D> T
0123456782
12
as-—¢
<-=3 (33)
b>6 {33}
1!
x< 75 (33)
x<18 (32)
21
> — 2
R2 5 (32)
;mmmn‘;‘r 132}
5
40




Acceptable Score %ﬁ
"
i UNIT V TEACHER'S ANSWER KEY Test D
FIRST YEAR ALGEBRA
1. B (27) 20. {11} (30)
2. D (27) 21. {-3} (30)
3. H (27) 22. {1} (31)
4. G 27) 23, {%} (39)
5. False (27) 24. {- %} : (30)
6. {2z} (28)
25. {12} (31)
7. {-70 (28)
26. ¢ (27)
8. {-14} (28) _
217. . (27}
17 ot g ) = peeD ‘
9. {3} (28) 0123456789
10. {-11} (28) 28, y<-2 {33)
11. {4} (29) 29. a>12 (33)
11
12. {=3} (29) 30. a<- % (33)
3 17
13. {33 (29) 31. a<42 (33)
i4. {- %—‘;—} (29) 32. c<16 (33)
. 33
5. {- 6—;} (29) 33 & - > (33)
-t
16. {-z24} (29)
34. 84
17.  {-6} (29)
18. { -1-‘-3‘-} (29)
39
- 19. | ‘-"2' {(30)




? Acceptable Score 3%%
N
UNIT VI TEACHER!'S ANSWER KEY Test A
| FIRST YEAR ALGEBRA
1. E,F,G (34) 18. D (37)
2. C (34) 19. C (36)
3. 4 (34) 20. C (37)
4. 3 (34) 21. D (36) 1 N
5. B (34) 22. D (37) |
6. A (34) 23, B (40)
7. D (34) 24. C (41)
8. B (34) 25. A (41)
{ 9. D (35) 26. D (42)
A
10. A (35) 27. C -{42) ‘
11. B 28. A (43) 4
12. C (36, 37) 29. D (44)
13. B (36) 30. A (44)
14. B (37) 31. D (44)
15. C (38) 32. 1 (39)
16. A (38) 33. a
17. C \37) 34, 36
{ .

274




Acceptable Score %—Z |

3

UNIT VI TEACHER'S ANSWER KEY Test B
FIRST YEAR ALGEBRA
1. B,E,F,GH (54) | 18. B (37)
2. C (34) 19. D (36)
3. 5 (34) 20. A (37)
4. 5 (34) 21. B (36) y
5. C (34) 22. A (37)
6. B (34) 23. C (40)
7. C (34) 24. B (41)
8. B (34) 25. C (41)
{ 9. A (35) 26. D (42)
- 10. C (35) 27. B (42) |
11. B 28. C (43) /
12. D (36, 37) 29. A (44)
13. A (36) 30. C (44)
14. C (37) 317 A (44)
15. A (38) 32. a
16. A (37) 33, 1 (39)
17. B (37) 34, 26
\ .
8
’ c-26

270




D Acceptable Score -g%
= UNIT VI - TEACHES'S ANSWER KEY Teat C
FIRST YEAR ALGEBRA
1. E,G,H. (34) 18. D 37)
2. A | (34) 19. D (36)
3. 4 (34) 20. B (37)
4 3 (34) 21. A (36) ]
5. C (34) 22. B (37)
6. A (34) 23. D 140)
7. ¢ (34) 24. D (41)
8. C (34) 25. D (41)
{ ) 9. D (35) 26. C (42)
- 10. A (35) 27. G (42)
il. © | 28. B (43)
12. ¢ (36, 37) 29. A (44)
13. C (36) 30. D (44)
14. C (37) 31. D (44)
15. B (38) 32, 1 (39)
16. B (38) 33, x
17. B (37) 34, 36




5
Acceptable Score %Z

¥
~ UNIT VI TEACHER'S ANSWER KEY Test D
FIRST YEAR ALGEBRA
1. B,F,G (34) 18. C (37)
2. A (34) 19. D (36)
3. 5 (34) 20. A (37)
4, 4 (34) 2. B (36) 1
5. C (34) 22. D (37)
6. B (34) 23. B (40)
7. A (34) 24. C (41)
8. D (34) 25. D (41)
{” 9. B (35) 26. B (42)
10. C (35) 27. A (42)
11. A 28. C (43) ,
12. B (36, 37) 29. B (44)
13. C (36) 30. A {44)
14. A (37) 31, D (44)
15. C (38) 32. a
16. B (38) 33. 1 (39)
17. B (37) 34, 15,16,17 (39)




Acceptable Score %89

UNIT viX TEACHER'S ANSWER KEY Test A

FIRST YEAR ALGEBRA

1. A,C (45) 15, 2(x+ 2j {x - 2) (54) j
2. 2° 3% (45) 16, -1 x-1)° (54)
3. 2xy (45) 17, - 4x" % 5x 4 T (57)
4. 6 (45) 18. 0 {55} Jl
5. 2x°y (45) 19, 224 3x.1 (57)
6. 12(3x+ y - 2) (46) 20. {-1, 2} (55)
| 7. 5x(5x° - 3z - 1) (46) 21. {o, 2} (55)
) 8. (x-4)(x+ 4) (48) 22. |- -;— . 3} :55)
. { 9. (a+ 47 (51) 23. {-5, 5} 156)
- 10. (b+ 6)(b- 2) (52) 24. {3} _ (56)
11. (3¢ -2)(2¢c+ 1) 53) 25. {-5, 2} (56) a
12. %+ 7)(x-3) (46) 26. {any number} (55)
13.  (5x - 9y) {5x + 9y) {48) 27. {} (55)
14. 2a(a+ 5)° (54) 28. 4x+ 3(20 + x)or

Tx 4+ 60




ERIC

Full Tt Provided by ERIC.

UNIT VI
1. B
2
2. 2 17
3. 5xy4
4. 6
5. 3x3y4
6. 9(x- 2y + 3)
7. (x-5)(x+ 5)
o 8. 3x(x-7)(x+ 2)
| 9. (a+6)°
10. (b+ 4) (b=~ 3)
1i. 3(2d-1)(d+ 1)
1z, (%4 3)(x-1)
13. (3x - 8y) (3x + 8y)
14, 3:3.(3.2 + 7a - 16)

20
Acceptable Score 53

28

TEACHER!S ANSWER KEY

FIRST YEAR ALGEBRA

(45)

(45)

(45)

(45)

(45)
(46)
(48}

(46)

(51)
(52)

(54)

(46)

(4€)

(46)

15.
16.

17.

18.

19.

20.

2l.

22.
23.
24.
25.
26.
27.

28.

3(x + 3) (x - 3)
“ix - 3)(x + 2}

0
~2x2 + 5%+ 2

6x2-5x-4

{-4, 3}

{0,3}

{-4,4}

{5}

{-3,-2}

{any number}
{1}

12,13,14

Test B

(54)
(54)

(55)
(57)

(57)

(55)
(55)

(55)
(56)
(56)
(56)
(53)

(53)




v

UNIT VU1

l. B

2. 22 + 37

3. Zazb3

4. 3

5. 3a%b

6. 6(3x+ 2y - 4)

2

7. 5x(4x - 3x+ 1)
8. (x=~9)(x+9)
9. Prime

10, (xr+ 10) (r - 3)
1. (5y -2) 3y + 1)
. 2
2. (a + 5)(a - 3)
13. 9(2r - 38) (2r + 38)
14, x(x - l)z

(45)
(43)

(45)
(45)
(45)

(45)

(46)
(48)
(51)
(52)
(53)
(46)
(48)

(54)

16.

17.

18.

19.
20.

2l.

22.

23.
24.
25.
26.
7.
28.

c-31
287

Acceptable Score 29

TEACHER!S ANSWER KEY

FIRLT YEAR ALGEBRA

4(c + 2) (c -~ 2)

-1 (a - l)z

-6az+ 3a + 1

{-9, 9
{-1,6}
{-6,1}
{any numhar}

{}

$+ = 3 houre

28

Tes: C

(54)
(54)

{57)

(55)

(57)
(53)

(55)
(55)

(56)
(56)
(56)
(55}

{55)




——y

UNIT vl
lt A,B
2. 23' 7
3, 4xy4
4. 8
5, 3::21(Z
6. 552+ y - 2z)
2
7. 12x(3x + 2x +1)
8, (x=-6)(x+6)
9. (y+ 3)2
10, (b+ 7) (b= 2}
11. (3¢ + 2)(2c -1)
5
12. (x 4+ 2)(x-5)
13.  (7x + 9y) (7x - 9y)
14. 4a(a + 5)°

Acceptable Score

TEACHER'S ANSWEFR KEY

FIRST YEAR ALGEBRA

(45}
(45)

(45)
(45)
(45)
(46)
(46)
(43)
(1)
(52)

(53)

{46)

C-32

15.

16,

17.

18.
i9.
20.

21.

22.

23,

24.

25,

26.

27'

28.

3(x + 3) (x ~ 3)

-1 (x+ 1)2

9x2 -3x4 6

oxz O+ 7
0

{-€,7}
{o,3}

(-%,3

{-9,9

{-5}

{-4,9)

{1

{any numbar}

4

28

Test D

(54)
(54)
(57)

(57)
(55)
(55)

(55)
(55)

(56)
(56)
(56)
(55)

(55)




UNIT VI
1. {0}
2. {3}
30 {"Z}
4. None
So {2; "2}
6. Quotient
7. Numerator
6
8. 7
4a
9. 5h
16x
10. 3y
1
11. . 3
x+ 1
12. P
13. done
14, &
Yy
2
15x
15. >

Acceptable Score

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

(58)
(58)
{58)
{58)
(58)
(58)

(58)

(59)

(59)

(59)

(59)

(59)
(59)

(61)

(61)

ne

C-33

8

oD

16,

17.

18.

19.

20.

21.

{x - y) (=t

3
a+ 2

$22; $14

[ #%)

25

PART 1
Test A

(61)

(61)

(61)

(62)

(62)

(62)

(62}

(62)

(63)




Acceptable Score -:,1,:%

UNIT ViI TEACHER!'S ANSWER K:EY PART 1
Test B
FIRST YEAR ALGEBRA

1. {-1} (58) 16. :;-'- (61)
2. {2} (58) . .
. 1
3. {0} (58) 1 (x+ y)(a+ b) (1)
1. {5,-5) (58) 18. z: i (61)
5. None {58) 9. - % 62)
6. Quoticnt (58)
7. Denominator (58) 20. :,—1’7 (62)
8. % (59) Ly
{ 21 -?-Y— (62)
- 3b
9., = (59)
4a 22, 2 (62)
10, 22 (59) 4
23. 62
x+ 2y (62)
1
11. - (59)
x-5 24. -3 (63)
x+ 2
12. 3 (59) 25. 9,11
13. Done (59)
A
14. (61)
2
, Ax
15. 3 (61)
C-34
- C 280




‘ Acceptable Score %%
i
UNIT VIII TEACHER!'S ANSWER KEY PART I
Test C

FIRST YEAR ALGEBRA

1. {2} (58) 170 = (61)
2. {-4 (58) 18. 1 (61)
3. {0} (58) -5
19. 38 (62)
4, {3,-3} (58)
7x
5. None (58) 20. g (62)
6. Numerator (58) R
27::“'22 6
7. True (58) 2l. = (62)
19 2
3. 32 (59) . 22. 9ab {62)
x4+ 1
9. %—E (59) 23. - 2 (62)
10
10. —— (59) 24 ¥ 10 (63)
2 2
3x =z
25. 500 seconds
11. Done (59) .
12 1 {59}
ox+ 7 :
c+ 3
13. - - (59)
14.  6y° (61)
32 .
a
15. 5 (6‘1)
45 |
, 16. - 2 (613
C-35
O
2R4




UNIT VIiI
1. {0}
2. {3}
3. {-2}
4, None
5. {20 -2}
6. Quotient
7. Denominator
4
8. 77~
2x
9. 3y
12a
10. Se
1
11. —>
12 E.:._3
" pt 4
13. Done
16, ¥
x
2
152z
15. >
40a
16. - 2

Acceptable Score

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

(58)
(58)
(58)
(58)
(58)
(58)

(58)

(59)

(59)

(59)

(59)

(59)

(59)

(61)

(61)

17.

18.

10.

20.

21..

22.

24.

25.

(x-y)(w-v)

a - 4)°

oM

(a -b)(a+ 3)

4(x + 1) {x + 3)
3x

25

PART I
Test D

(61)

(61)

(62)

(62)

(62)

(62)

(62)

(63)




o«
i
\\
UNIT VII
7
l. -
9
. X235
2. 3
4a - 2
3. 5
41
l“ ——
&. 28
23a
5. 50
6. a+ 2
;'_ 7. x+ 5
b - 3a
8. —/—————
azb2
5% - 36
9. -—-—’;
x = 81
2
10. ZX - 4}5' 7

11.

(x~4)}{xt+2){x-1)

y

Acceptable Score

TEACHER!'S ANSWER KEY

FIRST YEAR ALGEBRA

(64)

(64)

(64)

(65)

(65)

(65)
(65)

{65)

(65)

(65)

(67)

12.

13.

14,

15.

16.

17.

18.

19.

20.

2l.

a+ b
a->bh

1:2

{

Wl

}

{3}

wle

{-8}

{c>12)

14

1

PART II
Test A

(67)

(60)

(68)

(69)

(69)
(69)




Acceptable Score ;—1—1-

UNIT VIII TEACHER'S ANSWER KEY PART II
Test B
FIRST YEAR ALGEBRA

1. % (64) 16. {-15} (68)
2. x'; 3 (64) 17. {ec >3%%} (68)
3b- 3 110
3. . (64) 18. {y> ) (68)
38 , 5
4. el (65) 19. {-'Z} {69)
5, §%§ (65) 20. ¢ (69)
2. {1} (69)
6. x+ 3 (65)
{ 7. x4+ 6 (65)
5b + 2a
8. 3 (65)
ab
9. 5§JL31 (65)
x - 49
2
2 - 6x - 4
10 GroGt DE-2 ©
11. vy
A-B |
12. ZTE (67)
13. 1:2 (60)
.5 -
14, 3} (6‘8)
1 5 .
. {r 15. {E} (58)

C-38
' ORY




Acceptable Score

TEACHER!'S ANSWER KEY

FIRST YEAR ALGEBRA

(64)

(64)
1
(64)

{65)

(65)

(65)
£65)

(65)

(65)

UNIT VII
7
1. =
9
x-5
2. 3
4a - 2
30 b
38
4 35
23a
5. 30
( 6 x+ 3
7. x+ 5
8. 5b2+‘r23
a’b
5% - 36
9. _’2.“___
x - 81
10 sz -6x -4
T -4)(x+ 1) (x-2)
11. vy
A-B
12. 253
13. 1:2
5
> 14. -
{ {3}
8
15. 3}

(65)
(67)
(67)
{60)

(68)

(68) |

160 {-15}

17. {c>12}
110

18. {x> el

8

19. {3}

20. &

2. {-1}

285

C-39

21

PART II
Test C

(68)
(68)

(63)

(69)

(69)
(69)




)

Acceptable Score

UNIT Vil TEACHER'S ANSWER KEY

FIRST YEAR ALGESRA

6
1 7 (64)
X ~-3
2. = (64)
3, 3b-3 {64)
(o]
41
4. 33 (65)
43a
5 30 (65)
6. a+ 2 (65)
o>
3 7. x+ 6 (65)
8. 7b2- 23a (65)
ab
. 42‘ 21 (65)
X - 49
2x” - 4x - 7
: X’ - -
0. G hmraE-n ©
11. y (67)
12, mtn (67)
me-n
13. 1:3 {60)
14. {-g} (68)

15,

16.

18.

19.

20.

2l.

{

Nk
A

{-8}

21

PART 1T
Test D

(68)

(68)

(68)

(68)

(69)

(69)

(69)




Acceptable Score 22

28
TEACHER'S ANSWER KEY PART 1
. : Test A
FIRST YEAR ALGEBRA
A (70, 71) 18. (7’-\2)
| - |
F (70, 71) X 1
{
D (70,71) HE? ;
|
B :
C 70,71)
( ao; y
¢
G 70,71
(70,71) e
E (70,71) 243
B (70, 71)
B (71) 19. CT2)
’ ]
E (11) ™
True (1) A<
True ' (71) Z iy
False (71)
2
_ -
Y=32*°32 (72)
. x -3 -1 [ +3
y=x+ 3 (72) y || -1 ] o 2
y= -+x+3 (2 - 20. 3 | (74)
3*T3
. 22 o y, 2 (74)
17. = o (72) 2




I' 22.

23.

(e

24.

(72)

-

(72)

\

AV

25,

26.
27.

28.

Y:

A,D

oo .

(72)
(72)

(73)
(73)

" 73)

291

C-42




/,,15

(.

UNIT IX

a o0 v

3

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

(70,71)
(70,71)
(70,71)
(10,71)

(70, 71)

(70, 71)

(70,71)
(71)
(71)
(71)
(71)

(71)

(72)
(72)

(72)

(fz)

C-43

2492

Acceptable Score

28

PART 1
Test B

(72)

y, \y

(72)

-3

(74)

(74)




23.

24.

25.

26.

217.

28.

fase

A,D

N jw

i

(72)

(72) -

(72)

(72)

(73)

(73)

(73)

C-44




22

Acceptable Score ==

28
UNIT I TEACHER'S ANSWER KEY PART I
) Test C
FIRST YEAR ALGEBRA

1. C (70,71) 18. (72)

2. E (70,71) l[ #

3. D (70, 71) ‘

4, A (70,71)

5. F (70,71) 5)

6. I \70,71)

R
7. B (70,71)
8. D (71) 19. (72)
\_{ 9. E (71) Y ‘
10. True (71) ; ‘
i
11. Tzrue (71) "( X
' N

12. False (71) S

13, 3 |
2 1 ¥
14. y=35x+3 (72)
15 1 (72) - - 2
. = x+ 7
e YEET 3 7| -3 ] s
PPN PR A72) .. .20, 3. - (14) ?
5
17. 9 (72) 2l. 3 {74)
C-45

294




d (72)
—— 7 97-—- 5
. -‘? <
i
X
€ 3
1 o
" “d |
V E
23. (72)
17 1 (AT
2
N 0
'l x
\’i-:
A
24. x=0 (72)
25. A, (72)
26. -% | (13)
10
R 7
27 9 (73)
28, C (73)
C-46
o9ah




? Acceptable Score 22

28
‘\" .
UNIT IX TEACHER'S ANSWER KEY PART I
- Test D

FIRST YEAR ALGEBRA

1. B (70,71) 18. (72)

2. A (70,71) - )

3. J (70, 71) . )

4. D (70,71) . “

5. E (70,71)

6. H (70, 71) 1T

7. G (70,71) 5%:1”_ Y

8- B (1) 19. L 2)
{ 9. © ) T TRy

10. False ' : (71) f |

11. True (71) n

l12. False (71) -

13. 4 | : .

14, y= % - -lg (72) -

k5. y:%x+-§'— - (72) ’; -?; -; 3

7. 13 a2 a. §

C-47

2ug

~F

(74)



\j" 22. (72)

X
b
Y =} N\
&
L L
23. | (12)
: l\y A
®
. T
ol iX
i- ...x,_L
24. True (72)
25. A,C (72)
‘ 1
-= 7
26. > (73)
27. 5 - (713)
28. C : (73)

C-48

N




Acceptable Score %-15-

PART 1L

~ TEACHER'S ANSWER KEY
Test A

UNIT IX
FIRST YEAR ALGEBRA

(73) 7. (74)

2 - 7

1. DNegative

(74)
(74) - 8. (74)

( iy

(74)

(75)

(75)

6. [ ] 3 e . -
UUNUURTI SO DU WU DRSS U 7 A R S PR JEOP PSSO PO ll' e Y= -x - 1 . (75) i




? 12, (76) 15, (76)
—

v vl 7;( 7
7 1
o i ' ‘
$ — :
: \\ - pIEX
=TT
L
4 .
13. 6y 16. 77)
A A E 4 %
. ]
Raviranavivivin 5
€ /%[// IS
{ MU
= T ¥ .
JAKE S
f x
1 v bl
{@, 1) :
14.
* 17. {(-2,5)} (78,79, 80)
: ‘:i? N 18. {(-3,-2)} (78,79, 80)
\\/", 19. 22 @8
‘\ NN NINE L ” i : a1
N \\d'%vk" | 20. 7 | (81)
IHAR 7 W | 21. y | - (81)
- 7 '




UNIT IX

1. Positive (73)
2. (72)
| -
@l |C
23
G 1S
HE 7/
5
3. m=5 (74)
4, m=-3 (74)
5, , (74)
l S
/Ia
=]
6. - (14)
1
1 )i

Acceptable Score -15-

TEACHER!'S ANSWER KEY PART II
' Test B
FIRST YEAR ALGEBRA
7. (74)
4
Ev
o
|
8. (74)
- o
fa
P
?
9. y= -2x ¢ 2 , (75)
10.. y= 3x -8 (75)
11, y= -x-1 (75)

C-51

300

-



@ 12. (76) 15. (76)
- 14 ){Ef’ -
.
\\\ - ]
; \\\\ )/;m !
\7"\ \
\ .
. \ k )
l \ N
| W A B ¥ }
| 13. (76) 16, (77)
‘ o A
? LA ’ YN 12
x ] ‘ /
‘ P : %2 ' Q 5 XN
; € AR IS
- |
i \ T |
- N , | N
\ \X B\ \\\‘ - 58]
Nild1 7T | .
' HERERE2AREER
{2,1)}
14. (76) , 17. {@2,3)% (78,79, 80}
Fibd o s 18.  {(-3,-2)} - (78,79, 80)
IXEYSN SN -~ | _
N N N \\ X 2 : . 19. 48 (81)
IR N | U
20. - o 81
\\ _ .\ N} )‘% | 9 | - (81)
NN - 21. 'y (81)
AT - .
Frpt




1
| ' Acceptable Score 51
\ .
UNIT IX TEACHER'S ANSWER KEY PART II
Test C

FIRST YEAR ALGEBRA

1. Negative | . {(73) 7. (74)
2. | | (72) %
i :
o — Y
112y ‘
P I \\
N\
¢ 3 AR {
_ Y -\ \
-t N ‘;
. W
3. m= -2 | (74) 8. (74)
- —
\{ 4. m= .- 2 (74) A
3 oA
- ,
5. | | (74) :
AT ; y 14
T i A
'"F—"_ g 5
ﬂﬂ—(ﬁ: | Y
: Ll X i i : N/ RE
' 9. y= 4x-3 (75)
[ 10. y= -2x+ 5 (75)
v L n
. . 5 11. y= 2x -2 (75)
6. o (74) |
&9
X >
i I J

E)
g




8 12. (76) 15. (74)
MEENE RN ]
/ 1 L \YEX
B 1 ) 7
. > - i
\ AN ﬂ i
NAAEIVVEY F
vr-1\ NN N
W
‘ Y. 5
13. (76) 16. (17)
Iﬁ% %\
~TTA
A "5
< TTITANE
»
' ! \ <
o 7 : \ R ;
A ‘ \
%/ V % N K iR ‘L »
- A 1
{("2’ 5)}
14. | (76) 17. {@a7,11)% (78,79, 80)
1T A 18.  {(3,-2)} (78,79, 80)
?*"" LA 19. 12 (81)
,< ’ / \\ 20. -l4 (81)
N < :
-. LRRA 2l. x (81)
<K
*gf - | | C-54
303




Acceptable Score l—f—
‘ @ UNIT 1X - TEACHER'S ANSWER KEY PART U
Test D
FIRST YEAR ALGEBRA
1. Positive (73) 7. (14)
A
2. (72) y
. - J:_ J "M cep e g e e 7
A
L2l ~
. N p «;r-—ﬂ N #
l X \*ﬂ‘: '
3. m=7 , (74) 8. (74)
4. m= - % (74)
i 5 (74) iAo
I S , &Y
1 A I~ 4 J/x X >
. ) 2 FiAl
,— r-—--, - . py ‘7)(\\?
5 Y i
[ S S o 4 {
§ 'j_ SN SUSIRY S ‘ V ‘
; 4 I 9 = 3x -5 (75)
P4 g 10, y=5x-19 (75)
v | |
. 11. 3y= -2x-4 (75)
6. ' . (74)
: l ._-.;_....._‘__,A‘;
| N\
\ (4
K - 124 |
oi-
- .
L 1
1 W

O
1
-Un
(8]

o)
<
[P




12. (76) 15.

w
+d
;—;—\’4

AV

13. (76) 16.

- (76)

T
A
‘QL j

_1,._. _Tﬁ _
»

(!

—

{

: N

D =

o

{(1,3)}
| 17. {(@2,5)}
14 - e ~ 18.  {(3,0)}

)Liq 19, 11

SABERN P 20 4

7N

-
\ 21 x

£

ERIC

(78,79,80)
(78,79, 80)
(81)
(81)

(81)




?

12
13
14
15
16
¥i

18

UNIT X
1. G,H,1
4 3
2 7%
17
30 14
4, B,D
47
5 99
6. False
7. Ratio
9
8. 50
90 A
10. False
11. 97

Index

(85)

(82)

(82)
(83)
(83)

(83)

(82)
(83)

(33)
(83)
(84)
(84)

(84)
(84)
(86)
(86)
(86)

]

3

(=

o

19.
20.
21.
22.

23.

24.
25.

26.

27.
28.'0
29.
30.

31.

3a.

33

Accepiable Score

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

10z
N3
xy
2N 5

20N 6

N5

PART 1
Test A

(84)
(86)
(64)
(86)
(86)

(86)
(86)

(86)

(86)
(¢6)
(86)

(86)
(84)

(86)

(86)




13,

UNIT X
1. A,B,C,D,E,I
2 3,2
s L2
4. B,D
5. 2

9
6. Ratio
2
8. T‘rue
9. D.
10. Fa.lse
11. 57
12. 7

A
1_'4; 7 |
15. 6d
6. W35
17. 6NEZ

N5

Acceptable Score

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

(85)

(82)

(82)
(83)
(83)
(€2)
| (83)

(83)
(33)

(83)

(84)

- (84)

(84)
- (84)
_' (86)

(86)

86)

C-58

307

19.

20.

21.

22,

23.

24.

25.

- 26.

27.

28‘

29.
30.

31.

32.

33.

12a

33

PART 1
Test B

~(84)
(86)
(34)
(86)

(86)

(86)
(86)

(86)
(86)
(86)
(36)
(86)
(84)

(86)

(86)




Acceptable Score %

~  UNIT X TEACHER!S ANSWER KEY PART 1
: Test C
FIRST YEAR ALGEBRA

»G, H . (85) 19. (84)

,% - (52) 20. (86)

21. (84)
(83)
22.

9a
NI
1yz
| - 2T (86)
4. A,C - _ (83) 23, 6NE | (86)
| o
6
NG
3

(83)

o

24. (86)

6 2@ (83) 25. (86)

1. vRaﬁo - (82) 2. 2NT - )
8. False (83)
9. B (33) 27. 2¢N3 (86)
10. Eal'se" @) 28. 16y o (86)
. 13 (34) '»29.. anN11 : (86)

12. 8 (s4) 30. (86)
13, L o8, 1w (84)
4. 03 (4 |

o
" .
:.' .

32. (86)

15, 7x S (se)

Z.
Bl

6. NTE - @6 33 (86)

,17‘3." '8'(30: (36') o

8. NE 0 @e)

C-59 - o




6.

. 18.

. UNIT X
10 A; Bj CDDJED.I
2 3 |
2. 33
| 13
3. 353
4, B,C
5
5. 5
37
6. 100
7. Ratio
8. True
9. G
 10. False
11. Radicand
12. 52
13. A
14. 5
15. 3a
- N10
17. 21N 21

NZ

Acceptable Score

TEACHER!'S ANSWER KEY

FIRST YEAR ALGEBRA

(85)

(82)

(82)
(83)

(83)

(83)

(82)
(83)
(33)
(83)

- (84)

(84)

19.
20.
2l.
22.

23.

l 24.

25.

26.

27.

- 28.

29.

30.

3l.

. 32.

33.

Z_
-
-3

ol

w

=
4
i

23

3

PART I
Test D

(84)
(86)
(84)
(86)
(86)

(86)

(86)

(86)

(86)

(86)

(36)
(86)
(34)
(86)

(86)




Acceptable Score %%

UMNIT X TEACHER'S ANSWER KEY PART II
. ' Test A
FIRST YEAR ALGEBRA

1. B,D (87) 19. z“z"z (86)
2. Nz | 67 20. {28 (90)
3. -aNT1 87) 21. {4 (90)
4. 1IN3F-2N5 (87) 22. (90)
5. 1142 (87)
6. A3 o (8T)
7. -2 (88)
8. 11-543 (88)
;{ 9. 3+13 89)
10. N7-N5 (39)
11. -5(1 -N2) . . (89)
12. -3(N3 -NBF)  (89)
13. -12aNb ~ (86)
14. aN15b . - (86)
15. 2aNE (26)
16. —-———“{15 o - (86)
&
7. =2 (86)
T 2 3
o - C-61
s ‘ 310




Acceptable Score %%

(g

UNIT X ‘ TEACHER'S ANSWER KEY PART II
Test B
FIRST YEAY. ALGEBRA

1. AD (67) 19. 2¥eb (86)
2. 4~l-5_ | (87) 20. {49} ©(90)
3. -3N3 | | (87) 21. {19} {90)
4. 1N7T+ 102 (87) 22. & | (90)
5. 6N2 ' (87)
- 6. 29V2z | (87)
‘8. 12-9N2 (88)
Ly 5. 9-NTO (89)
1. V3 + N5 @9
11. 3(N3+1) - (89)
2. M2 NT) g
13, -15cnd B - (86)
14. mn+ 2ln - (86)
15. 2x : (86)
16. R ,\Z’ 1? L (86)
we Se (86) |
18. -_'%»\/_zb, o (86)




lo0.

. 16.

'18.

UNIT X
1. 4,C |
2. 3N6
3. -2N7
4. 3N6 - 342
5. 123
6. 2945
7. 4
8. zz} 10N5
9. N11 + 4 |
N2 - 51"3".
L AT
7
12. -(NZ + N5 )
13’.  -12xNy -
14. m~ 6n
15. 2RN3 .
2
3m
mNZn
‘n

Acceptable Score

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

(87)

(87)
| (87)
(87)
(87)
(87)
(88)
(88}
(89)
(89)

(89) -

(89)
(86)
(86)
(86)

(86)

)

(86)

 ce63

312

20.

2l.

22.

B'Jxx

X

{9}
{58}

22

PART 11
Test C

(86)
(90)

(90)

(5%}




1
' Acceptable Score -5%

UNIT X TEACHER'S ANSWER KEY PART II
Test D
FIRST YEAR ALGEBRA

1. D,E | (87) 19. 5bab (88
2. -4N11 o (87) 20. {100} (90)
3. 6NZ (87) 21. (% (90)
4. -4NT+ 3N (87) 2. & (90)
5, -2NF | (87) |
6. 4545 (8
7. -5 | (88)
| 8. 16 - 7N 5 (8!3')
£ o v7es (89)
| 10. N7Z +W1IT (89)
. NItz (89)
12' IWTT +NZ) (89)
: 9
13.  -lzmNE (86)
14. y.»J 14x | : (86)
15. anN®  (86)
_ cA 21 '
16. 3 | (86) |
17. . o (86)
18, '“‘:aﬁ | }(86). 5
- C-64




Acceptable Score

UNIT X1 TEACHER!'S ANSWER KEY

FIRST YEAR ALGEBRA

1. . Function (92) 19. B

2. {1,2,3,4} (91) 20. 180
3. {o0,1,2} .' (91) 21, {-4,4}
4, B (91) 22. B
5, A -~ (91) 23. C
6. False (92) 24, A
7. D (92) 25. 14
8. C | (92) 26. False
9. False : (92). ‘ 27. -1
10. {-1,3,7 : - (92)

11. {1, 2,3} | ‘ (92) |

12.  y=3x (93)

13. 3 T (93)

1. 2 . (93)

15, 2 (9

6. D (93)

17. € - (93)

18. A - (93)

C-65

27

Test A

(93)
(93)
(93)
(94)
(93)
(93)
(94)
(93)
(94)




UNIT XI
1. First
2. {1,2,3,4)
3. {0,1,4
4. C
5. ¢
6. False
7. C
8. D

\g | 9 False
10. {-1,3,7}
1. {1,2,3}
12. y = 4x
13. 4
w %
15. &
16. ‘cv
17. | B
18. D

Acceptable Score -;-;-

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

(92)
(91)
(91)
(91)
(91)
(92)
(92)
(92)
(92)
(92)
(92)
(93)
(93)

(93)

(93)

(93)

19. A

20. 144
2l. a= t4
22. D

23. A

24. B

25. 20

26. True -
27. -9

(93)

(93)

C-66

315

Test B

(93)
(93)
(93)
(94)
(93)
(93)
(94)
(93)
(94)

»




Acceptable Score }2—3

UNIT X1 TEACHER'S ANSWER KEY Test C

FIRST YEAR ALGEBRA

1. TFunction | (92) 19. C (93)
2. {0,1,2,3} | - (91) 0. 1200 (93)
) 7
3. {o0,1,2} . (91)
21. +4 (93) 4
4. A,B - (91)
. 22. C (94)
5. D . (91)
o 23. B ’ (93)
6. - True (92)
24. D (93)
7. C (92) :
v 25. 21 (94)
8. D . - (92)
g‘* : 26. False (93)
o4 9. TFalse (92) : ‘ ~
- _ 27. -1 (94)
10. {1,7,13} (32)
1. {1,2,3} _ " (92}
12 =1 : : 93)
’ y= Zx . ) ( )
_ 1 . v
13. 5 . (93)
14. 10 | (93)
35 | - - '
S I
16. B o (9)
17. A . R (93)
18. D U (93)
’ C-67

316




’ 3

UNIT XI

1. First

2. {-2,0,1,5}

3. {16,4,1,9} |

& A, C

5. B

6. True

7. D

8. B

9. True

10. {-5,-2,1}
| 1. {-2,0,8)

12. y= -2x

13. -2

14, 28

5. 2
16, D ‘
. . //

17. A -
| 18.

Acczptable Score

TEACHER'S ANSWER KEY

FIRST YEAR ALGEBRA

(92)
(91)
(91)
(91)
(91)
(92)
92)
(92)

(92)

(92)
(92)
(93)
(93)

(93)

(93)

(93)
(93)

(93)

19.
20.
21.
22.
- 23.
24.
25.
26.

- 27.

C
6

. True




i

APPENDIX D
PROFILE SEEET
FOR

A SELF.-PACING PROGRAM IN ALGEBRA

VOLUME 1 4




STURENT PROFILE SHEET

Name of Student: H. R o
Subject: Pd.
SCAT Scores:
I II H III IVH Y
. i"w}- ™
Quarter Grades: | i
b A "
Test No. | Date ’Acceptable | Student Comments Dates of !
Score Score Ahsence
....... | —_— —
|
l
i
: ]
- . )
|
§
|
{
i
i t
f
i
i
|
- e
SR
7
-*-oc—
1
1 1
T M
I |
] \
; J
T |
D-2

i




Q

ERIC

Aruitoxt provided by Eic:

Name of Stuclc‘r{t:

. . S 4~ e a - L M MRS e g i e - At ¢ ST SO o5

Test Mo. : Date ;) scce.webhe  »tuwlent
|

- . i o)
f Score ;| Score
! $

Comments

i Dates of

Absence

s — —

Anecdotal Record:

co
oo
2




APPENDIX E
EVALUATION SHEET
FOR

A SELF-PACING PROGRAM IN ALGEBRA

VOLUME 1




REACTIONS PLEASE

This program will only be as good as you make it. Your

suggestions and criticisms are earnestly sought so that they can be
included in revisions of the program.

VOLUME I

Page Number (if appropriate)

Comment

Send to: Thomas E. Rowan ‘
‘Supervisor of Mathematics

Maryland State Department of Ecducation
600 Wyndhurst Avenue

Baltimore, Maryland 21210
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